CLASSXI
ENGLISH CORE (301)
SAMPLE PAPER- 2024-25

TIME ALLOWED: 3HOURS MAXIMUM MARKS: 80
GENERAL INSTRUCTIONS:

1. This paper comprises 3 sections- Reading Comprehension (26 marks), Writing Skills & Grammar

(23 marks) and Literature (31 marks)

Attempt all questions.

Do not write anything on the question paper.

4. All the answers must be correctly numbered as in the question paper and written in the answer
sheet provided.

5. Ensure that questions of each section are answered together.

Read each section carefully and follow the instructions.

7. Adhereto the word limit wherever prescribed.

Section —A (Reading Skills) (26 Marks)

w N

o

Typology Reading Skills Conceptua understanding, decoding, analysing,
inferring, interpreting, appreciating literary
conventions and vocabulary, summarising and using
appropriate format/s

|. Read the following passage very carefully: (10)

1. In 2019, wildlife conservationists, especially those caring for bears, celebrated a very specia
anniversary — the 10th anniversary of the rescue of the last 'dancing' bear from Indias streets. The sloth
bear named Raju, who was eight years old at the time, was freed from Chikkaharavalli in Karnataka by
Wildlife SOS, an organization dedicated to saving and rehabilitating abused wildlife.

2. This informal roadside entertainment, once rampant on Indian streets, came from a 400-year-old
tradition of man's pursuit of divertissement. But the story behind the performances is far from
pleasurable. Any service derived from animals is made possible only through training practices grounded
in deep cruelty. The bears for instance, would be captured as cubs. Their muzzles would then be pierced
with hot iron rods, and threaded with thick ropes that, when tugged, made the animals jump and prance in
pain.

3. "Elephants in particular are social animals, and do very poorly in isolation," explains conservationist
Puja Mitra. Global studies have long recorded high emotional intelligence in elephants. Extended periods
of isolation from their peers and societies coupled with cruel training practices can induce post-traumatic
stress syndrome (PTSS) in wild elephants similar to humans like abnormal startle responses, depression,
unpredictable social behaviour and aggression. Animals with PTSS require long-term skilled care and
consistent medical aid to recuperate.

4. Provisions in the Prevention of Cruelty to Animals Act, 1960, enforced a ban on using wild and
protected animals — bears, monkeys, panthers, lions, and tigers — for entertainment, such as in circuses.
Sadly, elephants continue to be used in temples, for transportation and labour in the timber and the travel
and tourism industries. Monkeys, eagles, owls and other animals are used by people for occult rituals, or
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as pets, despite the fact that such animals are not suited for domestication or captivity. A 2016 study by
the World Wildlife Fund examining how dolphins responded to human and vehicular presence found that
98 percent of the time the dol phins became highly stressed, and would deep dive to avoid the intrusion.

5. What can an individual do to help mitigate the needless suffering of wild animals? To start with, leave
them alone. Wildlife SOS began the 'Refuse to Ride' campaign, by reaching out to tourists and raising
awareness of the suffering underpinning their holiday fun. Terra Conscious, a social enterprise promotes
sustainable travel through a community-partnership model to transform dolphin-watching, a popular
tourist activity in coastal destinations. The solution to this issue hinges in large part on kindness,
compassion and basic respect for the natural world.

(Source- Reader’ s Digest- Leave the Wild Things Be- By- Swati Sanyal Tarafdar)

[.A) On the basis of your reading the passage, answer the following questions by choosing the best of the
givenoptions: (1x5=5)

i. Choose an option which describes a situation similar to the dol phins which become highly stressed and
deep dive to avoid human vehicular intrusion.

a) Manatees are calm and peaceful and can manage human interaction in their natural habitat.

b) Jumping spiders are fans of cameras, sometimes jumping at the users.

c) Gropers greet snorkellers and follow them around.

d) Thered fox, shies away fromitsdaytime activity, often exhibiting increased nocturnal activity.

ii. The option that best describes the central idea of the passageis-
a) Helping to mitigate needless sufferings of aquatic animals.

b) Boycotting street entertainment involving animals.

¢) Kindness, compassion and basic respect for the natural world.
d) Suggesting long-term care and medical aid for abused wildlife.

iii. The Prevention of Cruelty to Animals Act, 1960 couldn’t protect the elephants. Select an option that
supports this statement.

a) They continue to be used for labour in the timber and the travel and tourism industries.

b) They are captured as cubs and threaded with thick ropes.

c) They are used by people for occult rituals.

d) They are domesticated in captivity.

iv. Statement A:Wild elephants display startle responses, depression and aggression.

Statement R:Extended periods of isolation from their peers coupled with cruel training practices
areresponsible factors.

a) Both A and R aretrue and R is the correct explanation of A.

b) Both A and R are true but R is the incorrect explanation of A.

c) Alistruebut Risfalse.

d) A isfalse but Ristrue.

v. According to the passage, which of the following can be consideredas the reason for animals
beingthreaded with thick ropes and their muzzl es pierced with hot iron rods?

a) Saving and rehabilitating abused animals.

b) Subjecting animals to cruel training practices for entertainment business.

¢) Helping to lessenthe sufferings of animals.

d) Understanding the emotional intelligence of social animals.



[.B) Answer the following questions: (1x5=5)

vi. The Prevention of Cruelty to Animals Act, 1960 is a blessing for the wild and protected animals.
Elaborate.

vii. Inwhat way is the story behind the dancing bears’ performances far from pleasurable?

viii. List two measures to help mitigate the needless suffering of wild animals.

iXx. Comment on the analogy between human and animal responses to post-traumatic stress syndrome.

X. Find aword from paragraph-2which means the same as recreation.

I1. Read the following passage car efully: (8

1. For those who start and end their day with a cup of coffee, the Americano, cappuccino or latte at
Starbucks and Blue Tokai, or any of the other coffee aficionado's haunts in India like Third Wave and
Tim Hortons, tasted just the same last year. But coffee planters in the country were served a bitter brew,
as adip in prices in the international market and factors like erratic weather and lower domestic yields
made it difficult for them to even recover investments.

2. The current hike in coffee prices is driven by a supply shock in Robusta (a species of coffee plant), say
industry insiders, owing to a dry spell in Vietham. The country, along with Brazil, supplies nearly 60
percent of the global coffee production. The hike in Robusta prices has had a direct and welcome impact
on planters in India, where nearly 70 percent of the country's projected coffee production of 374,200
tonnes for 2023-24 was Robusta, according to the Coffee Board of India. The increased prices took many
by surprise. Robusta prices in Karnataka shot up even further, by as much as Rs 2,750- 3,100 per bag
(depending on the processing of the beans). Nobody expected pricesto gallop like this.
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3. India's share in global coffee production was about 3.4 percent in 2021- 22, with the country producing
5.7 million bags (of 60 kg each) compared to the global figure of 167 million bags, shows a July 2023
analysis by the Coffee Board of India. Exports crossed the billion-dollar mark that year, at $1.02 billion.
Currently, India is the world's fifth largest exporter of coffee, with exports of $1.28 hillion in 2023- 24.
The top destinations for Indian coffee include Italy, Germany, Belgium, the Russian Federation, Turkey,
Poland, Jordan, Libya and the US.

4. Planters point out that costs of inputs and labour have been going up even as the weather patterns have
affected yield. Growers need to increase productivity if the industry has to survive. Till then, the coffee
planter can savour the cheer that the current trend of high prices has brought.

(Source- India Today, INDIAN COFFEE BLOSSOMS By- Ajay Sukumaran)
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I1.A) On the basis of your reading the passage, answer the following questions by choosing the best
of the givenoptions: (1x4=4)

i. Select the factor not responsible for coffee plantersin India being served a bitter brew.
a. lower domestic yield

b. erratic weather

c. hikein coffee prices

d. dip in coffee prices

ii. Select the option that conveys the opposite of ‘savour the cheer’ in para-4.
a. endure the gloom

b. bask in the joy

c. revel in the delight

d. relish the moment

iii. Rank the Coffee Kingsin order of their coffee production in the year 2023-24.
a Kerala, Tamil Nadu, Non-Traditional Areas, The Northeast, Karnataka
b. Karnataka, Kerala, Tamil Nadu, Non-Traditional Areas, The Northeast
c. Non-Traditional Areas, The Northeast, Karnataka, Kerala, Tamil Nadu
d. The Northeast, Karnataka, Kerala, Tamil Nadu, Non-Traditional Areas

iv. Statement-A: Robusta prices in Karnataka galloped.
Statement-R: A good yield in Vietnam led to a spike in prices.

a. Both A and R aretrue and R is the correct explanation of A.

b. Both A and R are true but R is NOT the correct explanation of A.

c. Aistruebut Risfase.

d. Aisfalsebut Ristrue.

I1.B) Answer thefollowing questions: (1x4=4)

v. Indids share in global coffee production was about 3.4 percent in 2021- 22. Comment upon the status
of Indiaas an exporter in the year 2023-24.

vi. Along with natural intervention, human factors like and have affected coffee
plantation yield.

vii. The only redeeming factor for the plantersis

viii. Find aword in para-1 which is similar in meaning to ‘ connoisseur'.

[11. Read thefollowing passage car efully: (8)

1. Let’s Dance! It’s good for your body, soul and even your brain. Evidence shows that dancing can boost
brain health and help manage symptoms of neurocognitive and movement disorders, including
Parkinson's, multiple sclerosis (MS), Alzheimer's, dementia and brain injury. A 2021 York University
study showed that weekly dance training that targets balance, coordination, flexibility, creativity and
memory work can improve Parkinson's symptoms.

2. What is it about dance that's different from a brisk walk or other aerobic exercises? Helena Blumen, a
cognitive scientist says, the intricate mental multitasking that dance requires engages various parts of the
brain at the same time, which can lead to the strengthening of neural connections across different regions.
Basically, dancing requires more brain power than simpler repetitive exercises.

3. The effect extends beyond dance class to the real world. Studies have shown the benefits of dance for
people with conditions ranging from MS and Huntington's disease to autism and depression. Dance



therapy might even help people with brain injuries. People with severe traumatic brain injury showed that
dance-based rehabilitation might improve mobility, cognition and overall well-being.

4. In addition to the physical and neurological benefits, dance can also help people accept what their
bodies can and can't do, making it easier to live with the diseases they have. Dancing with others makes
people feel less different, and it helps combat the loneliness and isolation of living with a chronic illness.
The ultimate aim is that people feel joyful, get more involved in their community and explore the
limitless possibilities.

(Source- Reader’ s Digest- Let’s Dance! By- Claire Sibonney)

[I1.A On the basis of your reading of the above passage, make notes using headings and sub-
headings. Use recognisable abbreviations wherever necessary. Suggest a suitable title for the

passage. (5)
[11.B Write a summary of the above passage in not more than 50 words using the notes made by
you. Q)
SECTION —B (GRAMMAR & CREATIVE WRITING SKILLYS) (23 Marks)
Typology Grammar & Creative Writing | Conceptua understanding, application of rules,
Skills analysis, reasoning, appropriacy of style and tone,

using appropriate format and fluency, inference,
evaluation and creativity

IV.GRAMMAR

(i) Fill in the blanks using the correct form of the words given in the brackets. Attempt ANY
FOUR. (1X4=4 marks)
In 1984, Swiss couple Emil and Liliana @) (would climb/ climbed/ had climbed/ were climbing)
into their bright blue Toyota Land Cruiser and b) ( would begin/ had begun/ were beginning/
began)the world's longest road trip, which c) (continues/ continued/ had been continuing/ will
continue) to this day. In forty years, they d) (would travel/ travelled/ had travelled/ have
travelled) more than 7.41 lakh kilometres across 186 countries. Now in their 80s, the couple is currently
on the road to Africaand e) (holdg/ are holding/ will hold/will be holding) the Guinness World

Record for the longest driven journey.
(if) Transform the following sentences as per the instructions given below: (1X3=3 marks)

a) They considered me arebel. (Change the voice)

b) “I didn't eat breakfast”, said Reena. (Change to reported speech)

¢) | have not been well, (return, picnic) (Fill in the blank with an appropriate adverb clause
using words in the bracket)

V.CREATIVE WRITING SKILLS
(i).Attempt ANY ONE of the two, in about 50 wor ds. 3

A. You are Neelanjana Mehta of 74, Jubilee Hills, Hyderabad. Y ou run a PG accommodation for girls.
Draft an advertisement in not more than 50 words for publication in The Indian Express under TO LET
column. Include relevant details like location, type of accommodation, facilities, rent etc.

OR




B. Indian restaurant industry is driven by the growing eating out factor. This calls for quick services,
variety in cuisine and value for money. Restaurants and eat outs are gearing for a massive expansion in
seating capacity for the consumers. Being in the same business, you wish to open an eating point in DDA
market, VikasPuri. Draft an advertissment in 50 words for publication in The Hindustan Times for
purchase of a small space (10 ft x 12 ft) in the market under the Classified Column ‘ Property’.

(if).Attempt ANY ONE of the two, in about 50 wor ds. 3

A. According to a UNICEF study, at least 36% Indian students are subject to harassment and bullying in
school campuses. That's slightly higher than what UNICEF says is the global average. Children are
subjected to name-calling, shaming, exclusion, online trolling, and even physical harm. There’'s an
immeasurable emotional and psychological toll on children, leading to anxiety and depression. Design a
poster in 50 words expressing concern over the serious issue of bullying and its consequences.

OR

B. As per an article by Dabur Arogya, over the last few decades, there has been an upsurge in the
prevalence of yoga. Medica professionals and celebrities are also adopting and recommending the
regular practice of yoga due to its various benefits. Design a poster in 50 words highlighting the benefits
of practising Yogain our daily lives.

(iii). Attempt ANY ONE of the two, in about 120-150 words. (5)

A. The year 2024 marks the 25th anniversary of the United Nations General Assembly’s adoption of the
‘Declaration and Programme of Action on a Culture of Peace'. As the Head Girl/Boy of your schooal,
write a speech in about 120-150 words on the topic ‘World Peace: A Collective Responsibility’
highlighting the importance of individual and collective efforts in achieving and maintaining peace.
Develop on the hints given below.

Rising geopolitical tensions causing havoc

Wars lead to human suffering, displacement, economic loss.

Need for successful peace building initiatives

Collective action needed — international cooperation, diplomacy, education, cultural exchange
Need for disarmament and arms control

OR

B. Energy is at the heart of the climate challenge and a key to the solution. As Amita/Amit, the President
of the Environment Club of your school, write a speech in about 120-150 words on the topic
‘Accelerating the transition to clean energy is the pathway to a healthy and livable life.” You may take
help from inputs given below.

e Fossil fuelsare the largest contributors to global climate change.

e Current energy crisis has a great impact on the environment.

e Urgent need to end our reliance on fossi| fuels and invest in alternative sources of energy that are
clean, accessible, affordable, sustainable and reliable.

e Renewable energy sources (solar, wind, hydro) to be explored.

e Collective action — policy changes, community initiatives




(iv). Attempt ANY ONE of the two, in about 120-150 words. (5)

A.While man's exploration of Space has opened up a universe of unlimited possibilities, it has also
sparked a lively debate on Earth about the necessity and value of Space exploration.With issues like
poverty, social injustices, climate change and other pressing concerns looming large in the present times,
it may seem like exploring space is a misuse of our funding. While it is important to address these issues,
solving these problems doesn't depend on defunding space programs. Write a debate in about 120-150
words either in favour or against the topic: ‘ Space exploration is a waste of money.” You may develop
your case on the inputs given below.

Favour-
e Space exploration is costly, harsh and perilous.
e It givesusno direct benefit.
e Billions spent on running space stations can be used in the development of civilizations.
e Rather than exploring life on other planets, it would be better to make efforts to improve life on
Earth.
Against-
e Scientific knowledge has value beyond the measurements of cost.
e Satellites and other space advancements have greatly benefited human life.
e Man must cater to his curiosity for constant devel opment.
e |tisimportant to know who we are and where we are in terms of the universe.

OR

B. Good academic achievement allows students to enhance and develop essential skills required for a
successful life. But every person has a different vision for success in life. Can academic excellence alone
define success. Write a debate in about 120-150 words either in favour or against the topic, ‘Academic
excellence is the only requirement for a successful career.” You may take help from the following inputs.

Favour-
e Excellent academic performance enhances the student |earning landscape.
e It opens up gateways to various great opportunities in numerous sectors and organisations with
good pay scales.
e Scoring well in an examination can help you get into your desired college or university.
Good academic performance boosts self-esteem and confidence in students.
e Students get to develop important life skills such as leadership, time management, effective
communication, logical thinking, problem-solving, and many more

Against-

Every person has a different vision of successin life.

Along with academics, having co-curricular knowledge and extra skills are required too.
Success not only depends on student's calibre and potential but also determination.
Severa celebrities have a successful career without a sound academic background.
One's attitude and willingness bring successin life.

SECTION —C (LITERATURE) (31 Marks)

Typology Literature Recalling, reasoning, appreciating literary
conventions, inference, analysis, creativity with
fluency and critical thinking




V1. Referenceto the Context
(i) Read the given extract car efully and answer the questions that follow: (1x3=3 marks)

A. Silence surrounds us. | would have
Him prodigal, returning to
Hisfather’s house, the home he knew,
Rather than see him make and move
Hisworld. | would forgive him too,
Shaping from sorrow a new love

i. Identify the poetic device used in line-2 of the given extract.

a Alliteration

b. Allusion

c. Transferred Epithet

d. Personification

ii. Explain the purpose of the speaker wishing for the prodigal to return to his father's house.

iii. The phrase “ Silence surrounds us’ refersto

OR

B. And forever, by day and night, | give back life to my
own origin,
And make pure and beautify it;
(For song, issuing from its birth-place, after fulfilment,
wandering
Reck’d or unreck’d, duly with love returns.)

i. Identify the poetic device used in ‘I give back life....’

a Metaphor

b. Simile

c. Personification
d. Alliteration

ii. The phrase “ make pure and beautify it” can be interpreted as .
iii. The stanza compares the journey of a song to that of rain. Highlight any one point of this comparison.

(i) Read the given extract car efully and answer the questionsthat follow: (1x3=3 marks)

A. Water, Water, Everywhere. | could feel that the ship had water below, but | dared not abandon the
wheel to investigate. Suddenly, the front hatch was thrown open and Mary appeared. “We're sinking!”
she screamed. “ The decks are smashed; we're full of water.” “ Take the wheel”, | shouted as | scrambled
for the hatch. Larry and Herb were pumping like madmen. Broken timbers hung at crazy angles, the
whole starboard side bulged inwards; clothes, crockery, charts, tins and toys sloshed about in deep water.

i. How does the tone in the description “Broken timbers hung at crazy angles’ affect the reader’ s view of
the situation?

a) It lessens the perceived severity of the damage

b) It highlights the chaotic and dire condition of the ship



c) It gives a humorous impression of the situation
d) It impliesthat the ship is being managed well

ii. The assertion “We'resinking!” is based on the reasoning that:

a) The speaker was occupied with steering the ship

b) Larry and Herb were actively trying to pump out water

¢) The ship's structure was severely damaged and taking on water

d) The ship's progress was significantly slowed down due to flooding

iii. The speaker's decision to not abandon the wheel suggests that they prioritised over
checking the damage below.

a) Steering the ship to avert further damage

b) Investigating the flooding

¢) Communicating with the crew

d) Observing the surroundings

OR

B. The town had a couple of rudimentary general stores selling Chinese cigarettes, soap and other basic
provisions, as well as the usual strings of prayer flags. In front of one, men gathered in the afternoon for a
game of pool, the battered table looking supremely incongruous in the open air, while nearby women
washed their long hair in the icy water of a narrow brook that babbled down past my guest house.
Darchen felt relaxed and unhurried but, for me, it came with a significant drawback. There were no
pilgrims.

i. The phrase “the battered table |ooking supremely incongruous in the open air” suggests that
a) The table was new and out of place

b) The table appeared strange and out of place

c) The tablefit perfectly in the environment

d) The table was hardly noticeable in the surroundings

ii. The assertion “Darchen felt relaxed and unhurried” is based on the reasoning that
a) There were many fast-paced activitiesin the town

b) The town had a busy and bustling atmosphere

¢) The town had a laid-back and leisurely pace

d) The town was crowded with tourists

iii. The town’s genera stores selling Chinese cigarettes, soap, and other basic provisionsindicatea
nature.

a) Modern and well-stocked

b) Basic and unpretentious

¢) Luxurious and abundant

d) Diverse and exotic

(iif) Read the given extract car efully and answer the questions that follow: (Ix4=4 marks)

A. ‘Won't you sit down? asked the girl. She held open the door of the living-room and | went inside past
her. | stopped, horrified. | wasin aroom | knew and did not know. | found myself in the midst of things |
did want to see again but which oppressed me in the strange atmosphere. Or because of the tastel ess way
everything was arranged, because of the ugly furniture or the muggy smell that hung there, | don’t know;
but | scarcely dared to look around me. The girl moved achair. | sat down and stared at the woollen table-
cloth. | rubbed it. My fingers grew warm from rubbing. | followed the lines of the pattern. Somewhere on
the edge there should be a burn mark that had never been repaired.



i) The tone of the passage can best be described as:
a) Cheerful

b) Reflective

c) Distressing

d) Apathetic

ii) Identify the specific detail on the table-cloth that the speaker recalls and its significance.

iii) Statement-A: The speaker felt amixture of familiarity and alienation in the room.
Statement-R: The oppressive atmosphere and tastel ess arrangement contributed to the speaker's
discomfort.
a) Both A and R are true and R is the correct explanation of A
b) Both A and R are true but R is the incorrect explanation of A
c) Aistruebut Risfalse
d) A isfalse but Ristrue

iv) Find aword from the extract which conveys a meaning similar to ‘ subdued’
OR

B. CYRIL: Now you shouldn’t have told him that, Mum.
That’s not fair. Y ou’'ve hurt hisfeelings. Mine, too.
MRS PEARSON: Sometimes it does people good to have their feelings hurt.
The truth oughtn’t to hurt anybody for long.
If your father didn’t go to the club so often,
perhaps they’ d stop laughing at him.
CYRIL: [gloomily] | doubt it.

i. Based on the extract, draw an inference about the relationship dynamics in the family.

ii. Statement A: Mrs. Pearson believes that facing the truth can be beneficia in the long run.
Statement R: She thinks avoiding the truth leads to more harm.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is NOT the correct explanation of A.

c) Both A and R arefalse.

d) Aistruebut Risfalse.

iii. The tone of Mrs. Pearson’s remark, “The truth oughtn’t to hurt anybody for long,” suggests:
a) Cynicism

b) Straightforward

C) Sarcasm

d) Pessimism

iv. State the ‘truth’ that Mrs. Pearson refers to in the above extract.

VII. Answer thefollowing questionsin about 40-50 wor ds each: (2X3=6marks)

a. Comment on how the poet uses the imagery of the laburnum tree to convey the theme of transformation
and renewal in ‘The Laburnum Top'.
OR

Analyse how the poet's realization about the difference between appearance and reality contributes to the
theme of growing up in ‘Childhood'.
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b)Evaluate the role of Howard Carter in the discovery and initial examination of King Tut’s tomb.
OR

Discuss the experiences of Professor Gaitonde that made him realise his transition intothe
paralleluniverse. (The Adventure)

VIII. Answer ANY ONE of the following question in about 40-50 wor ds: (1x3=3 marks)

a)Examine Aram'’s conflicting emotions on encountering Mourad with the horse and how this incident
reflects the values of the Garoghlanian family. (The Summer of the Beautiful White Horse)

OR

b)Analyze George's initial response to Mrs. Pearson's transformation and what it reveals about his
personality. (Mother’s Day)

IX. Answer ANY ONEof the following question in about 120-150 wor ds: (1x6=6 marks)
a)"“ Acceptance and resilience are the hallmarks of a strong character.” Discuss with reference to the
grandmother in ‘The Portrait of a Lady’, highlighting how she adapted to changes and maintained her
dignity throughout her life.

OR

b)“ The sea holiday was her past, mine is her laughter.” Discuss the significance of the photograph in the
poem, ‘A photograph’ and how it serves as a bridge between the past and the present for the speaker.

X. Answer ANY ONE of the following question in about 120-150 wor ds: (1x6=6 marks)

a) "A melon has been crowned." Explore the role of the public in ‘The Tale of Melon City’ and discuss
how the citizens' decisions and reactions drive the plot and its conclusion.

OR

b)Examine the dynamics between Dr. Andrew Manson and the Morgan family during the birth crisis.
How do specific incidents illustrate the devel opment of trust and emotional bonds between them?
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Note:

ENGLISH CORE
Marking Scheme and Hintsto Solutions

1. The marking scheme provides suggested value points and not the complete answers.
2. Any other relevant answer not given herein but given by the candidate be also suitably rewarded.

Q.No. | Value PointsKey Marks Total
alotted to Marks
each value
point/Key
point

SECTION-A (READING SKILLS) (26 MARKYS)
A. i.d) Thered fox, shies away from its daytime activity, often 1 5
exhibiting increased nocturnal activity.
ii. ¢) Kindness, compassion and basic respect for the natural world. 1
iii. @ They continue to be used for labour in the timber and the travel 1
and tourism industries.
iv. @) Both A and R are true and R is the correct explanation of A. 1
v. b) Subjecting animals to cruel training practicesfor entertainment 1
business.
B. vi. It enforced a ban on using wild and protected animals-bears, 1 5
monkeys, panthers, lions, and tigersfor entertanment, such as in
Circuses.
vii. Any service derived from such animals is made possible only 1
through training practices grounded in deep cruelty/ Their muzzles are
pierced with hot iron rods and threaded with thick ropes that, when
tugged, make the animals jump and prance in pain. (Any one)
viii. Reaching out to tourists and raising awareness of the suffering 1
underpinning their holiday fun/Promoting sustainable travel through a
community-partnership model.
iX. Extended periods of isolation from their peers and societies coupled 1
with cruel training practices can induce post-traumatic stress syndrome
(PTSS) in wild eélephants similar to humans like abnorma startle
responses, depression, unpredictable socia behaviour and aggression.
X. divertissement 1
. A. 1. c. hikein coffee prices 1 4
ii. a endure the gloom 1
iii. b. Karnataka, Kerala, Tamil Nadu, Non-Traditional Areas, The 1
Northeast
iv.c. Aistruebut Risfase. 1
B. v. Indiaisthe world'sfifth largest exporter of coffee, with exports 1 4
of $1.28 billion in 2023- 24.
vi. Cost of inputs and labour 1
vii. To increase productivity 1
viii. aficionado 1
(A) Note Making 5
Title- Soulful Steps/ Groove to Heal/ Dance and Wellness 1

(Any other suitable title)




Numbering and indenting
Key/glossary

Notes/Content

Advantages of dancing
0 boosts health
0 manages symptoms of
= neurocognitive
=  movement disorders

- Therapeutic effects of dancing
0 Park. Disease
o MS
0 Alzheimer
0 Dementia& braininjury

- Weekly dance training helps
0 regain balance & coordination
o flexibility
0 credtivity & memory
= improves Park.

- Dance v/s brisk walk/aerobic exercises
o Dancerequires
= |ntricate mental multitasking
= engt of various parts of brain
0 strengthens & improves
= NC
=  Mobility

- tveeffects of dancing
0 Improvesreal world behaviour
= Acceptance of their bodies
= Ableto combat loneliness
o Ultimateam
= Happiness of ppl.
= |nvolvement in comm.

Key to Abbreviations:
- Parkinson — Park.
- Neura connections—NC
- Engagement — Engt
- Community — Comm.
- People—Ppl.

(B) Summary:

The summary should include all the important points given in the
notes.

Content

Expression
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SECTION —B (GRAMMAR & CREATIVE WRITING SKILLS)
(23 Marks)

- climbed

- began

- continues

- havetravelled

- holds
(Attempt any four)

i)
- | was considered arebel (by them).
- Reenasaid that she had not eaten breakfast.

- | have not been well since | returned from the picnic.
i) Advertisement (Classified)

A. Format:

The format should include: Box, Heading, Contact details
Content

Expression

Value Points:

Heading- TOLET

- Mention type of accommodeation (PG)
- Mention location

- Ligtfacilities

- Specify rent

- State preferences (if any)

- Mention contact details

- Any other relevant detail

OR
B. Format:
The format should include: Box, Heading, Contact details
Content
Expression
Value Points:

Heading- PROPERTY

- Mention type of property (plot)
- Provide estimated size

- Givelocation preferences

- Specify budget

- Mention contact details

- Any other relevant detail

i) Poster

[N N
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A. Format:
The format should include: Box, Heading/s, details of issuing authority
Content

Expression
Value points:
- Reevant anti - bullying dogan
- Physical and psychologica impacts of bullying
- Stepsto combat the issue
- lustration
- Issuing authority
- Any other relevant detail
OR
B. Format:

The format should include: Box, Heading/s, details of issuing authority
Content

Expression
Value points:
- Relevant dogan highlighting benefits of Y oga
- Hedlth benefits (physical & mental/psychological)
- llustration
- Issuing authority
- Any other relevant detall
iii) Speech
A. Format- salutation, introduction of self and topic
Content
Expression
- Grammatical accuracy, appropriate words, spellings
- Coherence and relevance of ideas and style.
Value points:

- Rising geopolitical tensions causing havoc

- Wars lead to human suffering, displacement, economic
loss.

- Need for successful peace building initiatives

- Collective action needed - international cooperation,
diplomacy, education, cultural exchange

- Need for disarmament and arms control

- Any other relevant point

B. Format- salutation, introduction of self and topic

Content

Expression
- Grammatical accuracy, appropriate words, spellings
- Coherence and relevance of ideas and style.

Value points:

[ —
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- Fossil fuels are the largest contributorsto global climate
change.

- Current energy crisis has a great impact on the
environment.

- Urgent need to end our reliance on fossi| fuels and
invest in aternative sources of energy that are clean,
accessible, affordable, sustainable and reliable.

- Renewable energy sources (solar, wind, hydro) to be
explored.

- Collective action - policy changes, community
initiatives

- Any other relevant point

iv) Debate

A. Format- salutation, specification whether in favour or against,
introduction of self and topic

Content
Expression
- Grammatical accuracy, appropriate words, spellings
- Coherence and relevance of ideas and style.
Value points:
Favour-
- Space exploration is costly, harsh and perilous.
- It givesus no direct benefit.
- Billions spent on running space stations can be used in
the development of civilizations.
- Rather than exploring life on other planets, it would be
better to make efforts to improve life on Earth.
- Any other relevant point
Against-

- Scientific knowledge has vaue beyond the
measurements of cost.

- Satellites and other space advancements have greatly
benefited human life.

- Man must cater to his curiosity for constant
development.

- It isimportant to know who we are and where we are in
terms of the universe.

- Any other relevant point

OR

B. Format- salutation, specification whether in favour or against,
introduction of self and topic
Content
Expression
- Grammatical accuracy, appropriate words, spellings
- Coherence and relevance of ideas and style.
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V1.

Value points:

FAVOUR

- Excdlent academic performance enhances the student
learning landscape.

- It opens up gateways to various opportunities in
numerous sectors and organisations with good pay
scales.

- Scoring well in an examination can help students get
into desired college or university.

- Good academic performance boosts self-esteem and
confidence in students.

- Students get to develop important life skills such as
leadership, time management, effective communication,
logical thinking, problem-solving, and many more.

- Any other relevant point

AGAINST

- Every person has adifferent vision of successin life.

- Along with academics, co-curricular knowledge and
extra skills are required.

- Success not only depends on student's calibre and
potential but also determination.

- Severd celebrities have a successful career without a
sound academic background.

- One's attitude and willingness bring successin life.

- Any other relevant point

SECTION C (LITERATURE) (31 Marks)

Reference to the Context
(i)
A.i.b. Alluson

ii. The speaker wishes for the prodigal to return to his father's house to
reconnect with his roots and find forgiveness and acceptance, rather
than venturing into the unknown and creating his own world

iii. Void/indifference in relationship/lack of communication

OR
B. i. c. Personification
ii. The act of cleansing and enhancing the origin
iii. Just asrain originates from clouds, fallsto the earth, and eventually
returns to the atmosphere in acycle, the song originates from its
birthplace, fulfillsits purpose by wandering, and then returns to its
origin with love in the form of appreciation, completing its cyclic
journey.

(ii)
A. i. b) It highlights the chaotic and dire condition of the ship

ii. ¢) The ship's structure was severely damaged and taking on water
iii. @ Steering the ship to avert further damage

OR

[ —
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VII.

B. i. b) The table appeared strange and out of place
ii. ¢) Thetown had alaid-back and leisurely pace
iii. b) Basic and unpretentious

(iii)
A.i. c¢) Distressing
ii. The speaker recalls a burn mark on the edge of the table-cloth. This
detail is significant as it symbolises an unresolved past or alingering
memory.
iii. @ Both A and R aretrue and R is the correct explanation of A.
iv. oppressed
OR

B. i. The extract suggests that the family relationship dynamics are
strained and involve alack of effective communication and mutual
respect.

ii. (8) Both A and R are true and R is the correct explanation of A

iii. (b) Straightforward

iv. Mrs. Pearson refersto the truth that Cyril’ sfather’ s frequent visits
to the club make him alaughing stock.

Answer the following questions in about 40-50 words each:

a)
- laburnum treeinitialy silent and still
- represents/symbolises dormancy.
- arriva of the goldfinch brings energy and
transformation
- treetransformsinto alively and dynamic entity
- theme of renewal and cyclical nature of life emphasized.
- (Any two relevant points)

OR

- complexity and ambiguity of adult life compared to the
simplicity of childhood.

- hypocrisy/pretentiousness of adults observed by the
child

- realization of moral ambiguities

- (Any two relevant points)

b)

- discovered King Tut's tomb in 1922- significant
archaeological finding

- meticulous documentation and examination of tomb's
contents

- provided invaluable information about ancient
Egyptian burial practices and artifacts

- (Any two relevant points)

OR

- notices significant historical differences

[

[ —
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[

Content-2
Expression- 1

Content-2
Expression- 1
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VIII.

experience in Jijamata Express

carriages carried letters GBMR/Union Jack
imposing building of East India House Headquarters
prominent British banks and stores on Hornby Road
(Any two relevant points)

Answer the following questions in about 40-50 words each:

a)

b)

Aram feels both excitement and fear

struggles between the temptation to ride the horse and
the disbelief that Mourad could have stolen it.

internal conflict underscores the Garoghlanian family's
deep-seated values of honesty and integrity

11 centuries reputation of being honest and trustworthy
findsit hard to reconcile with the situation.

(Any two relevant points)

OR

shocked to see his wife smoking and drinking

admits he doesn't like changes/surprises

unhappy that histeawasn't prepared which he didn't even
want

hurt by the revelation that hisfriends at the club mock him
behind his back

appears to be a pompous and chauvinistic man

(Any two relevant points)

Answer the following question in about 120-150 wor ds:

a)

b)

gracefully adapts to the changesin her life

shifted from the village to the city

accepted the changes without complaints - started
feeding sparrows

dealt with the seclusion- when grandson shifted abroad
unwavering faith and daily routine, reflects her strength
maintained her dignity and found solace in her
spirituality.

(Any three relevant points)

OR

Visua connection: The photograph provides avisual
link to the past, allowing the poet to connect with her
mother who is no longer aive.

Memory trigger: The photograph triggers memories of
the past, allowing the poet to recall moments and
emotions associated with her mother.

Emotional connection: It evokes emotions and

Expression- 1

Content-2
Expression- 1

Content-2
Expression- 1

Content-3
Expression- 3

Content-3
Expression- 3

1x3=3

1x6=6




sentiments, creating a sense of continuity betwee past
and present.

Nostalgia: It evokes nostalgia, a bitter-sweet longing for
the past, which bridges the gap between then and now.
(Any three relevant points)

Answer the following question in about 120-150 wor ds:

a)

b)

demand justice for the accident caused by the archway,
prompting a series of absurd legal proceedings.
passive acceptance of the king's arbitrary rulings, even
leading to his own execution, shows their reliance on
authority.

compliance is highlighted when they agree to crown a
melon as their new ruler, fulfilling the king's decree.
decision reflects their desire for peace over rationa
governance (Laissez Faire)

satirical representation of passive citizenship and the
absurdity of blindly following orders without critical
thought.

(Any three relevant points)

OR

Initialy, the Morgans were anxious and desperate
unwavering efforts and calm reassurances foster a
deeper trust.

specific events such astireless attempts at resuscitating
the baby and his empathetic support for Susan Morgan,
illustrate the development of emotional bonds
professionalism and composure under intense pressure
strengthened the Morgan family's confidence in his
abilities.

baby came to life solidifying trust and gratitude

critical role of empathy, dedication, and competence
(Any three relevant points)

Content-3
Expression- 3

Content-3
Expression- 3
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CLASS: XI
SESSION: 2024-25
DAV SAMPLE QUESTION PAPER
SUBJECT: PHYSICS (THEORY)
Maximum Marks: 70 Time Allowed: 3 hours.
General Instructions:
(1) There are 33 questions in all. All questions are compulsory.

(2) This question paper has five sections: Section A, Section B, Section C, Section D and Section E. All
the sections are compulsory.

(3) Section A contains sixteen questions, twelve MCQ and four Assertion Reasoning based of 1 mark
each, Section B contains five questions of two marks each, Section C contains seven questions of
three marks each, Section D contains two case study based questions of four marks each and Section
E contains three long answer questions of five marks each.

(4) There is no overall choice. However, an internal choice has been provided in one question in
Section B, one question in Section C, one question in each CBQ in Section D and all three questions in
Section E. You have to attempt only one of the choices in such questions.

(5) Use of calculator is not allowed.
SECTION A

1. The number of significant figures in 6.8000kg is

(@) 2

(b) 3

(c) 4

(d) 5

2. Astudent plots the graphs related to motion of four objects as given in figures. Which figure/
figures cannot possible represent one dimensional motion?

& EGdanGi

(a) Figure a only
(b) Figure b only
(c) Figure d only
(d) Figures (a), (b) and (c)
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3. Study the following statements (For a particle moving along straight line)
(i) Fmay bealongv
(i) F may be opposite v
(iii) F may be normal tov
(iv) Fmay be at an angletov

Force is parallel to acceleration in

(a) (i) and (ii) only
(b) (i),(ii) and (iii) only
(c) (ii) and (iv) only
(d) (i), (ii),(iii) and (iv)

4. Which of the following equations does not represent the position of an object moving in a
plane with a non-zero constant acceleration?
(@) n=1.0tH+3t4
(b) ry=(5.0+3.0t)i+ 5 ]
() r3=5t]
(d) ry=3.0t%-41t%]

5. Aball of 1 kg is projected under gravity from origin in x-y plane with a velocity v= (307+40j)
m/s. The power delivered to the ball by the gravitational force at t=7s is (g= 10m/s?)
(a) +400W
(b) -400W
(c) -300W
(d) +300W

6. The moment of inertia of a solid sphere of radius (R) and mass (M) about its diameter is
(a) MR’/4
(b) 2MR?/5
(c) MR%/2
(d) MR?

7. Two satellites S;and S, are orbiting at a distance of 2R and 3R from the centre of the Earth,
where R is the radius of the Earth. If the time period of their revolution are T;and
T,respectively, then (T./T,)*3is

(a) 4/3
(b) 3/4
(c) 2/3
(d) 3/2
8. A source supplies heat to a system at the rate of 200 J/s. The system performs work at the
rate of 80J/s. The internal energy of the system increases at the rate of
(a) 801J/s
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(b) 120/s

(c) 2001/s
(d) 2801J/s

9. Figures A, B and C show study of flow of a non-viscous liquid. The correct figure is
(A) (B) (C)

(a) Aonly
(b) Bonly
(c) Conly
(d) Band Cboth

10. The graph shows variation of radiation energy emitted per unit area per unit wavelength by
three black bodies at absolute temperaturesT;, T,and Ts. The relation between T;, T,and Ts.
Is

E, :
{ 1 T3
T,
//:’;\‘/Tl
A A A A

mz mp my

(a) T1>T,>T;
(b) T1<T<Ts
(c) T1>T,<T;
(d) T1<T,>T;

11. The displacement of a particle oscillating in simple harmonic motion is given by
X=5V2 sin (28t+E/4)m
The speed of the body at t=1s

(a) 2Bm/s
(b) 58m/s
(c) 8@m/s
(d) 10@ m/s

12. Atravelling wave is represented by

Y(x,t) = a sin(kx-wt)
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Is incident on a rigid boundary. Which of the following equations represents the reflected wave from
the rigid boundary

(a) Yi(x,t) =asin (kx+wt)

(b) Ya(x,t) =-a sin (kx - wt)
(c) Ys(x,t) =asin (kx -wt)
(d) Ya(x,t) =-asin (kx+wt)

For Questions 13 to 16, two statements are given- one labelled assertion (A) and other labelled
reason (R). Select the correct answer to these questions from the options as given below.

a) If both assertion and reason are true and reason is correct explanation of assertion.

b) If both assertion and reason are true and reason is not the correct explanation of
assertion.

c) If assertion is true but reason is false.

d) If both assertion and reason are false.

13. Assertion (A):Two bodies at different temperatures T;and T,, when brought in thermal contact
do not necessarily settle to same temperature (T,+T,)/2

Reason (R):Two bodies may have different thermal capacities

14. Assertion (A):The speed of sound in a gas is not affected by change in pressure at constant
temperature

Reason (R):The speed of sound in gas is given as v=,/(YP /p)

15. Assertion (A):In case (b) and (c) both springs possess same potential energy

- : Fo= )
{H} Jc'=|.']

7 =

L ELLE LT REL LA

x=10|

|——F_1s negative

| X is positive
(b) 7 ¥E

|
CEECELTTETENEEEEL X

I—JI.'-'H
F’——J F_ is positive
’ ! | XS negative
AT TETTTELL ST EN AT TTFT &
x=10

Reason (R):Work done against restoring force is stored as Potential energy
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16. Assertion (A):Amrit Singh , world renowned cyclist is always seen bending inwards while
negotiating a curve during a race which won him many laurels

Reason (R):By bending , he lowers his centre of gravity

SECTION-B

17. The rate of flow (V) of a liquid through a pipe of radius ‘r’ under a pressure gradient%

4
is given by the formula V = % ,where n is the coefficient of viscosity. Check the dimensional

correctness of the above relation.

18. A block of mass m kg, initially at rest, breaks into two parts of masses in the ratio 2:3. The
velocity of smaller part is (87 + 6f) m/s. Find the velocity of the bigger part.

19. An object projected under gravity is found to have the same range ‘R’ for two angles of
projection. If t; and t;, be the time of flight in the two cases, then find the relation between ¢, t, and
R.

OR

The sum and the difference of two vectors A&B are perpendicular to each other. Prove that the
vectors are equal in magnitude.

20. Two rods A and B made of different materials are of equal length L. Each rod has the ends at
temperature T;and T, where T;>T,. Find the condition that will ensure equal rates of flow of heat
through the rods A and B.

21. A Capillary tube of diameter 2 mm is dipped in water in a beaker to a depth so that the pressure
at the lower end of tube is 1.0 x 10° Pa. Calculate the pressure in the tube in order to blow a
hemispherical bubble at its end in water. The surface tension of water at temperature of the
experiments is 7.30 x 1072 N/m.

SECTION -C
22. Justify the following statements:
(a) In a sound wave, a displacement node is a pressure anti- node and vice-versa

(b) A violin-note and sitar-note may have the same frequency, yet we can distinguish between the
two notes

(c) Solids can support both longitudinal and transverse waves but in gases only longitudinal waves
can propagate in gases.

23. An insect trapped in a circular groove of radius 10cm moves along the groove of radius 10cm
moves along the groove steadily and completes 7 revolutions in 44s.

(a) What is the angular speed of insect’s motion?
(b) Is the acceleration vector a constant vector?

(c) Calculate the magnitude of acceleration.
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24. In plotting strain-stress graph for two material P and Q, a student by mistake puts strain on y-axis
and stress on x-axis as shown in figure. Answer the following questions based on the given graph

Swaan

r

e

Slrean ——&

(a) Which material amongst the two is more ductile? Justify
(b) Young’s modulus of which of the two material is higher? Explain
(c) Which of the two given material has higher tensile strength? Explain

25. State Kepler’s law of area for planetary motion. Show that it is the consequence of law of
conservation of angular momentum

26.A bob A of a pendulum of length 2m is released from 30° to the vertical hits another bob B of
same mass at rest on a table as shown in figure. How high does the bob A rise after collision?
Justify. Calculate the velocity with which the bob B moves after collision? Neglect the size of the
bobs and assume the collision to be elastic.

o

e M, i e T

27. Torques of equal magnitude are applied to a hollow cylinder and a solid sphere both having
the same mass and radius. Thecylinder is rotating about its axis and sphere is rotating about its
diameter passing through centre. Find the ratio of the angular speed of cylinder to that of solid
sphere after a given time.

28. Two bodies A and B of masses 5kg and 10kg in contact with each other rest on a table against
a rigid wall as shown in figure. The coefficient of friction between the bodies and the table is
0.15. A force of 200N is applied horizontally to A. What is (a) the reaction of partition (b) the
action-reaction forces between A and B? What happens when the wall is removed?
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OR

The following figure shows the position-time graph of a particle of mass 8kg. What is the

x(m)4

(a) Force on a particle for t<0, t>6 , 0<t<6 s?
(b) Impulse at t=0 and t=6s (considering 1-d motion only.)

SECTION D
Case Study Based Questions
29.Read the following paragraph and answer the questions that follow.

The moment of a force also referred as Torque, is a rotational analogue of the force in linear
motion.The quantity angular momentum is the rotational analogue of linear momentum. Like the
moment of force , angular momentum is also a vector product . It could also be referred to as
moment of momentum. From this term one could guess how angular momentum is defined.

(i) A force F= Fyj is acting on a particle moving in x-y plane. The torque acting on the particle
when it is at r= xoi +yof will be
(a) xofok
(b) -xofo k
(c) xofo]
(d) ~xofo]

(ii) A point mass is moving with a constant velocity along a line parallel to the x-axis away
from the origin. Its angular momentum with respect to origin

(a) iszero
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(b) remains constant
(c) goesonincreasing
(d) goes on decreasing

(iii)A particle performs uniform circular motion with angular momentum L. If the angular frequencyw
of the particle is doubled and kinetic energy K is halved, its angular momentum becomes

(a) 4L
(b) 2L
(c) L/2
(d) L/4
OR

If rotational kinetic energies of two bodies having moments of inertia of 9kg/m*and 1kg/m?are the
same then ratio of their angular momentum is

(a) 9:1
(b) 1:9
(c) 1:3
(d) 3:1

(iv) An object of mass m=0.6kg is moving with a uniform speed v=(51+5]j) m/s in XY plane

along a straight line as shown in figure

The magnitude of the angular momentum of the object at point P

(a) 30kgm’s™
(b) 24kgm*s™
(c) 12kgm’s™
(d) 15kgm?*s™

30.Read the following paragraph and answer the questions that follow.
A perfect gas equation can be written as PV=nRT

Where n is the number of moles and R= Nky, is a universal constant. The temperature T is absolute
temperature. Molecules of such gas are free from intermolecular attraction and have negligible
volume. The gas particles are equally sized and motion of the particle follows Newton'’s laws of
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motion. These particles do not undergo any energy loss as they have perfect elastic collision. Figure

PV
shows the plot of Tversus P for one mole of oxygen gas at two different temperatures. (Given

molecular mass of oxygen=32 unit).

.

p— ]
(i) Areal gas will behave like an ideal gas at
(a) high temperature (b) low temperature
(c) high temperature and low pressure (d) low temperature and high pressure
(i) In the above diagram what does the dotted line signify?
(a)ldeal gas behaviour (b) Real gas behaviour
(c) Oxygen gas at temperature T, (d) Oxygen gas at temperature T,

(iii) Which of the following is correct?
(a) Ti<T, (b)T:>T,

(c)T:=T, (d) T2 T,

OR

PV
(iii)The value of7where curves meet on y-axis is

(a) 8.31J/K (b) 0.26 J/K
(c)0.52 J/K (d)4.15 J/K
(iv) Relation between Boltzmann constant and universal gas constant
(a) R=kbN (b) N=kbR
( C) R=kb /N (d) kb= NR
SECTION E
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31. (a)Derive an expression for work done during an adiabatic expansion of gas

(b) 2.2 moles of an ideal monoatomic gas occupying volume V at temperature 300K is
adiabatically expanded to a volume of 2v2 V. Find

(i) Final temperature

(ii) Change in internal energy (Where R=8.31 J/K/mol), of the gas

OR
(a) If n number of little droplets of water of surface tension S, all of the same radius r combine
to form a single drop of radius R. Suppose the entire energy released is converted into K.E. of
the single drop, then find the velocity acquired by it?
(b) A planeis in level flight at constant speed and each of the wings has an area of 25m”. If the
speed of the air is 180km/h over the lower wing and 234km/h over the upper wing surface.
Determine mass of the plane. (Take air density to be 1kg/m?)

32. A progressive wave represented by
Y(x,t) = a sin(kx-wt)

is incident on a closed organ pipe. After its reflection from the closed end a standing wave is
formed in the pipe.

(a)Derive an expression for resultant displacement of standing waves.

(b) Find the frequency of ™ mode of vibration

(c)Show that only odd harmonics are present in closed organ pipe.
OR

Consider a particle of mass m executing S.H.M. with amplitude ‘a’ and constant angular
frequency w. The displacement ‘y’ of the particle at ‘t’ seconds after starting from mean position
is given by

Y=a sin wt

Derive the expression for the kinetic and potential energies of the particle at time t. Hence plot a
graph to show the variation of K.E. and P.E. of the particle with displacement

33. A ballis dropped from a height of 100m on a floor. At each collision with the floor the ball
loses one tenth of its speed. Plot speed- time graph of its motion between t=0 to t=9s. (take
g=10m/s’)

OR

A man is standing on the top of a building 100m high. He throws two balls vertically upwards,
one at t=0 with velocity 2u and other at t=Ts (less than 2 seconds) with a velocity u. At t=2s, the
vertical gap between first and second ball is found to be 15m. The gap is found to remain
constant. Calculate the value of u and T. (given g=10m/s?)
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Class Xl (2024-25)

PHYSICS
SAMPLE PAPER MARKING SCHEME

Q.No. | Hints to the Answers Value | Total
Point | Marks
SECTION A
1 d)5 1 1
2 d) Figures A, Band C 1 1
3 d) in all options (A, B, Cand D) 1 1
4 d)7; =3.0ti-4.0t% 1 1
5 c)—-300W 1 1
6 b) 2MR” 1 1
5
7 c) 2 1 1
3

8 b) 120 /s 1 1
9 b) B only 1 1
10 b) T,<T,<T, 1 1
11 d) + 10mm/s 1 1
12 d) ya (x,t) = - a sin (kx+wt) 1 1
13 Option (a) 1 1

Both Assertion and Reason are true and Reason is the correct explanation of

Assertion
14 Option : (C) 1 1

Assertion is true but Reason is false
15 Option (a) 1 1

Both Assertion and Reason are true and Reason is the correct explanation of

Assertion
16 Option : (b) 1 1

Both Assertion and Reason are true but Reason is not the correct explanation of

Assertions

SECTION B

17 LHS. =V=[TY %

RHS. =T 2

8 nl
L a1 Ya
[MlL—lT—l ] [L]l

=M T %

As LHS = RHS, dimensionally

..The relation is correct %
18 Let after breaking, masses of two parts are m; = %m and m, = %m V2

Acc. to law of conservation of linear momentum

m (0) = myv; + myv, % 2




*.Zm (81 +6]) +=mv; = 0

16i+12 j+31,=0
— 16, .
vy = (- 1-4]) m/s

V2

V2

19

A projectile will have same horizontal range R for two angles of projection 6 and
(90° - 0).

_ u?sin 20

R =
g

_2u sin © 2u cos O
1= YY)
) )

2u sin 6]| 2u cos 0
tltzz{ P P J

2u?sin 20
g2

Lt=

2R
t; t2=?

OR

(/T + §) and (ff - §) are perpendicular to each so their dot product is
Zero

(4 +B) . (A =) =o0

{

-

A -B.B =0
-B*=0
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Pressure required to blow a hemispherical bubble at its end in

28

water = Poutside + ?

2x7.30x102
=1.0x10° + _—
1x10~3

=10° + 14.6 x 10*
=10’ + 0.00146 x 10’

=1.00146 x 10°Pa
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iz

iz

iz




SECTION C

22 a) Node (N) is a point, where the amplitude of oscillation is zero and 2
pressure is maximum i.e. antinode.
1
Antinode (A) is a point where the amplitude of oscillation is maximum and | %
pressure is minimum, hence node.
b) Though the violin and sitar note have the same frequency, yet the 1 1
overtones produced and their relative strengths are different in the two
notes.
c) Solids have both, the elasticity of volume and elasticity of shape, whereas | 1 1
gases have only the elasticity of volume. =03
23 a) w== %
PPN
TeXT X % 1
=1rad/s
1 1
b) Since, direction of velocity changes continuously acceleration is not a
constant vector.
c) a=o’R 1
= (1)* x (10 cm) v 1
=10cms? =03
24 a) The deformation between elastic limit and fracture point for material (Q) | 1
is more as compared to material (P). Hence (Q) is more ductile.
stress 1
b) Y= strain 1 % 1
Slope of graph= v
(slope )p< (slope )q 1%
YP>YQ 1
c) Material (Q) has higher tensile strength as it sustains more stress after 1 =03
elastic limit.
25 Law of areas- The radius vector drawn from the sun to a planet sweeps out equal
areas in equal intervals of time, i.e., the areal velocity (area covered per unit
time) of a planet around the sun is constant. 3

Consider a planet moving in an elliptical orbit with the sun at focus S. Let 7 be

the position vector of the planet w.r.t the sun and F be the gravitational force
on the planet due to the sun. Torque exerted on the planet by this force about

the sunis 7= r_’x7 =0(As T &_f are oppositely directed)

pCp)

Butz=— e Y




dL >
= 0 or L = constant

Suppose the planet moves from position P to P in time At. The area swept by the

) e
radius vector 7 is AA = EF x PP’

But PP’ = Ar = VAt = 2 At

m

>

- 15
=AA=-Fx LAt
2 m

_E_L(FX—’)_L
T 2m bI=3

_At m

AA > _,
or—= constant (As [ and m are constant)

26

Ball A will not rise after collision.When two bodies of same mass undergo an
elastic collision, their velocities are interchanged. After collision, ball A will come
to rest and the ball B would move with the velocity of A.

Height BD = OB — OD = 2 - 2cos 30°
=2-2(V/3/2)=2-1.73

=0.27m

By law of conservation of energy

1
E mv’ = mgh

So, v=/2gh =v2x0.27x10

v=v5.4=232m/s

Iz

iz

iz

iz

iz

iz

27

MOI of hollow cylinder l,= Mr?
MOI of solid cylinder, I, = % Mr?

For hollow sphere, 7 = 1106¢¢
For solid sphere, T = 1,%;

Lop _Li_Mr2 5

=5 =3

ap I ngZ

As w= w,+ oatand w,=0
. wz_(xz _5

w1 01 2

iz
iz
iz

iz

Iz

Iz

28

We assume perfect contact between bodies A and B and the rigid portion




(reaction) equals 200 N. There is no impending motion and no friction. The
action-reaction forces between A and B are also 200 N. When the partition is
removed, kinetic friction comes into play.

[200 —(150 x 0.15)]
15

Acceleration of A+B=

=11.8 m/s’
Friction on A=0.15x50=7.5N

200-7.5-Fp=5x11.8
Fag=1.3x 10° N opposite to motion
Fga = 1.3 x 10 N in the direction of motion

iz

iz

iz
iz

OR
a) Fort<0andt>6, the position of the particle is not changing hence no "y
force is acting on the particle. For 0<t<6, position of the particle changes | 7>’
uniformly hence no force acts during this interval also.
b) t=0 u=0 1
After t=0, v =slope of OA = % m/s
At t=0,
Impulse = change in momentum
=m (v-u) =8 (>-0)
=4 kgm/s Iz
At t =6s,
u=%v=o
Impulse =m (v—u) =8 (0 - %)
=-4 kgm/s iz
SECTION D (Case study)
29 i) a) Xofok 1x4
ii) b) remains constant
i) d)z  OR i) d) 3:1
iv) b) 24 kg m?s?
30 i) c) At high temperature and low pressure 1x4
ii) a) Ideal gas behavior
i)  b)T,>T, OR a)8.31J/K
iv) a)
SECTION E
31(a) | Work done in an adiabatic change of an ideal gas from the state (P,V,T;) to the

state (P,V,T,).

w=[,> Pdv - (1)

Using PVY = constant

vy dv
1) W = constant fvlz o

Iz

iz




v-r+171"2
= constant [ ]
- Iy

_ constant 1 1
1—y vty

1 PV, Py
=—=24 - —1L (AsP,l) = P,V = constant)
1y v} v}

1
=1, [P2V,-P1V4]
Y

UR (Ty—T
WD, =—1"2
y—1

V2

iz

31(b)
(i)

(ii)

For adiabatic process
TVY~1 = constant

TZI/Zy_l = Tll/ly_l
5

1
=3OOXW

300
==K
2

T,=150K

AU = u C,dt for all processes
=2 x % R x (150-300)

=-3x8.3x1501

=-3735)

iz

iz

iz

iz

3+2=

31(a)

OR

Let there be n drops (small) combine to form a big drop.

3
Then, n xi r’ 2 R orn= R—3

3 3 r 4
Mass of bigger drop of water M = gnRg’x 1 (p=1g/cc)
Energy released = S.T x decrease in surface area
E=Sx4m (nr—R?

R3 2
=Sx4rt(—r3r—R)
- 31 1
=4 1 SR (r R)

=3x i7TR3S [R;r]
3 Rr

iz

iz




=3 MS [’;;:]

~ K.E. produced = E
@t mv? = 3ms (2
2 Rr

V= ’6S(R—r)
Rr

V2

iz

31(b)

V; =180 km/h =50 m/s
V, =234 km/h = 65m/s
A=2x25=50m?
p=1kg/m’

1
P,—P,= 2 p (sz - V12)

=§x 1x (652—50?)
~ Upward force = (P, —P,) A

% X (65%—50%) x 50 N
As the plane is in level flight, so

mg = (P, —P) A
m = (P1 —P2)A

g

or,

_ 1x(65%2-502) x 50
- 2x98

=4.4x10% kg

iz

Iz

iz

iz

3+42=5

32 (a)

Let the wave pulse moving from left to right (i.e. along +ve x —axis) be

y1 (x,t) = r sin (wt — kx)

As there is a phase change of r radian on reflection at the rigid boundary,
. Reflected wave pulse travelling from right to left is

Yo (X,t) = r sin (wt +kx + ) , —

Y2 (Xrt)= -rsin ((.Ut + kX) ¥, TN /\/uxrf\ -
Rigid

'.‘,‘_—"s../\_z‘-_/\.—‘x Boind

According to superposition . e

principle, the resultant displacement y at time t and position x is given by

y(x,t) = y1 (x,t) +y; (x,t)

y(%,t) = r sin (wt — kx) —r sin (wt + kx)

y(x,t)= - r [sin (wt + kx) — sin (wt — kx)]

Using the relation

sinC—sinD=2 cos%sin %

y(x,t) =- 2 r coswt sin kx

y(x,t) = - (2 r sin kx ) coswt

iz

iz

iz

iz

32(b)

At the closed end of the pipe , x =0
sin kx =sin0° =0
~y=0i.e.anodeis formed.

At the open end of the pipe of length L

iz




y = Lan antinode is formed i.e. y = Max.

When sin kL= Max = +1
=sin (2n -1) %

~kL=(2n -1)% where,n=1,23

21 i3
—Ll=(2n-1)3

4L
~ (2n-1)

As v=vA

_V_(@n-1)V

yl 4L
=~ For frequency of n" mode of vibration is Vp=

n-1)V
4L

iz

Y

iz

32(c)

For first mode of vibration n=1

-
L)

For second mode of vibration n =2
_(@x2-1)V _ 3V

W, = —————="—=13y
2 41 4L 1

For third mode of vibrationn =3
(2x3-1)V 5V
V3=————=—= 5v 1
4L 4L
Vi1:V,y:v3=1:3:5
~.only odd harmonics are present in a closed end organ pipe.

iz

iz

2+2+1

32

OR

Kinetic Energy of the particle at the instant t, is

K= % mv’ = % m (aw coswt)?
K= % mw? a’ cos’wt

K= % mw’a? (1-sin‘wt)

K= % mw? (a*-y?)

Potential Energy

Work done for small displacement dy against the restoring force is
dW =-Fdy = - (- ky) dy

dW = kydy

Total work done for displacing the particle from the mean position to a position
of displacement y will be

iz

iz

iz

iz

iz
iz




w=["ky dy =3k’

This work done appears as PE.
U =§ky2=%mw2y2

KT

Displacement

P

V2

V2

33

u=0,a=10m /s’ s=100m, t=?,v="?

Using vi—u’ = 2as
v2—0%=2x10x 100
v? =2000
v=1/2000

=44.72 m/s

Using s = ut+%at2
100 = Oxt + % X 10X t2
100= 5t

t2=+/20
W t=4.472s

Rebound velocity = (1 — %) x 44.72

= > X 44.72
10

=40.24 m/s

Time taken to reach highest point
V= U +at
0=40.24-10xt

40-24
= =4.024 s

~ Total time =4.472 + 4.024
=8.496 s
=8.5s

iz

iz

iz

iz

iz

iz

iz

Iz




f

|

1

o 1
() 35 —t{5)

33

OR

Let the speed of ball 1 = u; =2u m/s
Then the speed of ball 2 = u, =um/s
Let the height covered by ball 1 before coming to rest = h;
Let the height covered by ball 2 before coming to rest = h,

At the top their velocities becomes zero
2

u ui?
u’=2gh = h=—=h;=-L
29 29

4u?

1= e

2g
uZ

and h2=z

A.T.Q h;—h,=15m (given)

2
Z [4-1]=15
2g

2 15x2x10

= U
3

= u’=100
u=10m/s

~ Forballl, v;=u;+gt
0=20-10t;
t, = 2s

For ball 2, v,=u2 +gt,

0=10-10t,

t,=1s

= Velocities of ball 1 and 2 are 20 m/s and 10m/s respectively.

Time interval between two balls
=t -t,

=(2-1)

=1 second

Yo+

iz

iz

iz

iz




CLASS XI
CHEMISTRY THEORY (043)

M M:70 Time: 3 hours

General Instructions:

Read the following instructions carefully.

(@) There are 33 questions in this question paper with internal choice.

(b) SECTION A consists of 16 multiple -choice questions carrying 1 mark each.
(c) SECTION B consists of 5 short answer questions carrying 2 marks each.
(d) SECTION C consists of 7 short answer questions carrying 3 marks each.

(e) SECTION D consists of 2 case - based questions carrying 4 marks each.

() SECTION E consists of 3 long answer questions carrying 5 marks each.

(g All questions are compulsory.

(h)y Use of log tables and calculators is not allowed.

SECTION A

The following questions are multiple -choice questions with one correct answer.
Each question carries 1 mark. There is no internal choice in this section.

1. The significant figures in 0.00051 are :

a b5
b) 3
C) 2
d 6

2. Which statement regarding photoelectric effect is false?
a) The kinetic energy of photoelectrons is independent of intensity of incident light.
b) Electrons can be ejected only if the incident light is greater than a certain frequency.
c) The wavelength of the incident radiation required for ejection of electrons is the same
for all the metals.
d) The number of photoelectrons ejected increases with increasing intensity of light.

3. The first ionisation energy (in KJ/mol) of Na, Mg, Al and Si respectively are
a) 496, 577,737,786
b) 786, 737,577, 496
c) 496, 577,786, 737
d) 496, 737,577, 786



4. Which of the following arrangements of molecules is correct on the basis of
their dipole moment?
a) BFs>NH3>NF3
b) BFs>NF3>NH3
¢) NFs>NH3>BF3
d) NH3>NF3>BF3

5. A reaction will be non spontaneous if
a) Both AH and AS are negative
b) Both AH and AS are positive
c) AH is negative and AS is positive
d) AH positive and AS is negative

6. In the reaction I2 + |- — |37, which is the Lewis base?

a) Iz
b) I
c) s

d) Bothbandc

7. What is the correct representation for the solubility product of SnS2 ?
a) [Sn*'] [S*T
b) [Sn*][S*]?
c) [Sn?*][2S%]?
d) [Sn*][2S%]?

8. Which of the following species undergoes a disproportionation reaction?
a) ClOg
b) F2
c) NOs%
d) P4

9. Identify the alkene that produces Ethanal and Methanal on Ozonolysis
a) But-2-ene
b) Propene
c) 2-Methylpropene
d) But-1-ene

10. The heat of combustion of carbon to COz2 is -393.5 KJ /mol. The heat released upon
formation of 35.2 g of CO2 from carbon and oxygen gas is
a) +31.5KJ
b) -630 KJ
c) -3.15KJ
d) -315KJ



11. How many hyperconjugative structures for propene are possible ?
a) 5
b) 4
c) 3
d) 2

12. Select correct method to separate steam volatile and immiscible organic substances.
a) Distillation
b) Steam Distillation
c) Fractional Distillation
d) Distillation under reduced pressure

Question number 13 to 16 are assertion reason types.
Given below are two statements labelled as Assertion (A) and Reason (R)
select the most appropriate answer from the options given below:
(a) Both A and R are true and R is the correct explanation of A
(b) Both A and R are true but R is not the correct explanation of A.
(o Aistrue but Ris false.
(d)A is false but R is true.

13. Assertion (A): The stabilising effect arises when two or more electrons with the same
spin are present in the degenerate orbitals of a subshell ,
Reason (R): The number of exchanges that can take place is maximum when the
subshell is either half filled or completely filled.

14. Assertion (A):The heat of combustion found by using bomb calorimeter gives the value
of internal energy change A U and not enthalpy change A H
Reason(R): In a closed vessel, no work is done as AV=0

15. Assertion (A): One molecule of water adds to alkynes only on warming with mercuric
sulphate and dilute sulphuric acid at 333 K to form carbonyl compounds

Reason(R) : Alkynes are water immiscible and do not react with water easily.

16. Assertion (A): In the following reaction:
Zn(s) + CuS0O, (aq) — ZnS0a4(aq) + Cu(s)
Cu is a reductant but itself gets oxidised.

Reason(R): In a redox reaction, oxidant is reduced by accepting electrons
and reductant is oxidised by losing electrons.



SECTION B

This section contains 5 questions with internal choice in one question.
The following questions are very short answer type and carry 2 marks each.

17. If the velocity of the electron in Bohr’s first orbit is 2.19 x 10® m/s, Calculate the
de Broglie wavelength associated with it.
18. Select an element from each of the following pairs which would have more negative

first electron gain enthalpy. Give reasons also.
(@ OorsS. (b) Cor Si

19. (a) Why the Be2 molecule does not exist. Give reason on the basis of molecular
orbital theory.

(b) Out of ortho - nitrophenol and para-nitrophenol which one is not steam volatile.
Give reason also.

20. Balance the following redox reaction :

XeOs* + F — XeOs+ F2 ( Acidic medium)
OR
Clz — CIO +CI ( Alkaline medium)

21. Out of the following carbocations, identify the one which is more stable. Give reason
for your answer.

CH, GHq
H,C—¢~ H,C—¢"
= NO2



SECTION C

This section contains 7 questions with internal choice in one question. The following
guestions are short answer type and carry 3 marks each.

22. (a) Identify the limiting reagent if the reaction mixture contains 16 volume of
dihydrogen gas and 6 volume of dioxygen gas which reacts to produce a certain
volume of water vapour . Also, determine the volume of water vapour that would
be produced. (2)
(b) The elements nitrogen and oxygen combine to produce the following oxides
N20 , NO2, N203 ,N204 and N20Os
Which law is illustrated by the above example. (1)

23. (i) Arrange the following ions in order of their increasing radii:
Li*,Mg?* K+ AlR*
(i) Explain why the formation of Cl-is exothermic but formation of O% is endothermic?

24. Na(s) + %2 Br2 (I) — NaBr (s) A Hs
Construct the Born-Haber cycle for NaBr(s). Give all the reactions involved.

25. What volume of 0.1 M NaOH solution is required to neutralise 100 ml of conc. Aq.
H2SOa4 which contains 98% H2SO4 by mass .The density of conc. H2SO4 solution
is 1.84 g /ml . NaOH reacts with H2SO4 according to the following equation:

2 NaOH + H2S504 = Na2S0a4 + 2H20

26. The bond energies of C-C, C=L, H-H and C-H linkages are 350, 600,400 and 410
KJ/ mol respectively.Calculate the heat of hydrogenation of ethyne to form ethane.
OR
Work done in the isothermal expansion of an ideal gas from 4 dm3to 6 dm?3 against a
constant external pressure of 2.5 atm was used to heat up 1 mole of water at 20°C.
Calculate the final temperature of water.Given that the specific heat of water= 4.2J g-1K1

27.In Lassagine’s test for an element ‘X’ in an organic compound violet colouration is
obtained on adding a few drops of sodium nitroprusside . ldentify the element
‘X’ present in the compound. Estimate the percentage of X’ in 0.16 g of the organic
compound, which on oxidation and subsequent reaction with barium chloride gave 0.5 g
of white ppt of a compound having molar mass 233 g per mole.

28. Complete the following reactions :



clectrolysis

WOH . COONMN ‘ 2H,O

anlivdrous AIC13
Ca, + (CHy)CHC] e -

Red hot Fe tube873 K
CaH- S

SECTION D

The following questions are case -based questions. Each question has an internal

choice and carries 4 (1+1+2) marks each. Read the passage carefully and answer the
guestions that follow.

29. There are two different approaches that have been put forward to explain the shapes
of molecules. These are valence shell electron pair repulsion theory and hybridisation.
VSEPR theory is based on the repulsions among the electron pairs ( bond pairs and
lone pairs ) present around the central atom so that they take up the directions.Where
there are minimum repulsions between them. Hybridisation is based on mixing atomic
orbitals of an atom (empty, half filled or fully filled)of comparable energy forming new
equivalent orbitals of the same shape and energy, called hybrid orbitals. These hybrid
orbitals then overlap with the orbitals of other atoms. Overlapping may take place
between two half filled orbitals or one empty and one fully filled orbital. The direction of

overlap gives the direction of bonds formed and hence the shape of molecule or ion.

Based on the above paragraph, answer the following questions.
1. On the basis of VSEPR theory, explain the shape of ammonium ion.
2. Briefly explain the shape of the SF4molecule.



3. On the basis of hybridisation, predict the shape of PCls. Why does it easily
dissociate into PCls?

OR
Give reason for the following :
(i) Although NHz involves sp? hybridisation, the bond angle H-N-H is not equal to
109028~
(i) Bond angle in PHs is less than that in NH3

30. Students were analyzing the physical and chemical properties of a compound with the
formula CsHs. They observed that the compound exists in two different forms, which they have
labelled as "Alpha" and "Beta". The students have provided the following information about the
two forms:

Alpha:
- Melting point: -105.5°C
- Solubility in water: Insoluble

Beta:

- Melting point: -138.9°C
- Solubility in water: Soluble

Answer the following questions :

1. Write the IUPAC name of Alpha form.
2. ldentify the type of isomerism exhibited by Alpha and Beta

3. Draw the structural formula for each form (Alpha and Beta) of the compound CsHs.
OR

3. Give reasons for the difference in melting and boiling points of the two forms.



SECTION E
The following questions are long answer types and carry 5 marks

each. All questions have an internal choice.

31. Attempt any FIVE of the following :

a) An electron is in 4dz? orbital . Give the possible values of | and m quantum
numbers for this electron .

b) What is the maximum no. of emission lines when the excited electron
of a hydrogen atom in n=5 drops to the second shell ?

c) Write the mathematical expression for Heisenberg’s uncertainty principle.

d) State Hund’s rule of maximum multiplicity.

e) Write the electronic configuration of the element with atomic no. 29

f) Draw the boundary surface diagram for dx?-y? orbital.

g) Which orbital in each of the following pairs is lower in energy in a multi
electron atom

)] 5f and 4d

i) 6s and 4f

32. a) Derive the relationship between Kp and Kc.
b) Calculate the pH of the mixture 0.1M, 100ml H2SO4 solution + 0.1 M, 100 ml
NaOH solution.
c) Define Common ion effect.
OR

a) Define Buffer solution

b) Hydrolysis of sucrose gives, equilibrium constant Kc for the reaction is
2 x 10*2 at 300 K. Calculate AG°. (R=8.314 J K mol?)

c) Arrange the following in increasing order of pH. Also write the appropriate reason.
HF , H20 , NH3

33. a) Assess the given structures and identify the aromatic compounds
giving reasons :

(@) (b)



(¢ (d)

b) Write 3-step mechanism for the reaction of benzene with acetic
anhydride in the presence of anhydrous AIClIs

OR

a) Compare nitrobenzene and aniline on the basis of the fact that electrophilic substitution
reaction for nitrobenzene produces meta product and that of aniline produces ortho,para
products.

b) Write stepwise mechanism for the reaction of But-1-ene with HBr in the presence of
Benzoyl peroxide.



Marking Scheme
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Q. | Sub Value Points Step | Total
No | part wise [ Marks
mar
ks
1 (C)2 1 1
2 ( C) The wavelength of the incident radiation required for 1 1
ejection of electrons is the same for all the metals.
3 (D) 496, 737,577,786 1 1
4 (D) NHz > NF3 > BF3 1 1
5 (D) AH is positive and AS is negative 1 1
6 (B) I )1 1
7 (B) [Sn*][S*]? 1 1
8 (D) P4 1 1
9 (B) 2- Methylpropene 1 1
10 (D) -315 kJ 1 1
11 ©3 1 1
12 (B) Steam Distillation 1 1




13

(B) Both A and R are true but R is not the correct

explanation of A

14

(A) Both A and R are true and R is the correct explanation

of A

15

(A) Both A and R are true and R is the correct explanation
of A

16

(D) Asfalse but R is true

17

L 6.626 x 1073*Js
" mv 9.1x10731Kgx2.19 x 105ms1

=0.332x10°m =0.332 nm

18

(a) S has more negative first electron gain enthalpy.

The size of O is much smaller than that of sulphur. As a result,
electron electron repulsions in the smaller 2p subshell of
oxygen are comparatively larger than those present in the
bigger 3p-subshell of sulphur. Therefore, S has a higher
tendency to accept an additional election than oxygen.

(b) C has more negative electron gain enthalpy than Si.
This is because C-atom has smaller size than Si atom and
electron - electron repulsions in carbon and silicon

unlike oxygen and sulphur are not very large because they
contain only four electrons in the outermost shell.

19

(a) Molecular orbital electronic configuration
of Be2 = 01s%0*1s202s°0*2s?
Bond order =%2(4-4) =0
Hence, Be2 doesn’t exist

(b) p- nitrophenol has a higher boiling point due to the
presence of intermolecular hydrogen bond and that’s why it is
not steam volatile.




20.

overall reaction:

XeOg* +F 7 XeOs+F2 (Acidic medium)
XeOg* +2e- 7 XeOs (Reduction)

2FF T F2 +2e- (Oxidation)
XeOg* +2F T XeOs+F2

Acidic medium:

XeOg* +2F +6H+ ~> XeOz+ F2 + 3H20

OR
Overall reaction :-

Cly(1) = C1-(aq) + C10~(aq)

Half cell reaction at anode :-

Cl(l) + 2H;0(1) + 40H(aq) — 2C10~ (aq) + 4H,0(1) + 2

Half cell reaction at cathode :-
Cly(l) 4 2= — 2CI™ (aq)
Adding above two half cell reaction, we get :-

Cla(1) + 20H (aq) — ClO~(aq) + 4H20(1) + CI~(aq)

Ya

Ya

Yo

Yo




21

Carbanion A is more stable
Reason:- B is destabilized by electron withdrawing effect of -
NO:o2.

22.

(@)

(b)

2H2 + O2 — 2 H20

According to the above equation
2 vol. Of Hz requires 1 vol of O2
Therefore,

16 vol of Hz will require 8 vol of O2

Amount of Oz in the reaction mixture is 6 vol , hence O2
is the limiting reagent

1 vol of O2 produces 2 vol of H20
Hence, 6 vol of Oz will produce 12 vol of H20

Law of multiple proportions.

23.

(i) APR* < Mg?*< Li*< K*

(i) Formation of CI- from CI (g) is exothermic because its first
electron gain enthalpy is negative.

Cl(g)+e —Cl-(g) AH=-ve

Formation of O?- involves two processes :

O(@+e — 0O AH;1 = -ve
O(g)+e — 0?- AH2 = +ve
AH2 > AH1

So, AH For the formation of O? (g) from O(g) gas is positive.




24.

Nais l‘l[}r:t” > Nabrisy M
i
'&ld,ﬂzl D2y, H
Nalg) Bril)
-.1-,"“' “hl».c”
A |
Bz
A Mt
/ Y
Na(z) = Br(w >

AHg = At AR + 128, 10 b 8, H ALY + Ay

25.

Mass of H2SO4 = volume x density
=100mL x 1.84gmL™t
=184¢g

Solution contains 98% H2S0O4 by mass 08 x 184
Hence , amount of H2SO4 in the solution =
=180.32¢g

100

Molar mass of H2SO4 = 2 + 32 + 64 = 98 g mol*

_ givenmass _ 180.32

molar mass 98 = LB males

n

According to the equation

1 mole of H2SO4 reacts with 2 moles of NaOH
Therefore, 1.84 moles of H2SO4 requires 2 x 1.84 =
3.68 moles of NaOH




no.of moles

Molarity =
rarity Volume of seolution in litres 1
Volume = —— = 36.8L
0.1
26
H H
(Raney | i
HC = CH + 2” Nickel), H g L 0
l'f[h_\-'nc l)ih) (il'ngcn ! I
H H
Ethane
AreactionH = X Bond Enthalpy(r) - ¥~ Bond Enthalpy (p) Y2
Bond Enthalpies of Bond
Reactants Enthalpies of
Products
C=C = 600 KJ molt C-C =350 KJ mol?
2xC-H = 2x410 = 820 KJ molt | 6XC-H =6x410 =
2xH-H = 2x400 = 800 KJ mol1 | 2460 KJ mol 1+1
Total Bond Enthalpy of | 'otal Bond Eiwthalpy
Reactants = 2220 KJ mol of Reactants = 2810
KJ mol*?
AvreactionH = 2220 - 2810 = - 590 KJ mol? 1.
2
OR
26 As work is being done against external pressure, the process

is irreversible hence,

W = -Pext AV

=25(6-4)=-5.0atm-L (latm-L = 101.3J)
W =-5.0x101.3=-506.5J

For isothermal expansion AU =0

So, q =-W =506.5J

This heat is used to heat 1 mole of water

So,g=mcAT

Yo
Yo

Ya

Yo
Yo




506.5 =18 x 4.2 x AT
AT =6.725°C
Final Temperature = AT + Initial Temperature

Final Temperature = 20 + 6.725 = 26.725 °C Y2
27. Element X’ is Sulphur 1
The white ppt formed is of BaSO4 which has a molar mass =233
g/mol
; ; 1
given mass 0.5 72
n= : = —— = 0.00215 moles
molar mass 233
Since 1 mole of barium sulphate contains 1 mole of sulphur ,
the number of moles of sulfur is also 0.00215 mol.
The mass of sulfur is= number of moles x molar mass L.
2
=0.00215 mol x 32 g/mol
=0.0688 g
The percentage of sulfur in the organic compound is:
%S = mass of sulphur x 100 = 0.0688 x 100 = 42.5 % 1

mass of erganic compound 0.16




28.

lectralvais
MO COMNA + 2H0 —_— e HC-CH, 2 NaOH < H

andydrons ACID HHE
oy, + (CHy)CHC oy Mgt - CH,

Foed bl Fe fube 875 K

C.Hs [ttt

29.

1. Based on VSEPR (valence shell electron pair
repulsion theory), the four bond pairs of electrons on
nitrogen will repel each other. As a result, they will be
pushed apart giving the ammonium ion-molecule a
tetrahedral shape. Therefore, it has tetrahedral
electron geometry.

2. The central atom in the Sulphur tetrafluoride molecule
has 5 electron pairs. There are 4 bond pairs and one
lone pair. It has a trigonal bipyramidal geometry (or
structure). The lone pair is in the equatorial plane
giving an overall see-saw shape.

3. The atomic number of phosphorus is 15.
The electronic configuration of phosphorus is:




P=1s? 2s2 2p® 352 3p?

The hybridization in PCls is spd.
Therefore, the shape of PCls is trigonal bipyramidal.
The two axial bond pairs experience more repulsion than the
three equatorial bond pairs. This makes the axial bond
relatively weaker than the equatorial bond and they get easily
broken.

OR
(i) This is mainly due to the presence of a lone pair which
usually exerts greater repulsion on the bonding orbitals.
Hence bond angle is less than 109928 .

(i) The bond angle in NHs is larger than in PHs because of
the lower electronegativity of P which permits electron-
density to be displaced towards hydrogen to a greater

extent than in the case of NH..

30.

1. Trans-but-2-ene
2. Geometrical Isomerism
3.

CHs3 CHs3 CHs H

fC = C\ #C=C
H H H N

cis-But-2-ene trans-But-2-ene

OR
The melting point of trans isomers is generally
higher than that of cis isomers because in trans
isomer, bulky groups lie on the opposite side of
the double bond. Therefore, the molecule is
symmetrical and hence packed well in the
crystal lattice.
Boiling point of cis isomers is higher than trans
isomers because cis isomers is more polar and
hence they have strong intermolecular forces
between the molecules.

H




31. | (a) =2 and m=0 1 1X5 =5
b ma—ms) (mamn - -
(b) no.of emission lines = s RL'{; atl) _f572) ':HE ¢ 1
(c) h 1
Ax-Ap= —
4t
(d) Hund’s Rule of Maximum Multiplicity:
Pairing of electrons in the orbitals belonging to the
same subshell ( p, d or f) does not take place until 1
each orbital belonging to that subshell has got one
electron each , that is , it is singly filled with parallel
spin.
(e) 1s? 252 2p® 3s? 3p® 3d1Y 4st
1
¥
(f)
::
1
df__ﬁ
(9) ,
(i) 4d Ya
(i) 6s
Yo
32. | (&) aA + bB = cC + dD 5
= daal gas e
Yo
K, = [C]E[D)¥ PV =nRT
(APBP  P=-LRT
n n
k = (Po) (Po)? _ (S7RT ) (- RT)’ y
P {PA}Q {PB}D I: TRT }a {TRT }J:I
Flugaging this into the expression for K,
' 1

So, Kp=Kc (RT)A"




(b)

(©)

(@)

(b)

(©)

H2S04(aq) - 2H*  + S04

0.1M, 100 ml

10 millimoles 20 millimoles

NaOH — Na* + OH

0.1M, 100 ml

10 millimoles 10 millimoles

Number of millimoles of H* and OH- neutralized in the
mixture = 10 millimoles

Number of millimoles of H* ion left unreacted in the
mixture = 20 - 10 = 10 millimoles

[H*] in the mixture = millimoles of H* ion / total volume
of mixture
10/200 =0.05 M

pH = -log[H’]
pH = - log(5x10?)
pH =1.3010

Common ion effect - It is a phenomenon in which the
degree of dissociation of any weak electrolyte is
suppressed by addition of a small amount of strong
electrolyte containing a common ion.

OR

Buffer solution - It is a water solvent-based solution
which consists of a mixture containing a weak acid
and the conjugate base of the weak acid or a weak
base and the conjugate acid of the weak base. They
resist a change in pH upon dilution or upon the
addition of a small amount of acid/alkali to them.

AGP = -2.303 R T logKe
AGP = -2.303x8.314x300 log(2x10%3)
AGP® =-7.64 x 10* J mol?

HF < H20 < NHs (Increasing order of pH)

Reason:- Fluorine, oxygen and nitrogen belong to the same
row of the periodic table. H-A bond priority becomes the
deciding factor for determining the acidic strength. As the

Ya

Ya

Yo

Ya

Yo
Yo




electronegativity of A increases, the strength of acid also
increases and pH decreases.




33.

b)

N ) and

are aromatic as are planar, show complete
delocalisation and follow Huckel’s rule .

1. Generation of the Acylium lon:
RCOCL+ AICly — RCO™ + AICI;

2. Electrophilic Attack on Benzene:
E-r—;I‘Ir. i RCO — ChHhH{:D '

3. Restoration of Aromaticity:
CeHgRCO" — CyH:RCO +H™
H" + AICl; — HCL + AlCIy

OR
Nitro group is electron withdrawing group. Due to
resonance the ortho and para positions get positive
charges hence incoming electrophile attacks at meta
position whereas amino group is electron donating
group, ortho and para positions develop negative
charge hence the incoming electrophile is directed at
ortho and para positions.

Ya

Yo




b)

1

Formation of free radicals:
Benzoyl peroside decomposes upon heating to form benzoyloxyl radicals:

(Cul!s(—-'())‘g(')_- - '.7(;'.‘,!'1;(7(..)-

Collg - +HBr — CyHg + Br

2.Addition of bromine radical to but-1-ene:

The bromine radal adds to the double band of but-1-en2, forming a
secondary radica! (bacause the secondary radical is more stable than the

prmary radical):

CH:=CH -CH; - CH; + Br- - CHs. —-CHByr - CHy - CH,

3. Formation of the final product:
The secondary radical reacts with another molecule of HBr to form 1-
bromcbutane and regenerate the bromine racikcal, allowing the chain

reaction to continue;

CH2.—CHBr—CH2-CH3+HBr—CH3 - CHBr—CH?2
— CH3+Br-







CLASS XI
BIOLOGY (044)
Maximum Marks: 70 Time: 3 hours

General Instructions;

(i) All questions are compulsory.

(i) The question paper has five sections and 33 questions.

(ii1) Section—A has 16 questions of 1 mark each; Section—B has 5 questions of 2 marks each; Section— C has
7 questions of 3 marks each; Section— D has 2 case-based questions of 4 marks each; and Section—E has 3
guestions of 5 marks each.

(iv) Thereisno overall choice. However, internal choices have been provided in some questions. A student
has to attempt only one of the alternatives in such questions.

(V) Wherever necessary, neat and properly labelled diagrams should be drawn.

SECTION A
1. The stage of meiosis which involves the splitting of centromere is
(8) Anaphase |
(b) Metaphase |
(c) Metaphase |
(d) Anaphase |

2. Match the following and choose the correct option:

Type of vascular bundle Found in
A Open, conjoint [ Roots of potato
B Closed, conjoint i Roots of grass
C Open, radia iii Stem of mustard
D Closed, radial v Stem of sugarcane

(@ A-iv, B-iii, C-ii, D-i
(b) A-iii, B-iv, C-i, D-ii
(©) A-i, B-ii, C-iv, D- iii
(d) A-ii, B-i, C-iii, D-iv

3. Which of the following pairs of plants has stamens with different lengths in their flower?
() Salvia and Sweet pea
(b) Mustard and Chinarose
(c) Salvia and Mustard
(d) Mustard and Lily

4. Which one of the following options gives the correct categorisation of animals according to the type
of nitrogenous wastes produced by them?

Ammonotelic Ureotelic Uricotelic
(@ | Aquatic amphibians Human, lizard Cockroach, crow
(b) | Aquatic amphibians Frog, horse Grasshopper, eagle
(c) | Aquatic amphibians Frog, human Bat, crocodile
(d) | Aquatic amphibians Horse, lizard Butterfly, sparrow




5. 70S and 80S ribosomes are found respectively in
(@) mitochondria and bacteria
(b) bacteriaand cytoplasm of human cell
(c) cytoplasm of plant cell and cytoplasm of human cell
(d) cytoplasm of human cell and mitochondria

6. Intheflow chart below, categorise the animals (A-C) based on the type of body cavity in the given
examples.

(&) A — Acoelomate; B — Pseudocoelomate; C — True coelomate
(b) A — Pseudocoelomate; B — Acoelomate; C — True coelomate
(c) A — True coelomate; B — Acoelomate; C — Pseudocoelomate
(d) A — Pseudocoelomate; B — True coelomate; C — Acoelomate

7. Carnivoraincludes:

(a) group of organisms belonging to related genera

(b) group of organisms belonging to related species

(c) group of organisms belonging to related families
(d) group of organisms which are similar in all features

8. Choosethe correct statement.
(a) Lichen isacomposite organism formed by the symbiotic association of an algae and a
protozoan.
(b) Paramecium and Plasmodium belong to the same kingdom as that of Penicillium.
(c) Nostoc and Anabaena are decomposers belonging to Kingdom Protista.
(d) Euglena belonging to Kingdom Protista acts like a predator of small organisms in the absence of
light.

9. Meiotic division in pteridophytes occurs
() During gamete formation
(b) After gamete formation
(c) During spore formation
(d) After spore formation



10. Observe the diagram given below. Parts labelled as A to E respectively indicate

(& A-llium, B- Ischium, C- Femur, D- Tibia, E- Fibula
(b) A-Ischium, B- Ilium, C- Humerus, D- Radius, E- Ulna
(c) A-llium, B- Ischium, C- Femur, D- Fibula, E- Tibia
(d) A-Ischium, B- Ilium, C- Femur, D- Tibia, E- Fibula

11.Which of the following regions of the brain is incorrectly paired with its function?

(&) Medullaoblongata- controls respiration and cardiovascular reflexes

(b) Limbic system- regulates sexual behaviour and expression of emotional reactions

(c) Hypothalamus- produces releasing hormones and regulates temperature, hunger and thirst
(d) Cerebellum- maintains posture, regulates intersensory association and communication

12.The condition of erythroblastosis foetalis occurs only when

(a) both father and mother are Rh-
(b) father is Rh- and mother is Rh+
(c) mother is Rh+ and foetus is Rh-
(d) mother is Rh- and foetus is Rh+

Question No. 13 to 16 consist of two statements — Assertion (A) and Reason (R). Answer these questions
selecting the appropriate option given below:

A. Both A and R aretrue and R isthe correct explanation of A.

B. Both A and R are true and R is not the correct explanation of A.

C. Aistruebut R isfalse.

D. A isfalse but R istrue.

13.Assertion: Body tissues obtain O from oxyhaemoglobin.
Reason: Dissociation of oxyhaemoglobin is caused by high O, and low CO; concentretion.

14. Assertion: Binomial nomenclature is system of providing name with two components.
Reason: The first component represents the specific epithet and the second component represents the
generic name.

15. Assertion: Trichomes may be branched or unbranched and soft or tiff.
Reason: Trichomes help in preventing water loss due to transpiration.

16. Assertion: Sunflower plant has long internodes with leaves far apart.
Reason: Sunflower produces sufficient amount of gibberellins during its growing period.



SECTION B

17. Differentiate between Spirogyra and Gelidium on the basis of:
(i) Pigment composition
(ii) Stored food

18. Complete the following table relating the protein with its function

Protein Function

@ Intercellular ground substance
Trypsin (b)

(0) Hormone
GLUT-4 (d)

19. State a difference between each of the following:
(i) Inspiratory capacity and expiratory capacity
(if) Cortical and juxtamedullary nephrons
OR
Compare the transmission of nerve impulse across motor end plate and chemical synapse.
20. Compare the structure of the causative agents of potato spindle tuber disease and tobacco mosaic
disease.

21. (a) Which of the following plants show photorespiration?
Cotton, Maize, Peanut, Sorghum
(b) Which enzyme can act as both a carboxylase and oxygenase?

SECTION C

22. ‘The axonal membrane is said to be polarised even at rest.” Explain.
23. Study the graph and answer the following questions:

f

Potential enerpy

>
Progress of reaction

(@) Whichamong X and Y shows activation energy in the presence of enzyme?
(b) How does the presence of enzymes affect the rate of reaction?
(c) Isthe reaction shown above exothermic or endothermic? On what basis did you conclude this?



24. Mention the stepsinvolved in the sexual reproduction in fungi.

25. (@) Why isdicot leaf called dorsiventral and monocot leaf isobilateral ?
(b) Identify the types of flowers A and B on the basis of the position of floral parts on thalamus.

26. Give reasons for the following:
(a) Teaplants are decapitated in tea gardens.
(b) Ethephon is applied on cucumber plants.
(c) Gibberellins are applied to apple trees.

27. Name the phylum in which the following structures are found. Write the functions of these structures.
(i) Water vascular system
(i) Radula
(iii) Parapodia
28. (a) Which organelles constitute the endomembrane system of a eukaryotic cell?
(b) Why are these considered as the endomembrane system?

SECTION D
Q.No 29 and 30 are case-based questions. Each question has subparts with internal choice in one subpart.

29. Anjali observed a flower and drew the following floral diagram. Based on the diagram, answer the
following questions:

(a) Identify the type of placentation shown.
(b) Which type of aestivation is shown in the calyx of the flower?

OR
Name the type of stamens on the basis of their attachment.

(c) Write the floral formulafor the given flower.



30. Given below isthe ECG of a person recorded for sx seconds. Examine it and answer the questions that
follow:

(&) Which tissue is responsible for the electrical activity of the heart?
(b) What doesthe P- wave represent?

OR
What doesthe T- wave represent?

(c) How isthe heart beat rate determined based on ECG? Calculate the heart beat rate of the individual
whose ECG is given above.

SECTION E

31. (a) Name the monomeric proteins which constitute the anisotropic band in a muscle fibre.
(b) Draw the structure of the filament which is responsible for shortening of the | band during muscle
contraction.
(c) Statetherole of the following in muscle contraction:
(i) Ca?
(i) ATP

OR

(8) Name the two iodothyronine hormones.
(b) Give adiagrammatic representation of the mechanism of action of iodothyronine hormones.
(c) If apregnant lady takes an iodine-deficient diet, how will it affect her and the developing foetus?

32. (a) Which pathway is common in both aerobic and anaerobic respiration in plants?
(b) Give the schematic representation of the above pathway.

OR
(&) Which photosynthetic pathway is common to both C3 and C4 plants? Mention the location of

occurrence of this pathway in both C3 and C4 plants.
(b) Give the schematic representation of the above pathway.



33. (a) ‘The events taking place during prophase are opposite to those taking place in telophase.” Justify.

(b) If atissue has at a given time 256 cells, how many cycles of mitosis had the original parental
single cell undergone?

OR
(a) Identify the mitotic and meiotic division stages depicted in the diagrams A, B and C. Give reason
in support of your answer.

(b) Statethe ploidy and number of chromosomes in daughter cells formed in A and B.



BIOLOGY (044) CLASS X1 SAMPLE PAPER

M ar king Scheme

(Marking scheme and Hints to solution)

Note: (Any other relevant answer not given here in but given by the candidate be also

suitably awarded)
Q.No. Value Points/ Key points Marks allotted to | Total
each value marks
point/key point

1 (d) Anaphase I 1 1

2 (b) A-iii, B-iv, C-i, D-ii 1 1

3 (c) Salvia and Mustard 1 1

4 | Ammonotelic Ureotelic Uricotelic 1 1

(b) | Aquatic amphibians | Frog, horse Grasshopper, eagle

5 (b) bacteria and cytoplasm of human cell 1 1

6 (b) A — Pseudocoel omate; B — Acoelomate; C — True coelomate | 1 1

7 (c) group of organisms belonging to related families 1 1

8 (d) Euglena belonging to Kingdom Protista acts like a predator of | 1 1

small organismsin the absence of light.

9 (c) During spore formation 1 1

10 (@) A-llium, B- Ischium, C- Femur, D- Tibia, E- Fibula 1 1

11 (d) Cerebellum- maintains posture, regulates intersensory 1 1

association and communication




12 (d) mother is Rh- and foetus is Rh+ 1
13 c.Aistruebut Risfase. 1
14 c.Aistruebut Risfase. 1
15 b. Both A and R are true and R is not the correct explanation of 1
A.
16 a Both A and R are true and R is the correct explanation of A. 1
17 Spirogyra- Pigment- chla,b Ys
Stored food- Starch 7
Yo
Gelidium- Pigment- phycoerythrin, chla,d U2
Stored food- Floridean starch
18 a. Collagen Yo
b. Enzyme Y2
c. Insulin (or any other protein hormone) 2
d. Enable glucose transport into cells &
19 (i) Definition/ any difference 1
(ii) Differencein vasarecta (Any one difference)
Differencein loop of Henle 1
OR
Difference
Motor end plate- Neuron and muscle
Chemical Synapse- Neuron and neuron 1
Similarity
Neurotransmitter/ Acetyl choline 1




20 Potato spindle —Causative agent - Viroid Yo
Tobaaco mosaic - Virus V2
Any one difference in structure 1
21 (a) Cotton and peanut Yo+ Yo
(b) RuBisCO 1
22 e Axonal membrane impermeable to Na" = High conc. | %
of Na' outside axon
*  More permeable to K™ == High conc. of K* inside Yo
axon
*  NaK pumps transfer 3 Na' outside for 2 K* inside Yo+ Ve
e Axon membraneis negatively charged on the inner Vot Y2
surface and positively charged on the outer surface.
Therefore, polarised
23 (a) X- Presence of enzyme 1
(b) by reducing activation energy 1
(c) Exothermic, energy of product less than that of substrate. Yot/
24 ® (a) Plasmogamy -Elaborate s
Yot
® .
(b) Karyogamy-Elaborate Lot
® (c) Meiosis—Elaborate
25 (a) Dorsiventral leaf- contain well defined dorsal and ventral | 1
sidesYmesophyl| differentiated into palisade and spongy
parenchyma
Isobilateral leaf- similar in appearance on both the
1

sides/Mesophyll is not differentiated into palisade and
spongy parenchyma.

(b) A - hypogynous

Y2




B- Epigynous

Ya

26 (a)Apical bud removed, lateral bud grows 12+
(b) promotes female flowers, increases yield Yotlfa
(c) Apple fruits elongates/shape improved Y2
fruits can be left on trees longer/ extending market period 172
27 i) Echinodermata- locomotion/ respiration/ food capture (any) Yot Vs
(if) Mollusca- feeding Yotifs
(iii) Annelida - locomotion Yo+l
28 (a) ER, Golgi complex, lysosomes and vacuoles. ¥ax 4
(b) Functions are coordinated. 1
29 (@) Axile. 1
b) Valvate OR Epipetalous 1
C) o=
© gql{'lﬁl Cis As Gy 2
30 (a) Nodal tissue/SA node 1
(b) Atrial excitation
OR
Ventricular repolarisation 1
(c) By counting no. of QRS complexesin the given time period. | 1
6 minutes - 12 QRS VA
60 minutes - 12 X 10= 120 QRS heart beat rate A
31 aMeromyosin 1

b. Thin filament (diagram)

Ys




Labelling: Troponin

Y2

Tropomyosin Y%
F actin &
c. Caions: binds to troponin subunit of actin filament, (eant
unmask active site for myosin
ATP: binds to myosin head, which forms cross bridge with Lotls
actin active site
OR
OR
a. Tetraiodothyronine/ Thyroxine, Triiodothyronine Yot/
b. Fig 19.5, Pg 249, NCERT Textbook Class XI 1% (diag.)
c. Hypothyroidism 15X 4 (abels)
-defective development & maturation of baby/stunted Zz ”
growth/ mental retardation/ low 1Q (any two) zv72
32 a. Glycolysis Ys
b. b. Fig12.1, Pg No 156, NCERT Text book Class e
Xl
Or
OR
a. Calvin Pathway
1
C3 - mesophyll cells
Y
C4 - Bundle sheath cells y
2
b. Fig11l. . 144, NCERT Textbook Class XI
'911.8, Pgno ’ SXIDOoK 1ass 3 (1 mark for each
step)
33 a.Prophase:
1. Chromosomal material condenses
2. Nucleolus, Golgi, ER disappear
3. Nuclear membrane begins to disappear.
Telophase:

1. Chromosome lose their identity
2. Nucleolus, Golgi, ER reform
3. Nuclear membrane reforms

b. 1- 2-4-8-16-32-64-128-256

1X3




8 divisions
OR
a.A- Anaphase of mitosis, Sister chromatids separate
B- Anaphase | of meiosi's, Homologous chromosomes separate
C- Anaphase Il of meiosis, Sister chromatids of dyad separate
b. A- 2n, 4 chromosomes

B - n, 2 chromosomes

OR

Yot/
Yot/
Yot/
Yot/

Yol




Sample Paper — 2024-25
Accountancy
Class — XI

Time allowed: 3 Hours Max. Marks: 80

General Instructions
1. Question Paper is divided into two parts. Part — A (56 Marks) and Part — B (24

Marks)

Both parts are compulsory

All parts of the question should be attempted at one place.

Write down the question number clearly before attempting the question
25% of the marks allotted to the question would be deducted for not using
correct format, narrations and working notes.

Nothing should be written on the Question paper

Scheme of choice

i 1 Mark — 7 questions (2 from unit 1, 4 from unit 2 and 1 from unit 3)

ii. 3 Mark — 2 questions (1 from unit 1 and 1 from unit 2)
iii. 4 Mark—1 question (1 from unit 2)
iv. 6 Mark— 2 questions (1 from unit 2 and 1 from unit 3)

uAwN

N o

Q.No. PART-A Mar
ks

1 IND-AS are issued by 1
a) Ministry of Commerce

b) Ministry of Finance

c) Reserve Bank of India

d) Institute of Chartered Accountants of India

2 If the supplier of goods and services and the place of supply are in two different states, which 1
of the following types of GST is levied?
a) IGST
b) SGST
c) CGST
d) Both CGST and SGST

3 Bank Reconciliation Statement is 1
a) Anaccount

b) Subsidiary book

c¢) Bank column of the Cash book

d) A statement made to reconcile Cash book and Pass book Balances

4A Which of the following will not be recorded in the books of accounts: 1
a) Introduction of capital by the proprietor
b) Purchase of goods on credit

c) Death of manager of the enterprise

d) Withdrawal of goods by the proprietor

Or

4B Which of the following is not qualitative characteristic of accounting information? 1
a) Understandability

b) Cash flow statement
c) Relevance

d) Reliability

4|Page
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5A In a financial year, Vinod had total sales of ¥ 7,40,000, out of which ¥ 5,60,000 were received
in cash. Total expenses paid by him were T 2,70,000, out of which ¥ 30,000 belongs to next
year and ¥ 10,000 are still outstanding. Determine Vinod’s income for the year as per Cash
Basis of Accounting:
a) 2,90,000
b) ¥ 3,80,000
c) 3,90,000
d) 4,70,000
Or
5B Which of the following is not the advantage of Accrual basis of accounting: 1
a) It is more scientific
b) It shows a complete picture of the financial transactions of the business
c) It reflects true profit or loss during the accounting period and, therefore, has
wide acceptability.
d) It is a simple basis of accounting
6 Match the following: 1
Column 1 Column 2
A. Revenue expenditure 1. Commodity to bought and sold
B. Increase in asset and increase in 2. Capital introduced by the proprietor
liability 3. Purchase of machinery on credit
C. Goods means 4. Repair expenses
D. Increase in asset and increase in
owners’ capital
Options:
a) A1,B2,C3,D4
b) A4,B3,C1,D2
c) A2,B3,C4,D1
d) A2,B1,C3,D4
7 Identify the source document from the given picture 1
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Options:
a) Cash memo
b) Pay-Inslip
c) Invoice
d) Receipt

5|Page




The words ‘To Balance b/d’ and ‘By Balance b/d’ are recorded in the Particulars Column at the

time of posting of

a)
b)
c)
d)

Compound entries
Adjusting entries
Opening entries
Closing entries

Debit means

a)
b)
c)
d)

An increase in asset

An increase in liability

An increase in Proprietors equity
Decrease in asset

10

Accrued commission is

a)
b)
c)
d)

Liability
Asset
Expense
Income

11

Imprest amount 310,000. What will be the amount of reimbursement if the following expenses
were incurred by the petty cashier during the month.
Wages 32,900, refreshment 2,100, repairs 31,000, general expenses 3800

a)
b)
c)
d)

32,200
36,800
5,000
36,000

12A

Assertion (A): Cash discount allowed is an expense and is shown separately in the books of
accounts
Reason (R): Cash discount is allowed on timely receipt of due amount and thus is an indirect
expense of the firm

Which of the following is correct?

a)
b)
c)
d)

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R is not the correct explanation of A
A'is True but R is False

A'is False but R is True

Or

12 B

Assertion (A): Commission received is an income for the firm and thus has a credit balance
Reason (R): Commission receivable a/c is an asset a/c and thus has a credit balance.
Which of the following is correct?

a)
b)
c)
d)

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R is not the correct explanation of A
Ais True but R is False

Ais False but Ris True

13A

A machinery which costs Rs. 2,00,000 is depreciated at 25% per year using the Written Down
Value Method. At the end of three years, it will have a net book value of

a)
b)
c)
d)

Rs. 1,50,000.
Rs. 84,375.

Rs. 1,12,500
Rs. 1,00,000.
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Or

13B The term amortisation is used to write off 1
a) Fixed Assets.

b) Intangible Assets.
c) Tangible Assets.
d) Wasting Assets.

14 A Assertion (A): In case of Sales return, the firm receives a debit note 1
Reason (R): Because the customer is debiting firm’s a/c with the value of goods returned
Which of the following is correct?

a) Both A andR are correct and R is the correct explanation of A

b) Both A and R are correct but R is not the correct explanation of A
c) AisTrue but R is False

d) Ais False but R is True

Or

148 Paid to Jigyasa 311,500 in full settlement of 12,000 posting will be made in Jigyasa’s a/c 1
a) 12,000 debit side

b) 12,000 on credit side
c) 311,500 on debit side
d) 11,500 on credit side

15A Purchase of Office furniture for ¥5,000 was debited to the general expenses a/c. It is 1
a) Error of Omission
b) Error of Commission
c) Error of Principle
d) Compensating Error

Or

15 B Sales Book is totalled as 50,000 instead of ¥5,00,000. It is 1
a) Error of Omission
b) Error of Commission
c) Error of Principle
d) Compensating Error

16 A Mr. Nirbhay started business for buying and selling of Readymade garments with ¥8,00,000 as | 3
initial investment. Out of this, he paid ¥4,00,000 for the purchase of garments and ¥50,000 for
furniture and 350,000 for computers, the remaining amount was deposited in the bank. He
sold some of the ladies and kids garments for ¥3,00,000 (Cash) and some garments for
%1,50,000 to Mr. Utsav
He bought men’s garments of ¥2,00,000 from Mr. Lakshay. Electricity bill ¥7,000 and
telephone bill 3,000 is paid. Nirbhay gifted men’s garments of 32,000 to his brother on his
birthday. He took out ¥5,000 for his domestic use from bank.
Calculate

1. Amount of Fixed assets

2. ldentify the creditor and state the amount payable to him

3. Calculate ‘Expenses’

Or

168B Mr. Nirbhay started business for buying and selling of Readymade garments with ¥8,00,000 as | 3
initial investment. Out of this, he paid ¥4,00,000 for the purchase of garments and 350,000 for
furniture and 50,000 for computers, the remaining amount was deposited in the bank. He
sold some of the ladies and kids garments for ¥3,00,000 (Cash) and some garments for
%1,50,000 to Mr. Utsav
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He bought men’s garments of ¥2,00,000 from Mr. Lakshay. Electricity bill ¥7,000 and
telephone bill 3,000 is paid. Nirbhay gifted men’s garments of 32,000 to his brother on his
birthday. He took out ¥5,000 for his domestic use from bank.
Calculate

1. Total ‘Purchases’

2. ldentify the debtors and the amount receivable

3. Calculate ‘Drawings’

17 A Prepare a suspense account for the following errors : 3
(a) Credit purchases from Rohan 9,000 were posted to the debit of Gobind as ¥10,000.
(b) Goods returned to Rakesh 34,000 were posted to the credit of Naresh as ¥3,000.

(c) Cash sales 32,000 were posted to commission account as 3200.

Or

178 Rectify the following errors : 3

1. Credit sales to Gopal 310,000 were recorded in Purchases Book. However, Gopal’s
account was correctly debited.

2. A sum of 800 written off as depreciation on Machinery, were not posted to
Depreciation A/c.

3. Payment of ¥500 to Mohan and 3600 to Sohan was made but Mohan was debited with
600 and Sohan with ¥500.

18 Show the effect of the following transactions on the Accounting Equation of Nysha 3
1. The following balances appeared in the books of Ankur on 1/4/2024
Cash -320,000, Bank 30,000, Stock 310,000, Sunil (Dr.) 15,000 and Shekhar (Cr.)
315,000
2. Payment made through cheque in full settlement of account 314,800 to the creditor
3. Sale of goods on credit to Manoj costing ¥5,000 at a profit of 60%

19 Prepare the correct Trial Balance from the following trial balance in which there are certain 3
mistakes.
Books of Nandini
Trial Balance
As at 31/3/2024
Account Head Debit Balance Credit Balance
Adjusted Purchases 1,50,000
Closing Stock 40,000
Debtors 60,000
Creditors 30,000
Fixed assets 50,000
Opening Stock 60,000
Expenses 20,000
Sales 2,00,000
Capital 90,000
3,50,000 3,50,000
20 Identify the types of Reserves from the following: 3

1. Dividend equalization reserve

Reserve for meeting any unforeseen contingencies
Workmen compensation reserve

Gain on sale of Fixed assets

Reserve created by charging excessive depreciation
Profit/Gain earned on acquisition of another business/entity

ok wnN
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21 Identify and explain the Accounting Principles/Concepts/Conventions followed or violated in the | 4
following situations:

1. Amar Ltd has a production unit of mobiles. It supplied mobiles to Sagar (a retailer) on credit
for ¥3,00,000. Sagar became insolvent and there is every chance of not recovering the
money in future. Amar Ltd provides for this loss in the books of accounts.

2. Sunil is running a stationery business under the name ‘Rainbow Stationers’. It invested
350,000 as initial investment. It purchased stationery for 330,000 and deposited rest of
the money in bank. Sunil withdraws 310,000 for his domestic use and recorded it as
business expenses.

22 A Prepare Bank Reconciliation Statement of Ram as on January, 2024: 4
(i) Debit balance as per Bank Pass Book as on the date is I 41,000.

(ii) Cheque of T 15,600 were drawn on 27 January, 2024. Out of which cheques for ¥ 11,000
were encashed up to January, 2024

(iii) A cheque for X 1,000 was returned dishonored by the bank and was debited in the pass
book only.

(iv) A Wrong debit of ¥ 800 has been given by the bank in the bank pass book.

Or

22 8B From the following information provided by Shyam, Prepare Bank Reconciliation Statementas | 4
on 30th November, 2023:

(i) Credit balance as per Bank Cash Book as on the date is ¥ 45,000.

(ii) Cheque amounted to ¥ 60,000 sent to bank for collection, which though entered in the cash
book have not credited by the bank.

(i) Wrong credit for ¥ 10,000 was given by bank on 29th November and reversed it on 10%"
December, 2023

(iv) A cheque for ¥ 7,500 drawn on his savings account has been shown as drawn on his
current account in Cash Book

23 On 1st April, 2021, Veera Ltd. purchased a machinery for Rs.2,50,000 and spent Rs.50,000 on 6
its installation. On 1st July, 2023, %rd of machinery purchased on 1st April, 2021 was sold for

Rs. 15,000 and a new machinery at the cost of Rs.2,00,000 was purchased on the same date.
The company has adopted the method of providing depreciation @ 15% p.a. on straight line
method.

Show the machinery account, provision for depreciation account and machinery disposal
account for three years ended on 31st March, 2022 to 31st March, 2024.

24 Record the following transactions in the Cash book of ‘Dev Traders’ (Journal proper is also 6
required)

2024

July 1 - Cash in hand 31,200 and Overdraft at bank 37,400

July 2 — Purchased goods on credit from Garvit of list price 315,000 less TD 20% and CGST and
SGST @6% each

July 5 — Settled the account of Garvit by paying cash 313,000

July 7 — Cashed a cheque for 37,500

July 8 — Received from Anika on behalf of Bhavya 32,200

July 10 — Interest debited by bank 3650

July 15 — Deposited with the bank the entire balance after retaining I5000 at office
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25A Give the journal entries corresponding to the narration given below in the books of Siya : 6

Date Particulars L. | Amount | Amount
F. Dr. Cr.
2024 3] 3
April 3 Dr.
To
To

(Goods of the list price of Rs.8,000 purchased at 20%
Trade discount and 5% Cash discount)

April 8 Dr.
To
(Goods costing Rs. 15,000 sold at a profit of 33% % on
cost)
April 10 Dr.
To
(Goods costing Rs.4,000 destroyed by fire)
April 16
(Plant purchased for Rs. 1,00,000 and installation
charges paid Rs.2,000)
April 20 |Bank A/c Dr. 3,000
A/c Dr.
To
(40 paise per rupee received from the estate
of Mohan on his insolvency)
April 30 Dr.
To
To
(Salary paid Rs.40,000 and due Rs. 10,000)
Or
258B From the following transactions prepare Sales Return Book of M/s Keshav & Co., Kolkata (West | 6

Bengal) assuming CGST @ 9% and SGST @ 9% and post it into the Ledger (Sita Ram, Hind Qil
Co. and Gujarat Gas Co.) :—

2024
June 3 Goods returned by Sita Ram. Kolkata Rs.80,000. These goods were sold to him at
15% discount.

12 Defective goods returned by Hind Oil Co., Hyderabad (Telangana) for Rs.30,000.
26 Allowances claimed by Gujarat Gas Co., Ahmedabad on Account of Mistake in
invoice Rs.20,000.

Part-B
26 Arrange the following Assets in the order of ‘Liquidity’ 1
1. Debtors
2. Stock

3. Short term investment
4. Cash at Bank
Options:
a) 4,3,1,2
b) 1,2,3,4
¢ 4321
d) 3,412

10| Page




27

Calculate Sales form the following:
l. Gross Profit is 25% on Sales
Il. Cost of Goods Sold is ¥ 3,00,000
Options
a) 32,25,000
b) 3,00,000
c) 33,75,000
d) 4,00,000

28

Single entry system is usually adopted by?
a) Small proprietary or partnership firms
b) Joint stock companies
c) Banks
d) Co-operative societies

29

Gross Profit = 350,000

Indirect expenses = 335,000

Direct expenses = 35,000

The Journal entry for Net Profit will be: (Choose the correct option)

S.No. Particulars L.F.

Debit

Credit

i

a Profit & Loss a/c Dr
To Net Profit

15,000

15,000

b Net Profit Dr
To Capital a/c

10,000

10,000

C Profit & Loss a/c Dr
To Capital a/c

15,000

15,000

d Profit & Loss a/c Dr
To Capital a/c

10,000

10,000

30A

Differentiate between Double Entry System and Single Entry System on the basis of ‘Trial | 1

Balance’

Or

308B

Differentiate between Double Entry System and Single Entry System on the basis of | 1

‘Authenticity’

31

In a burglary at the godown of Tapan on the night of 14th July, 2024, part of the stock was

stolen.

From the following particulars, find out the estimated value of loss of stock by theft:
4

Stock on 1st April, 2024 60,000

Purchases from 1st April to 14th July, 2024 4,10,000

Sales from 1st April to 14th July, 2024 6,00,000

Stock remaining after burglary 12,000

The normal rate of gross profit for his business is 30% of selling price.
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32 Following is the extract from the Trial Balance of a firm as at 31st March, 2024:
TRIAL BALANCE
As at 31st March, 2024
Heads of Accounts L.F. Dr.R) cr.®)
Sales 5,00,000
Opening Stock 30,000
Advertising expenses 5,000
Discount allowed 2,000
Loss by accident 3,000
Interest on long term debt 2,000
Commission received 4,500
Gain on sale of Land 10,000
Additional Information:
(i) Gross Profit = 25% of Cost of Goods sold
(ii) Closing Stock = ¥50,000
From the above information calculate the following:
1. Gross profit
2. Operating Profit
3. Net Profit
33 Anika does not keep her records in systematic manner. She gives you the following
information:
Particulars 1/4/23 31/3/24
4 4
Cash in hand 8,000 35,000
Cash at Bank 15,000 25,000
Debtors 1,35,000 1,65,000
Stock in trade 3,52,000 3,45,000
Office equipment 50,000 50,000
Creditors 2,50,000 2,10,000
Furniture 40,000 40,000
You are given the following additional information:
» Anika withdrew 36,000 per month during the year
» She sold her personal investments of 30,000 at 105% and brought that money into
the business
» Write off depreciation on furniture and office equipment @10% p.a. each
Calculate the profit made during the year ended 31/3/24 using ‘Statement of Affairs’ Method.
34 A From the following balances taken from the books of Mehul, prepare Trading and Profit &

Loss a/c for the year ended 31/3/2024
Trial Balance as at 31/3/2024

Debit balances 4 Credit balances 04
Household expenses 20,000 | Capital 5,00,000
Opening stock 45,000 | Sales 8,10,000
Purchases 2,15,000 | Provision for doubtful debts 12,000
Manufacturing wages 60,000 | Commission received 8,000
Fuel and power 1,25,500 | Bills payable 15,000
Salaries 1,32,000 | Creditors 70,000
Bad debts 10,000 | Interest on loan to Rishabh 9,000
Bills receivable 12,000 | Manufacturing wages
Debtors 91,000 | outstanding 25,000
Carriage inwards 9,500
Rent 44,000




Cash at Bank 30,000
Insurance 12,000
Salary paid in advance 2,000
Investments 1,00,000
Machinery 2,00,000
Furniture 1,00,000
10% Loan to Rishabh 2,00,000
Advertisement Expenses 35,000
Discount allowed 6,000
14,49,000 14,49,000

Adjustments:

I.  Closing stock was valued at cost ¥ 1,40,000 (Market value ¥ 1,35,000)

Il. Unexpired insurance I 2,000
M. Rent for the month of March 2024 were still unpaid.

V. Depreciate Machinery by 10% p.a. and Furniture by 20% p.a.
V. 1/4% of the commission received is related to 2024-25

Or

348B

From the following balances taken from the books of Ambika, prepare Profit & Loss a/c and

Balance Sheet for the year ended 31/3/2024
Trial Balance as at 31/3/2024

Debit balances 4 Credit balances 4
Machinery 40,000 | Capital 2,00,000
Purchase 4,00,000 | Discount Received 8,000
Debtors 4,00,000 | Sales 8,42,000
Salaries (1/4/23 —31/1/24) 60,000 | Purchase Return 20,000
Wages 60,000 | Creditors 2,30,000
Rent 80,000 | Provision for D/D 12,000
Sales return 20,000 | Provision for Depreciation
Bad Debts 24,000 | on Machinery 4,000
Drawings 18,000
Printing and Stationery 16,000
Insurance 12,000
Opening Stock 1,00,000
Office Expenses 36,000
Cash at Bank 20,000
Furniture 30,000

13,16,000 13,16,000
Adjustments:

l. Gross Profit ¥ 4,22,000

Il. Depreciate Machinery @10% p.a. Fixed instalment Method
1. Depreciate Furniture @20% p.a.
V. Write off further bade debts 10,000 and create a provision for doubtful dets @10% 6
V.  Goods given as charity ¥ 10,000
VI.  Closing Stock ¥ 1,30,000 (Market value ¥1,50,000)
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Sample Paper — 2024-25 Value | Mar
Accountancy points | ks
Class = XI
Solution & Marking Scheme
Q.No. PART -A
1 d. Institute of Chartered Accountants of India 1
2 b. IGST 1
3 d. A statement made to reconcile Cash book and Pass book Balances 1
4 A c. Death of a manager 1
Or
4B c. Cash Flow Statement 1
5A a. 32,90,000 1
Or
5B d. Itis asimple basis of accounting
1
6 b. A4,6B3,C1,D2 1
7 b. Pay-In Slip 1
8 c. Opening entries 1
9 a. Anincrease in asset 1
10 b. Asset 1
11 b. 36,800 1
12 A a. Both Aand R are correct and R is the correct explanation of A 1
Or
12B | c. Aistrue but Ris False 1
13 A | b.384,375 1
Or
13 B | b. Intangible Assets 1
14 A a. Both Aand R are correct and R is the correct explanation of A 1
Or
14 B a. 12,000 debit side 1
15A | c. Error of Principle 1
Or
158 b. Error of Commission 1
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16 A 1. Fixed assts = Furniture + Computers = 50,000 + 50,000 = 1,00,000 1 3
2. Lakshay is the creditor and the amount payable is ¥2,00,000 Yat¥s
3. Expenses = electricity bill + telephone bill = 7,000 + 3,000 = 10,000 1
Or
16 B 1. Purchase =4%,00,000 +32,00,000 =%6,00,000 1 3
2. Debtor is Utsav and the amount receivable is ¥1,50,000 YtYs
3. Drawings =32,000 + 35,000 = 37,000 1
17 A Dr. SUSPENSE ACCOUNT Cr. % 3
Particulars J.F. 4 Particulars J.F. T each
To Rohan % 10,000y Difference in Trial %
To Gobind % 10,000/Balance (Balancing Figure) 14,800
To Sales A/cls 1,800By Rakesh % 4,000
By Naresh % 3,000
21,800 21,800
W. NOTES:
JOURNAL
Date Particulars L.F. Dr. Cr.
®) ®)
(a) Suspense A/c Dr. 19,000
To Rohan 9,000
To Gobind 10,000
(Credit purchases from Rohan Rs.9,000 wrongly debited
to Gobind as Rs. 10,000, now- rectified)
(b) Rakesh Dr. 4,000
Naresh Dr, 3,000
To Suspense A/c 7,000
(Goods returned to Rakesh Rs.4,000 wrongly credited to
Naresh as Rs.3,000, now rectified)
(c) Commission A/c Dr. 200
Suspense A/c Dr. 1,800
To Sales A/c 2,000
(Cash sales Rs.2,000 wrongly credited to
commission account as Rs.200, now rectified)
Or
178B Rectifying Journal entries 3
Date Particulars L.F. Dr. Cr.
®) ®)
(1) Suspense A/c Dr. 20,000 1
To Sales A/c 10,000
To Purchases A/c 10,000
(Credit sales to Gopal wrongly recorded in purchases
book. However, Gopal’s account was correctly debited)
(2) Depreciation A/c Dr. 800
To Suspense A/c 800| | 1
(The amount of depreciation w/o not posted to
Depreciation A/c)
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(3) Sohan Dr. 100 1
To Mohan 100
(Compensating error now rectified)
18 Accounting Equation of Nysha
S.No | Transactions Assets = Liabilities + Capital
Cash + Stock + Debtor + Bank = Shekhar + Capital
1, Balances brought 20,000 10,000 15,000 30,000 15,000 60,000
forward 1
2| Payment made (14,800) (15,000) 200
through cheque in 1
full settlement of
account 314,800 to
the creditor
New Equation 20,000 10,000 15,000 15,200 60,200
3, Sale of goods on (5,000) 8,000 3,000
credit to Manoj 1
costing 5,000 at a 3
profit of 60%
New Equation 20,000 5,000 23,000 15,200 63,200
Total 63,200 63,200
19 Books of Nandini % 3
Trial Balance each
As at 31/3/2024
Account Head Debit Balance Credit Balance
Adjusted Purchases 1,50,000
Closing Stock* % 40,000
Debtors* % 60,000
Creditors 30,000
Fixed assets 50,000
Expenses* % 20,000
Sales 2,00,000
Capital* % 90,000
Total* ¥ 3,20,000 3,20,000
Note: Opening stock will not appear in the Trial Balance as the purchases are given as
“Adjusted Purchases”*
20 Types of reserves % 3
1. Specific reserve each
2. General reserve
3. Specific reserve
4. Capital reserve
5. Secretreserve
6. Capital reserve
21 Accounting Principles/Concepts/Conventions followed or violated
1. Prudence is followed — Due explanation is required 2
2. Accounting Entity is violated — Due explanation is required 2 4
(1 for identification and 1 for explanation)
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22 A Books of Ram
Bank Reconciliation Statement as on Jan.31, 2024
Particulars Plus items (X) | Minus items (X) | Marks 4
Debit balance as per Pass book - 41,000 | %
Cheque issued but not yet cleared 4,600 | 1
(15,600-11,000)
Cheque dishonoured by bank 1,000 1
A Wrong debit by the bank in Pass Book 800 1
Cr. Balance as per Cash book 43,800 %
45,600 45,600
Or
22B Books of Shyam
Bank Reconciliation Statement as on Nov. 30, 2023
Particulars Plus Minus Marks
items (X) items 4
(X)
Overdraft as per Cash book - 45,000 | %
Cheque paid into the bank but not yet credited - 60,000 | 1
Wrong credit by Bank. 10,000 1
Cheque drawn on his savings account has been 7,500 1
shown as drawn on his current account.
Dr. Balance as per Pass book 87,500 %
1,05,000 | 1,05,000
23 Books of Veera Ltd. 6
Dr. MACHINERY ACCOUNT Cr.
Date Particulars Amount Date Particulars Amount
2021 32022 3| 1%
April1  [ToBank A/c 2,50,000
April 1 [To Bank A/c
(Installation Exp.) 50,000Mar. 31 |By Balance c/d 3,00,000,
3,00,000 3,00,000
2022 2023
April 1  [To Balance b/d 3,00,000[Mar. 31 [By Balance c/d 3,00,000
3,00,000 3,00,000
2023 2023
April 1 [To Balance b/d 3,00,000uly 1 By Machinery
July 1 To Bank A/c 2,00,000 Disposal A/c 1,00,000
2024
Mar. 31 |By Balance c/d 4,00,000
5,00,000 5,00,000
Dr PROVISION FOR DEPRECIATION ACCOUNT Cr.
Date Particulars Amount Date Particulars Amount
2022 %2022 3
Mar. 31 [To Balance ¢/d 45,000Mar. 31 [By Depreciation A/c 45,000 |
45,000 45,000 | 12
2023 To Balance c/d 90,000[2022 By Balance b/d 45,000
Mar. 31 April 1
2023 By Depreciation A/c 45,000
Mar. 31
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90,000 90,000

2023 2023

July 1 'To Machinery Disposal 33,750April1  |By Balance b/d 90,000

A/c
July 1 By Depreciation A/c 3,750
2024 2024
Mar. 31 [To Balance c¢/d 1,12,500Mar. 31 |By Depreciation A/c 52,500
1,46,250 1,46,250

Dr. MACHINERY DISPOSAL ACCOUNT Cr.

Date Particulars Amount Date Particulars Amount
2023 32023 3
July 1 To Machinery A/c 1,00,0000uly 1 By Provision for

Depreciation A/c 33,750
July 1 By Bank A/c 15,000 1%
July 1 By Statement of
Profit & Loss (Loss on 51,250
sale)
1,00,000 1,00,000

Working Notes :

(1) Calculation of loss on sale of machinery : 3
Original Cost of 3rd machinery as on 1st April, 2021 1,00,000
Less : Depreciation @ 15% p.a. for 2 years 3 months %
on original cost method 33,750
Book Value as on 1st July, 2023 66,250
Less : Sale proceeds 15,000
Loss on sale 51,250

(2) Depreciation on unsold machinery for the year 2023-24 :

On old machinery of Rs.2,00,000 for 1 year 30,000
On new machinery of Rs.2,00,000 for 9 months 22,500
52,500
Books of Dev Traders
Dr. CASH BOOK (DOUBLE COLUMN) Cr.
Date | Particulars | L.F. Cash Bank Date Particulars L.F. Cash Bank
(%) R) ®) ®)
2024
July1l | To Balance 31,200 July 1 By Balance b/d 7,400 1_/2 x8
b/d -
July 7 | To Bank C 7,500 July 5 By Garvit 13,000
a/c 6
July 8 | To Bhavya 2,200 July 7 By Cash a/c C 7,500
July To Cash C 22,900 | July 10 | By Interest a/c 650
15 a/c
July 15 | By Bank a/c C 22,900
July 15 | By Balance c/d 5,000 7,350
40,900 | 22,900 40,900 | 22,900
July To Balance 5,000 7,350
16 b/d
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Journal Proper
Date Particulars L.F Debit Credit
3 4
2024 | Purchase a/c Dr 12,000
July | Input CGST a/c Dr 720 1
3 Input SGST a/c Dr 720
To Garvit 13,440
(Goods purchased from Garvit)
July | Garvit Dr 440
5 To Discount received a/c 440 1
(Discount received from Garvit)
25A Books of Siya
Journal
Date Particulars L | Amount | Amount 6
F. Dr. Cr.
2024 3 3
April 3 Purchases A/c Dr. 6,400 1
To Cash A/c 6,080
To Discount Received A/c 320
(Goods for Rs.8,000 purchased at 20% trade discount
and 5% cash discount)
April 8 Cash A/c Dr. 20,000
To Sales A/c 20,000
(Goods costing Rs. 15,000 sold at a profit of 33'A % on 1
cost)
April 10  |Loss by Fire A/c Dr. 4,000
To Purchases A/c 4,000 | 1
(Goods destroyed by fire)
April 16  |Plant A/c Dr. 1,02,000
To Cash A/c 1,02,000
(Plant purchased for Rs. 1,00,000 and installation 1
charges paid Rs.2,000)
April 20 Bank A/c Dr. 3,000
Bad debts A/c Dr. 4,500 1
To Mohan 7,500
(The receipt of 40 paise per rupee)
April 30  |Salary A/c Dr. 50,000
To Cash A/c 40,000
To Outstanding Salary A/c 10,000 1
(Salary paid and due)
Or
258B Books of Keshav and Co.
Sales return book
Date Particulars Credit LF Details Sales Output Output | Output Total 6
note return CGST SGST IGST
no.
2024 Sita Ram Kolkata 80,000
June 3 Less: TD @15% 12,000
68,000
Add: CGST @9% 6,120 1
Add SGST @9% 6,120
80,240 68,000 6,120 | 6,120 80,240
June Hind Oil Co.
12 Hyderabad 30,000
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Add: IGST @18% 5,400 1
35,400 30,000 5,400 35,400
June Gujarat Gas Co.
26 Ahmedabad 20,000
Add: IGST @18% 3,600 1
23,600 20,000 3,600 23,600
1,18,000 6,120 | 6,120 | 9,000 | 1,39,240
LEDGER POSTING
Dr. SITA RAM Cr.
Date Particulars J.F. | Amount | Date Particulars J.F. | Amount
Rs.2024 Rs.
June 3 By Sales Return
A/c 68,000 | 1
June 3 By Output CGST
Ale 6,120
June 3 By Output SGST
A/c 6,120
Dr. HIND OIL COMPANY Cr.
Date Particulars J.F. | Amount | Date Particulars J.F. | Amount
Rs.2024 Rs.
June 12 [By Sales Return
A/c 30,000
Jjune 12 By Output IGST 1
A/c 5,400
Dr. GUJARAT GAS COMPANY Cr.
Date Particulars J.F. | Amount | Date Particulars J.F. | Amount
Rs. 2024 Rs.
June 26 |By Sales Return
A/c 20,000
June 26 |By Output IGST 1
A/c 3,600
PART -B
26 a. 43,12 1 1
27 d) 4,00,000 1 1
28 a) Small proprietary and Partnership firms 1 1
29 The correct option is: 1 1
S.No. Particulars L.F. Debit Credit
3 3
c Profit & Loss a/c Dr 15,000
To Capital a/c 15,000
30A Difference between Double Entry System and Single Entry System 1
Basis Double Entry System Single Entry System
Trial Balance  [Trial Balance is prepared and thus  [Trial Balance cannot be prepared and 1
the arithmetical accuracy of the thus the arithmetical accuracy of the
books can be verified books cannot be verified
Or
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30B Difference between Double Entry System and Single-Entry System
Basis Double Entry System Single Entry System
Authenticity This system is considered authentic [This system is not considered 1
by Court authentic by Court
31 Books of Tapan
TRADING ACCOUNT
Dr. for the period 1st April to 14th July, 2024 Cr.
Particulars 3 Particulars 3
To Opening Stock 60,000By Sales 6,00,000,
To Purchases 4,10,000By Closing Stock (1)
To Gross Profit @ 30% on sales 1,80,000|(Balancing Figure) 50,000 | 2
(1) 6,50,000 6,50,000
4
Stock on 14th July, 2024, as calculated above 50,000
Less : Stock remaining after burglary 12,000
Value of Stock stolen (1) 38,000 1
32 Gross profit = 12755 x Sales
Gross Profit = ¥5,00,000 x % =31,00,000 !
Operating Profit = Gross Profit — Operating expenses (Advertisement + Discount allowed) + 1%
Operating incomes (Commission received)
Operating Profit = ¥1,00,000 — (35,000 + ¥2,000) + 34,500 =397,500
1%
Net Profit = Operating Profit — Non-Operating expenses (Loss by accident + Interest on long
term dent) + Non-Operating Incomes (Gain on sale of Land)
Net Profit =397,500 — (33,000 + %2,000) + 310,000 =31,02,500
33 Books of Anika
Statement of Affairs
As at 1/4/23
Liabilities Amount Assets Amount
i 3
Creditors 2,50,000 | Cash in hand 8,000
Capital (Balancing fig.L(%) 3,50,000 | Cash at bank 15,000 1
Debtors (%) 1,35,000
Stock in trade 3,52,000
Office equipmen 50,000
Furniture 40,000
6,00,000 6,00,000
2
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Statement of Affairs

As at 31/3/24
Liabilities Amount Assets Amount
4 4
Creditors (%) 2,10,000 | Cashin hand 35,000
Capital (Balancing fig.) 4,41,000 | Cash at bank (%) 25,000
Debtors 1,65,000
Stock in trade 3,45,000
Office equipme 50,000
Less: Depreciation  (5,000) | (%4)45,000
Furniture 40,000
Less: Depreciation  (4,000) (14)36,000
6,51,000 6,51,000 3
Statement of Profit and Loss
For the year ended 31/3/24
Particulars Amount Marks
s
Capital as at 31/3/24 4,41,000 | %
Less: Additional capital (30,000 x 105%) (31,500) | 1
Add: Drawings 72,000 | %
Less: Capital as at 1/4/23 (3,50,000) | %
= Net Profit 1,31,500 | %
34 A Books of Mehul
Trading and Profit & Loss a/c
For the year ended 31/3/2024
Dr. Cr.
Particulars 3 Particulars 3
To Opening stock 45,000 | By Sales 8,10,000
To Purchase 2,15,000 | By Closing Stock (%) 1,35,000
To Manufacturing wages (1) 60,000 (2%)
To Fuel and Power 1,25,500
To Carriage 9,500
To Gross Profit ¢/d (1) 4,90,000
9,45,000 9,45,000
To Insurance 12,000 By Gross Profit b/d 4,90,000
Less: Prepaid Ins. (2,000) (%4) 10,000 | By Commission rec. 8,000
To Rent 44,000 Less: Advance rec.  (2,000) () 6,000
Add: Outstanding rent 4,000 (5) 48,000 | By Interest on Loan 9,000
To Depreciation on machine 20,000 | Add: Accrued interest11,000 (%4) 20,000
To Depreciation on Furnitur (%) 20,000 | By Provision for bad debt
To Salary [ 1,32,000 12,000 (3%)
To Discount allowed 6,000 | Less: Bad debt (10,000) () 2,000
To Advertisement exp. 35,000
To Net Profit () 2,47,000
5,18,000 5,18,000

Working note:

Rent for full year = 44,000 x % = 48,000
Outstanding Rent = 48,000 — 44,000 = 4,000

Or
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34B

Books of Ambika
Profit & Loss a/c

For the year ended 31/3/2024

Dr. Cr.
Particulars 4 Particulars 4
To Depreciation on Mach. (%4)4,000 | By Gross Profit b/d 4,22,000
To Depreciation on Furniture (£)6,000 | By Discount received [ (%) 8,000
To Bad debt 24,000
Add: Further BD 10,000
Add: New Prov. 39,000
Less: Old Prov. (12,000) (»4)61,000
To Charity 10,000
To Salaries 60,000
Add: O/S Salary 12,000 (»4)72,000
To Rent 80,000
To Printing and Stationery(%) 16,000
To Insurance 12,000
To Office Expenses 36,000
To Net Profit (%) 1,33,000
4,30,000 4,30,000
Balance Sheet
As at 31/3/2024
Liabilities 4 Assets 4
Prov. For Dep. Mach. 4,000 Machinery 40,000
Add: Dep. On Mach. 4,000 (1£)8,000 | Furniture 30,000
Outstanding Salary (%4)12,000 | Less: Depreciation (6,000) (%4)24,000
Capital 2,00,000 Debtors 4,00,000
Less: Drawings  (18,000) Less: Bad debt (10,000)
Add: Net Profit 1,33,000 (%4)3,15,000 | Less: Prov. For DD (39,000) | (})3,51,000
Creditors 2,30,000 | Stock 1,30,000
Cash at bank 20,000
5,65,000 5,65,000

Working note:

Salary for full year = 60,000 x % = 72,000

Outstanding Salary = 72,000 — 60,000 = 12,000

(3%)

(2%)
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CLASS-XI
ECONOMICS (030)
Sample Paper (2024-25)

Time allowed: 3hours Maximum Marks : 80

General Instructions:

1.

w

This question paper contains two sections:

Section A — Statistics (40)

Section B -- Micro Economics (40)

Marks for questions are indicated against each question.

Question Nos.1-10 and 18-27 are MCQ carrying 1 mark each.
Question Nos. 11-12 and 28-29 are short answer questions carrying 3
marks each and are to be answered in 60 -80 words each.

Question Nos. 13-15 and 30-32 are also short answer questions
carrying 4 marks each and are to be answered in 80-100 words each.
Question Nos. 16-17 and 33-34 are long answer questions carrying 6
marks each and are to be in 100-150 words.

Word limit is to be followed only for theory questions.

Section -A (Statistics)

——————————— is a true statement for expressing Loss of information. (1)
When the classification of data does not present the details which are
available in organised data.

When the classification of data does not present the details which are
available in raw data.

When the classification of data does not present the details which are
available in secondary data.

. When the classification of data does not present the details which are

available in time series data.

Under exclusive method, (1)

A.

B.
C.
D.

The upper class limit of a class is excluded in the class interval.

The upper class limit of a class is included in the class interval.

The lower class limit of a class is excluded in the class interval.

The lower & the upper class limits of a class are included in the class
interval.



3.

Identify the statement which is not false :
A. Statistics deals with individuals.

B. Statistics are true only on an average.

C . Statistics deals with qualitative statements only.

D. Statistics does not help in condensing mass data.

--------------- is a positional average. (1)
A. Arithmetic mean

B. Arithmetic mean & mode

C. Arithmetic mean & median

D. Median

5. Read the following statements carefully:

Statement 1 — Simple arithmetic mean is not affected by change of

origin.

Statement 2— Simple arithmetic mean gives equal importance to all

items of the series.

Choose the correct alternative:

A.

B.
C.
D.

Statement 1 is true and statement 2 is false.
Statement 1 is false and statement 2 is true.
Both the statements 1& 2 are true.
Both the statements 1&2 are false.

6.ldentify the correct statement/s:

(i) If the difference of consecutive values is equal, r &rk would give

(i) In case of presence of extreme values, rk should be preferred over

identical results.

Pearson’s coefficient.

(iii) r<rk orr=rk

Alternatives;
A. (i)

B. (ii)

C. (i)& (ii)
D. (i)& (iii)

(1)

(1)



7. Identify the incorrect set of statements : (1)

Column | Column

(i) Interpretation of data (a) Drawing conclusions
(i)  Presentation of data (b) Tables, graphs & diagrams
(iii)  Statistics (c) Not numerically expressed
(iv)  Scarcity of resources (d) A cause of economic problem

A. (i),(a)

B. (ii),(b)

C. (iii),(c)

D. (iv),(d)

8. Read the following statements: Assertion (A) and Reason (R). (2)
Assertion (A): Economic problem is essentially a problem arising from
the necessity of choice.

Reason (R): Since given resources are limited & wants are unlimited,
an individual has to make a choice as to which want to be satisfied .
Choose the correct option:

A. Both Assertion (A) and Reason (R) are True and Reason (R) is the
correct explanation of Assertion (A).

B. Both Assertion (A) and Reason (R) are True and Reason (R) is not the
correct explanation of Assertion (A)

C. Assertion (A) is True but Reason (R) is False.

D. Assertion (A) is False but Reason (R) is True.

9. Choose the correct sequence of the given functions of statistics related to
the formulation of economic plans: (2)

(i) Use of a measure of analysis

(ii) Organisation & presentation of data

(iv) Collection of data

(iv) Interpretation of data & forecasting.
Alternatives:

A.
B.
C.
D.

i, dii, v, i
iil, i,ii,iv
iil, i, 1,iv
i,iii,ii,iv




10. Index no. for base year is (1)
A. 0

B. 1

C. 10

D. 100

11. lllustrate the meaning of structured questions. List an advantage &

disadvantage each of the same in comparison to unstructured questions.  (1,2)

12. 80 students of section A of class XI obtained 40 mean marks in statistics,40
students of section B obtained 50 mean marks in statistics. Find the mean
marks in statistics for class XI as a whole. (3)

OR
In a class of 50 students, the mean marks in English were 58. Later on it was
found that 2 students with marks 40 & 42 joined the class while it was realised
that marks of a student were wrongly recorded as 25 instead of 20 & the same
student left the section. Calculate the corrected mean.

13. Locate the median using a less than ogive : (4)
X 0-10 10-20 20-30 30-40 40-50 50-60
F 6 7 8 10 16 3
14. Calculate mode from the given data: (4)
Marks 0 20 40 60 80
more than
No. of | 15 13 9 3 1
students
15. Elaborate the uses of index numbers in Economics. (4)
OR
(i) If wholesale price index for week 1 =800 & for week 2 = 880, calculate

the weekly rate of inflation.
(i)  Define price index no. & the simple aggregative method to calculate the
price index no. (2,2)



16. (i) In the year 2023, 40 girl students from a college in Delhi went for an
educational exchange trip to Singapore. The no. of boys was 50% of the total
no. of girls. The total no. of teachers accompanying the students was 5 among
whom 3 were female teachers.

In the next year the total no. of students increased by 20. The girl students
were 1/4 of the total students. The no of total teachers this year was 6 while
the no. of female teachers did not change. Tabulate the given information.

(i) Represent the following data through a Pie diagram (4,2)
ltems A B C D
Expenditure(in | 50 15 10 25

%)

17. Calculate the coefficient of Correlation between X & Y variables by

Spearman’s rank method and interpret the results. (6)
X 90 88 78 78 74 70 65 62
Y 18 25 30 30 30 42 38 47

OR

Elucidate the properties of correlation coefficient.

Section B (Micro Economics)
18. The factor causing extension in supply of a good is (2)

(A) increase in number of firms
(B) decrease in tax rate

(C) improvement in technology
(D) increase in price of the good.

19. Coefficient of Inelastic supply is (1)

(A) infinity

(B) greater than one
(C) zero

(D) less than one.




Q20. Match the statements in Coloumn A and B (1)

COLUMN A COLUMN B

(i) Buffer Stock a) price fixed below equilibrium

(ii)Price floor b) Direct intervention by government

(iii)Rationing c) Price fixed above equilibrium

(iv)Price ceiling and support price d) a consequence of price support
program

Choose the correct alternative.
(A)(i)d (ii)c (iii)a (iv)b
(B) (i)a(ii)c (iii)d (iv)b
(C) (i)b (ii)c (iii)a (iv)d
(D) (i)d (ii)a (iii)c (iv)b.

Q21. In the following questions, Statement 1 is followed by Statement 2. (1)
Statement 1. Positive statements do not pass any value judgement.

Statement 2. Normative statements are verifiable

Mark the correct choice as:

(A) Both the statements are true.
(B) Both the statements are false.
(C) Statement 1 is true and statement 2 is false.
(D) Statement 2 is true and statement 1 is false.

Q22. Read the following statements: Assertion (A) and Reason (R). Choose one
of the correct alternatives given below. (1)

Assertion (A): A rational producer always seeks to operate in Phase Il of Law of
Variable Proportions.

Reason (R): In Phase Il of Law of Variable Proportions, Marginal Product is
negative.

Alternatives:

(A) Both Assertion (A) and Reason (R) are True and Reason (R) is the correct
explanation of Assertion (A).



(B) Both Assertion (A) and Reason (R) are True and Reason (R) is not the correct
explanation of Assertion (A).

(C) Assertion (A) is True but Reason (R) is False.

(D) Assertion (A) is False but Reason (R) is True.

Q23. Price of a good 'X' rises from 20 per unit to 40 per unit. The consumer
buys the same quantity, he bought at 20 per unit. What would be price
elasticity of demand? (2)

(A) infinity

(B) zero

(C) one

(D) less than one.

Q24. All the curves except are U shaped curves: (1)

(A) Average Fixed Cost Curve
(B) Average Cost Curve

(C) Average Variable Cost Curve
(D) Marginal Cost Curve.

Q25. Budget set includes: (2)

(A) All those combinations of two goods which a consumer already possesses
(B) All those combinations of two goods which a consumer cannot afford

(C) All those combinations of two goods which a consumer is willing to buy
(D) All those combinations of two goods which a consumer can afford.

Q26. Which Law states that: "When a consumer consumes more and more
units of a product, the utility derived from each additional unit decreases"? (1)

(A) Law of Equi-Marginal Utility.

(B) Law of Cardinal Utility.

(C) Law of Ordinal Utility.

(D) Law of Diminishing Marginal Utility.



Q27. Based on the given schedule, state the effect on the demand curve:  (3)

PRICE(RS) QUANTITY
(Kg)

4 50

4 30

A) Leftward shift of demand curve.

B) Rightward shift of the demand curve.

C) Upper movement along the demand curve.

D) Downward movement along the demand curve.

Q28. The government establishes a large number of institutes of Science and
technology. How will it affect the PPC? Explain. (3)

OR
Production in an economy is below its potential due to unemployment,
government starts employment generation schemes. Explain .

Q29. “In a perfectly competitive market buyers treat products by all the firms
homogeneous”. Explain the significance of homogeneity of goods in a perfectly
competitive market. (4)

Q30. With the help of diagram, explain the effect of the increase in the level of
air pollution on the market demand curve for Air Purifiers in Delhi. (4)

OR

Giving reason, state the impact of each of following on demand curve of a
normal good 'X' if:

(i) Increase in price of good X

(ii) Income of consumer increases.

Q31. Delhites witnessed sharp rise in temperature in summer this year. This
has rapidly increased the demand for cotton shirts in the market. On the other
hand ,India witnessed bumper cotton produce due to favourable climate
conditions . (4)



On the basis of above information answer the following questions.

(1) Explain the likely effect on the supply of cotton shirts in the market.

(1) If the increase in the demand for cotton shirts is in the same proportion as
increase in the supply of cotton .How will it affect equilibrium Price and
Quantity of Cotton shirts. Explain with the help of a diagram.

Q32.

PRICE(RS) OUTPUT (Units) | TOTALREVENUE | MARGINAL
(Rs) REVENUE (Rs)

7 - 7 -

- 2 10 -

- 3 - -1

1 - - -5

(4)
Q33. A consumer consumes only two goods X and Y whose prices are Rs 2 and
Rs 1 per unit respectively. If the consumer chooses a combination of the two
goods with marginal utility of X being 4 and that of Y also being 4, Is the
consumer in equilibrium? Give reasons. Explain what will a rational consumer
do in this situation? Use Marginal Utility Analysis. (6)

Q34. The equality of marginal cost and marginal revenue is a condition
necessary for equilibrium, but it is not by itself sufficient to assure the
attainment of producer's equilibrium. Comment. (6)

OR

Availability of agricultural land is limited in India but demand of food grains is
continuously increasing. Is it possible to increase the supply of food grains by
continuously increasing one variable input like seeds?

Which law becomes applicable here? Explain it with the help of diagram.



ECONOMICS 2024-25
MARKING SCHEME/ HINTS TO SOLUTIONS

NOTE: ANY OTHER RELEVANT ANSWER NOT GIVEN HEREIN BUT GIVEN BY
CANDIDATE BE SUITABLY AWARDED.

Q.NO | Value Points Mar | Tot
ks al
Ma
rks
1. (B) When the classification of data does not present the details 1 1
which are available in raw data.
2. (A) The upper class limit is excluded in the class interval. 1 1
3. (B)Statistics are true only on an average. 1 1
4, (D) Median 1 1
5. (B) Statement 1 is false and statement?2 is true. 1 1
6. (C) i&ii 1 1
7. (C) iii,c 1 1
8. (C) Assertion (A)is true but Reason (R) is false. 1 1
9. (C) iii,ii, i, iv 1 1
10. | (D) 100 1 1
11. | Structured questions are closed ended questions i.e an alternativeis |1
to be chosen from the given options.
Advantage —The responses are easy to compare & it is possible to 1
draw conclusions. 3
Disadvantage-These do not have a scope for individual responses. 1
12
BT T [V e, =80 X = Npw Al XsmS0 3 1
W T R gty FAphly 3
Ry = 000 S0l L2000 BN i 2
Thus eambined drithmtic mean of bt the parts of the serios = 433
OR




Corrected Mean={3 X-IC+C}/N
= { (58X50) + 40 + 42 — 25} / 52-1
={2900 +57}/ 51
=57.98

=

13.

MARKS NO. OF STUDENTS

LESS THAN 10 6

LESS THAN 20 13

LESS THAN 30 21

LESS THAN 40 31

LESS THAN 50 47

LESS THAN 60 50
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Grouping Table

Marks | frequ I 1] v \Y \
(C.I) ency
0-20 2
20-40 4 6
40-60 6 10 12
60-80 2 8 12
80- 1 3 12
100
Analysis Table
Marks( I [l 1] IV Vv Vi
C.l)
0-20 1
20-40 1 1 1
40-60 1 1 1 1 1 1
60-80 1 1 1
80-100 1

Modal class- (40-60)
Mode= I+ {(f1-f0)/2f1-f0-f2} x i
=40 + { (6-4)/12-4-2} x 20
=40 +(2x20)/6
= 40+6.66
= 46.66

The various index numbers are used for policy making:

1. Consumer index number is helpful in wage negotiations,
formulation of policies related to income, price, rent, taxation
and others.

2. Whole sale price index is used to eliminate the effect of
changes in prices on aggregates such as national income,
capital formulation etc.

3. WPl is also used to measure inflation.

4. CPlis also used for measuring purchasing power of money and
real wage.

(Any other)




16 (i)

OR

(i)

gﬂ':.r.'lm Rate of inflation nﬂalﬁ'
g

Herat =880 and 1-1-300
Weskly rate of inflation

E

ii) Price index number is a statistical device that measures and
permits the comparison of the prices of given commodities.
Simple aggregate method is unweighted method to calculate the
price index no. . it is also known as actual price method. In this
method, aggregate prices of commodities in the current year are
divided by aggregate prices of these commodities in the base year.

Table no—-1
Classification of students & teachers going for educational exchange
trip basis gender

(fig. in nos.)
2023 2024
Person/gender | Male | female | Total | Male | Female | Total
Students 20 40 60 60 20 80
Teachers 2 3 5 3 3 6
Total 22 43 65 63 23 86

Footnote: Students & teachers of St. Stephen’s College
Source: College records

1(for
mat)
1(ot
her
parts

2(cel
Is)




(i) || Items Expenditure (%) Expenditure
(degrees) 1
A 50 180
B 15 54
C 10 36
D 25 90
EXPENDITURE ON ITEMS
2
1(ke
- V
,diag
ram)
B4y WE ®C
X R1 Y R2 D D’
17.
90 1 18 8 -7 49
88 2 25 7 -5 25 2
78 3.5 30 5 -1.5 2.25
78 3.5 30 5 -1.5 2.25
74 5 30 5 0 0
70 6 42 2 4 16
65 7 38 3 4 16
62 8 47 1 7 49
159.5




rk=1—6{§D2 +1/12(m3-m)+1/12(m>-m)}
n3-n
=1 6[159.5+1/12(2x2x2-2)+1/12(33-3)]

=1_ 6[162] = 1-1.93 =-0.93
504

There is fairly high degree of negative correlation between the X & Y
variables.

OR
PROPERTIES OF CORRELATION COEFFIENT

1. r has no unit. It is a pure no.

2. A negative value of r indicates an inverse relation among two
variables. E.g price and demand.

3. If ris positive the two variables move in the same direction.
E.g price and supply.

4. The value of r lies between -1 and +1.

5. The magnitude of r is unaffected by the change of origin and
change of scale.

6. If r=0 the two variables are not linearly correlated.

(or any other)

18 D) Increase in price of the good

19 D) less than one

20 A)i) dii) ciii) aiv) b

21 C) Statement 1 is true and statement 2 is false

22 C) Assertion(A) is true but Reason (R )are is false

23 A) Zero

24 A) Average fixed cost

25 D) All those combinations of two goods which are consumer can afford.




26 C) Law of diminishing marginal utility

27 A) Leftward shift in demand curve

28 By these institutes skill development will improve. 1
This would result in increase in the production potential of the country. 1
So the PPC will shift to the right.

1
OR

Production below the potential means that total production in the economy is 1
somewhere below the production possibility curve .
When government starts employment generation schemes, as the economy is 2
operating inside the PPC, the economy moves forward towards the PPC.

29 Implication of Homogeneous Product' is that buyers treat the products as
identical. Therefore, the buyers are willing to pay only the same price for the
products of all the firms in the industry. It also implies that no individual firm is in
a position to charge a higher price for its product. This ensures uniform price in
the market.

30 With the increase in level of air pollution,the demand for air purifier will increase . | 1
There will be rightward shift in Market demand curve.
DIAGRAM 1

2
OR

(i) Quantity demanded of good X would decrease, with increase in price of good
X due to operation of law of demand, which is depicted by upward movement 5
along the demand curve.
(ii)As income of consumer increases, he would demand more of the good as his 2

disposable income increases and he is in a position to buy more of good X.
Thus demand curve shifts to the right.




31 (The supply of cotton shirt will increase as price of input ie cotton , falls sharply |1
due to bumper produce.
(INWhen increase in demand is proportionately equal to increase in supply, then
rightward shift in demand curve from DD to D;D; is proportionately equal to
rightward shift in supply curve from SS to S;S;. The new equilibrium is 2
determined at E;. As both demand and supply increase in the same proportion,
equilibrium price remains the same at OP, but equilibrium quantity rises from OQ
to OQ1
1
32 1/2x8
PRICE OUTPUT TR MR
7 1 7 7
5 2 10 3
3 3 9 -1
1 4 4 -5
33 Given Px=2 ,Py=1 and MUx=4,MUy=4 3
A consumer will be in equilibrium when
MUx/Px=MUy/Py.
4/2<4/1,
2<4
3

This would induce the consumer to buy more of Y in place of X till
MUx/Px=MUy/Py.
With Explanation




34

The producer's equilibrium conditions are:
(i) MC=MR
(i) MC > MR after equilibrium.

Suppose MC > MR In this situation, it will be profitable for the firm to produce
more or less depending upon relative changes in MC and MR till MC = MR

Suppose MC < MR It will be profitable for the producer to produce more till MC =
MR . MC = MR not a sufficient condition to ensure equilibrium.

Given MC = MR suppose the behaviour of MC and MR is such that if one more
unit is produced, MC becomes less than MR. Then in this case it will be
profitable for the firm to produce more. Therefore, in this case though MC = MR
the producer is not in equilibrium.

However, if after MC = MR output, MC becomes greater than MR, it will be most
advantageous for the firm to produce only upto MC=MR.

OR

It will not be possible to increase the supply of food grains continuously only by
increasing seeds because of the law of variable proportions As we increase the
use of seeds without changing other inputs, the production will increase but
beyond the level, it will start falling

Phase 1: Initially variable input is too small as compared to the fixed input. As
production starts, there is efficient use of the fixed input, leading to rise in
productivity of the variable input on account of division of labour. As a result, TP
rises at increasing rate.

Phase IlI: After a level of output, pressure on fixed input leads to fall in
productivity of the variable input. As a result, TP continues to rise but at a
decreasing rate.

Phase Ill: The amount of variable input becomes too large in comparison to the
fixed input causing decline in TP.

15

15

15

15




SAMPLE PAPER
CLASS XI
Session (2024-25)
MATHEMATICS(041)
Time Allowed: 3 Hours Maximum Marks: 80

General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) This question paper contains 38 questions. All questions are compulsory.

(i1) The question paper is divided into five sections - A, B, C, D and E.

(ii1) In Section A, Questions no. 1 to 18 are Multiple Choice questions (MCQs) and questions number 19 and
20 are Assertion-Reason based questions of 1 mark each.

(iv) In Section B, Questions no. 21 to 25 are very Short answer (VSA)-type questions, carrying 2 marks each.
(v) In Section C, Questions no. 26 to 31 are Short answer (SA)-type questions, carrying 3 marks each.

(vi) In Section D, Questions no. 32 to 35 are Long answer (LA)-type questions of 5 marks each.

(vii) Section E Questions no. 36 to 38 are case based questions carrying 4 marks each.

(viii) There is no overall choice. However, an internal choice has been provided in 2 questions in Section B, 3
questions in Section C, 2 questions in Section D and 2 questions in Section E.

(ix) Use of calculators is not allowed.

SECTION A
This section consists of 20 multiple choice questions of 1 mark each. 20 x 1 =20

Ql It U={1,2,3,...... 40} ; P = {x: x is divisible by 2 and 3} and Marks
Q= {x:x=n?n€E N} then n( P) —n(Q) is
(A)O B) 1 (C)2 (D)3 1

Q2 The greatest value of (sin X cos x) is

(A) 1 (B)2  (O+2 (D)~ 1

Q3 Number of 5-digit even numbers that can be formed using the digits 1, 3, 4, 7, 8,
if repetition of digit is not allowed, is 1

(A)500 B)60  (C)48 (D) 24

Q4 25 36 42 55.
i +i +i +1i isequalto
(A)0 (B) 2 (C) 2i (D)2 +2i 1




Q5 The center and radius of circle 3x° + 3y2 = 7is
(A) 0,0);47  BX00;3  (©00;/5  (D)00);5
Q6 | lim S
x—0
A 2 ®0 (©)1 (D)
Q7 The minimum value of 72(1_x) + 49" is
(A)14 (B)= (C) 7 (D) 49
7 7
Q8 |If lim “—=" = 7, then the value of a is
x——a
(A)1 (B)-1 C)=x1 (D)0
Q9 If the variance of the data 2,4,5,6,8,17 is 23.33, then variance 4,8,10,12,16,34
will be
(A)23.23 (B)25.33 (C) 46.66 (D)93.32
Q10 If the extremities of the diagonal of the base of the cube are (1,-2,3) and (2,-3,5)
then the length of the side of cube is
(A) \/g units (B) \/g units ©) \/gunits (D) \/7 units
Qll1 A clock shows 7:20.The angle between the hour hand and minute hand would be
(A) 50° (B) 80° (C)100° (D) 120°
Ql2 Given x is a real number satisfying 1 — x > 2x — 5, x belongs to :
(A) (= ,— 2) (B) (= ,2)
(C) (=2, x) (D) (2, «)
Q13 If the mean of the data : 2,0,7,-5,8,11,4,-3 is 3, then the mean deviation about
mean of the data is
(A)2.5 (B)5.5 (C)4.5 (D)1
Ql4 fR={(xy): x,y € W, 2x+y=_8} then domain of R is

(A) {0,1,2,3,4,5} (B) {0,1,2,3,4,5,6}
(C) {0,1,2,3,4} (D) {0,1,2,3}




Q15

1 1 1

If5x5°x5°x57x ———= Sm, then m is equal to 1
3 2 3
) < B) = €)1 D)=
Ql6 [ Iftwo complex numbers z, Z,are represented by points (2, -1) and (-3, 4) in the
—_— 1
Argand Plane, then (z T Z 2) is
(A)— 1 — 5i B)501 - i)
(C)—1 + 5i (D)5 + i)
Q17 " k.
Y C(n, k)3 isequal to 1
k=0
(A)4”" (B) 3" (C)4" (D) 3°"
QI8 If E and F are two events associated with a random experiment, having sample
space Sand P(E U F) = P(E) + P(F), then which of the following
statements is always true 1
(A)EU F =S
(B)P(E) = P(F)
(COP(EUF) =1
MDENF = ¢
ASSERTION-REASON BASED QUESTIONS
Q 19 and 20 are Assertion - Reason Based Questions
In the following questions, a statement of assertion (A) is followed by a statement of
Reason (R). Choose the correct answer out of the following choices.
(A) Both A and R are true and R is the correct explanation of A.
(B) Both A and R are true but R is not the correct explanation of A.
(C) A is true but R is false.
(D) A is false but R is true.
Q19 [ ASSERTION (A): Suppose f is a real valued function ,the derivative of 'f'at x is
given by f'(x) = lim SOt fx) (x+h})l_f (*x) 1
h=0
REASON (R): If y = f(x) is the function, then derivative of 'f" at any x is
denoted by f'(x)
Q20 | ASSERTION (A): C(10, 6): P(10, 4) = 1: 12

REASON (R): C(n,r) = C(n,n — 1), 0 < r < n




SECTION B
In this section there are 5 very short answer type questions of 2 marks each.

Q21 If2p + iq = a::l; , then show that 4p2 + q2 =1
Q22 IfU={x:xeNand 1 <x <20}
A={x:xeNand1 <x <15}
B={x:xeNandx=2n—1,n< 5}
Represent the above sets by a Venn diagram showing set U as a universal
set.Write the relation between Set A and Set B.
Q23 Evaluate the left hand limit and right-hand limit of the following function
E1 .0
o) = 1% ifx #
0if x=0
Does lim f(x) exist?
x—0
OR
If f: R = R be a function defined
. 3
Jx-+9if x = 3
flx) = 3
449 if x= 3
then find the value of f'(2) — f'(1)
Q24 [ The figure shows a relation from a set X to a set Y.

o W
-1
2,_ 3o 2 -
- _—.__ __n
g —, s
P -
5 x
e - 5
7
- a4

Write the above relation in Roster form.Is the above relation a function?

Give reason in support of your answer.
OR

Let f(x) =2x*+3x — 5and g(x)=x — 1. Find (%) (x).Also find the Domain

and Range of Quotient function.




Q25

If P is the foot of perpendicular from the point S(6,7,8) on the XY-plane and Q is
the mirror image of the point S (6,7,8) in the XY-plane ,find PQ.

SECTION C
In this section there are 6 short answer type questions of 3 marks each.

Q26 Find the number of arrangements of the letters of the word SELFIE. In how
many of these arrangements there are exactly 2 letters between 2 E’s.
OR
In how many of the distinct permutations of the letters in TELANGANA do the
three A’s not come together?
Q27 Draw the graph of f(x)= x* . Hence find its range.
Q28 Complete the following table for the function y = 4 sin x
{0 |~ | |2 |S5m| oq |Zm o (4m | 3mfsm | im fog
6 3 2| 3 6 6 3 2| 3 6
y|0 |- 346 |- |346 |- |0 - -3.46 | - |-3.46 |- 0
Specify the range of the given function in set builder form.
Q29 [ The water acidity in a pool is considered normal when the average pH reading of
three daily measurements is between 8.2 and 8.5. If the first two pH readings are
8.1 and 8.6, find the range of pH value for the third reading that will result in the
acidity level being normal.
OR
Solve the system of inequalities:
4x+7>x-5
12-7x>-2
and represent the solutions on the number line
Q30 | Find the derivative of f(x) = 2xx+3 by first principle.

-2




Q31 A satellite dish is in the shape of a parabolic surface .Signals from a satellite
strike the surface of the dish and are reflected to a single point (the focus) where
the receiver is located .The satellite dish shown in the figure has a diameter of 12
meters and a depth of 2 meters. The parabola is positioned in a rectangular
coordinate system with its vertex at the origin. How far from the vertex of the
dish should the receiver be placed? Also write the equation of the parabolic
surface.

OR

An arch is in the form of a semi-ellipse.It is 8m wide and 2m high at the
centre.Find the height of the arch at a point 1.5 m from one end.




SECTION D
In this section there are 4 long answer type questions of 5 marks each.

Q32 If the image of the point (4, 3) with respect to the line / is (2,1) , then find the
equation of the line /. Also, find the value of £ if the distance between the above
line and the line 3x+3y+4=0 is % units.

OR
A line is such that its segment between the lines x —2y—2=0and 2x+y—-1=0
is bisected at the point (1, 3). Obtain its equation.

Q33 Following table represents the number of persons of different age groups in a
locality doing Yoga in the morning:

Age of 10-20 20-30 | 30-40 |40-50 [50-60

persons

(in years)

Number of 5 8 8 15 14

persons
Find the mean and the variance of the above data.

OR

The mean and standard deviation of 100 observations were calculated as 40 and
5.1, respectively by a student who took by mistake 50 instead of 40 for one
observation. What are the correct mean and standard deviation?

Q34 | Find the coefficient of x° in the product (x + 3)5(2 — x)6.

Q35 Given,A={x: — 1< x <5xeR}and

B={x: —4< x £3xeR}
Find:
i)ANB
(i)A'NB
(i) A —B

Also represent each result on different number lines.




SECTION E

This section comprises 3 case-study/passage-based questions of 4 marks each.

Q36

Magnetic Compass
The figure given below shows the compass. The East direction is along the

positive x-axis (0° angle) and North direction is along the +ve y-axis (90°
angles). Initially the pointer is pointed towards the NorthEast direction. Pointer is
deflected in a magnetic field by some angle.

sua\'\

25
et T

On the basis of above scenario answer the following questions

(1) If the pointer moves in an anticlockwise direction by an angle of 90°, then
find the value of the sine of the angle made by the pointer from the East
direction.

(i1) If the sine and cosine of angle made by a pointer with East direction is (- %
then write the direction the pointer shows.
(111) If the tip of the pointer moves in an anticlockwise direction by an angle of
30°it travels a distance of 11 cm then find the length of the pointer.
OR
(ii1) Find the degree measure of the angle through which the pointer moves if its
length is 10 cm and the tip of the pointer describes an arc of length 22cm.




Q37

Chain Reaction

In a nuclear fission chain reaction, a free neutron interacts with the nucleus of an
atom and causes that nucleus to split apart into two new, less massive nuclei. The
nuclei in turn repeat the process and split into four new nuclei and the process
goes on. The picture given below shows the process till 4th generation.

1st Generation

i N
2nd Generation L -
o et
] W
L~ &
¢ N %

3rd Generalion v [ [ (]
4 " W b
® & & S
P P " P
¥ @ v @ L L

On the basis of the above case, answer the following questions.

dth Generation

(1) Write the number of nuclei formed starting from Ist  generation to
fourth generation. Identify the sequence so formed.
(i1) Write the number of nuclei formed in the 10th generation.
(111) Find the total number of nuclei formed till 7th  generation?
OR
(111) If the mth generation has 96 more nuclei than the nth generation, then
find the value of m and n.



https://www.osti.gov/opennet/manhattan-project-history/Science/Atom/neutron.html
https://www.osti.gov/opennet/manhattan-project-history/Science/NuclearPhysics/nucleus.html
https://www.osti.gov/opennet/manhattan-project-history/Science/Atom/atom.html

Q38

Cricket Team Selection

Cricket is a game of uncertainties. Love for the game of cricket is increasing day
by day. A state cricket authority needs to select a team of 11 members. They have
asked two coaches from a government academy to select the team members
based on their experience and performance in the last 15 matches. There are 20
players containing 8 bowlers, 7 batsmen and 5 all-rounders from which to
choose.

Answer the following on the basis of above case study.

(1) What is the probability that a team of 11 must include exactly 4 bowlers ?
(i1))What is the probability that a team of 11 must include at least 4 all-rounders ?

Note: Give answers in factorial.

NN




MARKING SCHEME
Class - XI
Mathematics

Q. No. | Key Points Point Total
Value
1. (A)O 1 1
2. (D)% 1 1
3. (C) 48 1 1
4. (A0 1 1
e 00:% 1 1
6. (A) 2 1 1
7. (A) 14 1 1
8. C)+1 1 1
9. (D) 93.32 1 1
10. (B) \/§ units 1 1
11. (C) 100° 1 1
12. (B) (— o0,2) 1 1
13. (C) 45 1 1
14. (C) {0,1,2,3,4} 1 1
15. (A) % 1 1
16. D)5 + i) 1 1
17. C)4" 1 1
18. DEN F=¢ 1 1
19. (B ) Both A and R are true but R is not the correct explanation of A. 1 1




20. (D) A is false but R is true. 1
. ib
2L |12p + iql =2Eor I
4p2 + q2 =1 1
22.
U
2 A b A
16
B
15 B
17
5
14 7 10 1
11 1E
14
13 12
20
) ) 1
B is subset of A i.e BCA
23.
Left hand limit Right hand limit |4y
2
x>0 x—oot "
letx =0—nh letx =0+ h
= lim &AL
x—oo- O7M ~ 1 [0+A|
_ B _ (0+h)
= lim —=-1 x=0
e = lim %z 1
x—=0

Since left hand limit of the function is not equal to right hand limit of the

function.




Therefore lim f(x) does not exist

V2

x—0
OR

forx >%, f'(x) =9and forx < %, f'(x) = 6x 1

ff@Q-f1)=9-6=3 1
24. In Roster form 1

A= {(2’0)’(2>3)’ (3 ’2), (5a4)a(7,‘ 1)}

Given relation is not a function as 2 has two images 0 and 3. 1

OR
2x” +3x =5

S =2 x 21 ”

Domain=R — {1} &

Now 2x° +3x -5 _ @Rl ok 1

x—1 x—1

Range =R — {7} 1,
25. Coordinates of the point P are (6,7,0) )

Coordinates of the point Q are (6,7,-8) Y2

PQ=Y0 + 0 + 8 =8 units 1
26. 2FE’s

Total number of arrangements = % =360 1

Possible positions of 2 E’s

LIV

I,V

M1, VI

Total number of cases = 3 "

The Remaining 4 letters can be arranged in 4! ways v,

Arrangements in which there are exactly 2 letters between 2 E’s

=3x4!=72 1

OR
TELANGANA -3 A’s,2 N’s
Total permutations = —— =30240 1

213!
When 3 A’s are together




AAA TELNGN

V2

Total 7 units v,
Number of permutations in which 3 A’s are together = %
. 1
~ 2520 &
Number of permutations in which 3 A’s do not come together y
= 30240 — 2520 = 27720 ’
217.
/ X -3 -2 -1 0 1 2 3 1
y -27 -8 -1 0 1 8 27

1

Pl

<
Y
p8
{1 2.—8)
10
20
AT —27)
i RN =

1

Range =R




28.

% |0 n no |23 S| qr | Tm 4n I | Gw 11m Ty 2
1 3 2 1 fi | ] } 5 fi
y o [2 (348 |a 348 |2 |0 | -2 | 246 |-4 | -248 |2 |D
1
Range={y: yeRand— 4 <y <4}
29. Let x be the pH value for the third day.
8.2 < ML <85 &
246 <16.7 +x<25.5 1
7.9<x<8.8 1
Range of pH value for the third reading is (7.9, 8.8) 7
OR
4x+7>x-5
x>-4 1
12-7x>-2
X§2. ‘ Ya
Solution is -4 <x < 2 7
B s s o 8 ot e 1
0.2 8-7-8-54-3-21 012345678810
K57
30. _ v
h=0 .
2x+h)+3  2x+3 /2
_ . x+h-2 x—=2
= lim -
h—0
— (2x" — 4x + 2hx —4h + 3x — 6) — (2x"_+ 2hx —4x + 3x + 3h—6)
= m h(x+ h—2)(x - 2)
h=0
= lim 7k !
hoo MEHh=2)x-2)
=7
T x—2)? Vs
/ _ -7
fo = — ”




31.

Since the parabola is vertical and has its vertex at origin therefore its

equation must be of the form X = 4ay

Point (6,2) lies on parabola so

36 = 4a(2)
o=
>a=4.5

Ans: Receiver should be placed 4.5 m from the vertex.

Equation of parabola X = 4ay
X’ = 4(4.5)y
x2 = 18y

OR

Arch is in the form of a semi-ellipse ,8m wide and 2m high .
Length of major axis =2a

= 8 =2a

= 4 =a

Here Length of Minor axis b =2

Equation of semi-ellipse is

2 2 2 2

X4 Y X o, Y
42+22—1=>16+4—1

Y

V2

V2

2




Y

HJ |0 'I.Elrn- o
Bm
l-|||-"
AB=1.5m
= 0A =4-1.5=2.5m
Let CA=h
Therefore coordinates of C are (2.5,h) and it lies on the ellipse
2 2
> ED L b = 158" =25 5 b’ = 2.44 (approx.)

= h = +/2.44 or 1.56m (approx)

Y

Y

V2

V2

32.

X

a

Let the points (4,3) and (2,1) be represented by P and Q respectively and the
image of P is Q.

Let the points (4,3) and (2,1) be represented by P and Q respectively and the




image of P is Q.

By using midpoint formula coordinates of point R which lies on line are
(3.2).

1-3 -2
2—4_—2_1

Slope of PQ =
Since PQ is perpendicular to line / therefore
slope of line =-1

Equation of line /

y—y, = mkx-x)

y—2=—1(x — 3)

>x+y—-5=0

Line 3x + 3y + k = Ocanbe writtenasx + y + % = 0 which is
parallel to the line /

le,=c,l

Therefore, —=— = =
1+m2 \/E
oSl e
N
k
=>?+5 = 4+ 14
ko kK _
:>?— 907":>?— 19

=2k =27 ork =— 57
OR

Given lines are 2x +y—1 =0 —------ (1)

and X —2y—2=0——--emmr )

2

Y

Y

V2




Let the required line intersects the given lines (1) and (2) at the points P
(a, 1 — 2a) and Q (B, %) respectively.(figure T)

We are given that the midpoint of the segment PQ is M(1,3)
therefore,using midpoint formula

B2
1-2a+
+

sa+B=2and — 4a + f =12

On solving above equations,we get
a = —2andf =4

Equation of required line passing through P(-2,5) and M(1,3) is
3-5

y—5= m(x + 2)
-2

y—5= T(x + 2)

3y — 15 =— 2x — 4

2x + 3y = 11

% Fig

V2




33.

C.I. fi xi oo | fiyt
10-20 5 15 -2 10 20
20-30 8 25 -1 8 s
30-40 |8 35-a |0 0 0
40-50 15 45 1 15 1
50-60 |14 55 2 28 i
Sfiyi = 25| v fivi® =
Sfi = 50 o=
Or N=50
Mean

- Ifiyi
xX=a +_>:fi X h

- _ 25
= x =35+ =0 x 10

=>x=35+5=40
Variance

o = ZZ (NZfiyi’ — (Efiyi)®)

2
=g = ;22 (50 x 99 — (25)°)
2 100
=0 = 5z (4950 — 625)

2 1

OR

=
Il
:|>—~
R
=

2 marks
For table

1 mark
for
mean

2 marks
For
Variance




= Yxi = nx=100x 4= 4000

n

o = % Y xi—(x)°

i=1
n —
= ¥ x’=n[o’ +(x) ’]
i=1

=100(26.01+1600)
=162601

Corrected Y, x; = 4000 — 50 + 40 = 3990

Corrected Y, x*= 162601 — (50)*+ (40)’= 161701

3990
100
161701 2

00 (39.9)*=25

Corrected Standard Deviation = 5

=39.9

Corrected Mean =

Corrected 6,> =

Y

Y

Y

34.

(x+ 3)° =x" + 15" + 90x° + 270x" + 405x + 243

6
2 - x

2 3 4 5 6

=64 — 192x + 240x — 160x + 60x — 12x + x
Coefficient of x5
— 1(64) — 15(192) + 90(240) — 270(160) + 405(60) — 243(12)
— 64 + 21600 + 24300 — (2880 + 43200 + 2916)

=45964 — 48996
=—3032

17

17

Y

Y




35.  |(ANB={x:—1< x <3 xeR} v,
ANB
| A T ) | | L1 | | L
~—— 11 |$"'|_+'+""¢= —— +— 1
10-4% 8 7 -6-54 3-2-1 01 2 3 4 5 6 T a 10
({)ANB= {x: —4< x <— 1xeR} .
A'NB
| P ., | ) I - I | |
~ ——— 1 — 1
10-4% 87 -6&-5-4 -3-2-1 0171 2 3 4:586T g 10
(i) A—B={x:3< x <5x€eR} "
A-B
-— 1+t — |
1089 <8 -7 f -5 4 =3 10 % &34 & Bz,/F 9 10
36. G000 + 45%) = o L |
(1) sin(90° + 45°) = cos 45 5 :
(ii) 225°, SW
(ii)@) 8 = -+ 7
1 =18 7
_ 66 7
:>r_T 1,
=21 cm
OR
(iii)(b) 1 =16 v,
=22=106
:>9=%radians /2
1
22 180 .
_FXT_126




37. (1) 1,2,48,... %
Sequence is G.P. %
(i) Number of nuclei in 10th generation = 2° Y2
=512 vz
(ii1)(a) Total number of neutrons produced till 7th generation
_ 1 12" - 1) 1
S 2-1 1
=127
OR
Giiyb) 2™ = 2" = 96 v,
128 -32=96 /2
Sm=8andn=06 1
38. . C(84) C(12,7) 1
0 —Zaoin
8! 12!
— 41x4! 7!x5! 1
20!
11!x9!
... C(54) C(15,7)+C(5,5) C(15,6)
(ii) c2o1D) I
5 15! 15!
— 4! 71x8! 6!%x9! 1

20!
11!x9!




CLASS Xl
BUSINESS STUDIES (054)
SAMPLE QUESTION PAPER (2024-25)
MM - 80 TIME: 3 HOURS

General instructions :

1. This question paper contains 34 questions.
2. Marks are indicated against each question.
3. Answers should be brief and to the point.

4. Answers to the questions carrying 3 marks may be from 50 to 75
words.

5. Answers to the questions carrying 4 marks may be about 150 words.
6. Answers to the questions carrying 6 marks may be about 200 words.

7. Attempt all parts of the question together.

Assertion (A): Though WTO is a successor to GATT, it is much more
powerful body than GATT.
Reason (R): It governs trade not only in goods but also in services and
intellectual property rights (IPR).

a) Both A & R are true, But R is not the correct explanation of A.

b) Both A & R are false.

c) Aistrue, but R is false.

d) Both A & R are true and R is the correct explanation of A.

Select the type of hundi where the merchant on whom the hundi is drawn has
to have certain level of creditworthiness in the market.

a) Nam-jog Hundi

b) Sahyog —Hundi

c) Dhani- jog Hundi

d) Furman- jog Hundi

According to section 464 of maximum number of partners in a
partnership firm can be 100, But as per the Companies Rules 2014, the
maximum of members in partnership can be

a) Companies Act 2013, 50

b) Partnership Act 1932, 50

c) Companies Act 2013, 200

d) Partnership Act 1932, 200




Infer the correct option from the following statements, that doesn’t hold true
about ‘Trade Credit’.

a) It appears in the records of the buyer firm as 'accounts payable'

b) It depends upon the financial strength of the seller

c) Large amount of funds can be generated through trade credit

d) It depends upon the reputation of the buyer

Identify the service highlighted in the picture.

o

ﬂ

a) Banking

b) Communication
c) Insurance

d) Advertisement

Match the columns and choose the correct alternatives:

Column | Column Il
A. Protects the scientific Inventions i. Copyright
B. A right conferred upon the creators of a Cinematographer | ii. Trademark
C. Protection given to aesthetic appearance iii. Patent
D. Helps in distinguishing similar products iv. Design

a) A—iv,B—iii, C—i, D —ii
b) A—ii, B—iv,C—i, D —iii
c) A—iii, B—i, C—iv, D —ii
d) A—iii, B—iv,C—ii,D-i

The funds required by ‘Meesho’ to advertise in the newspapers are an
example of .

a) Ploughing back of profits

b) Trade credit

c) Fixed capital requirements

d) Working capital requirements




8. Malkeet Kaur has initiated a food chain specializing in different varieties of
baked snacks in India with branches in Delhi, Ahmedabad and Indore. She
managed the initial capital for starting the business by investing her personal
savings and resources. Recognize the funding method used by Malkeet Kaur
for her startup.

(a) Venture capital
(b) Angel investment
(c) Crowd funding
(d) Bootstrapping

9. The society aims to fight against the big capitalists and enhance the
bargaining power of the small producers. Select the type of cooperative
society highlighted in above case

a) Consumers cooperative societies
b) Marketing cooperative societies
c) Producers cooperative societies
d) Farmers’ cooperative societies

10. is an acknowledgment that a company has borrowed a certain amount

of money which it promises to repay at a future date.
a) Debenture
b) Public Deposits
c) Inter corporate deposits
d) Loan from Commercial Banks
11. | Name the segment in which Flipkart and Amazon belongs to.
a) B2B Commerce
b) B2C Commerce
c) C2C Commerce
d) Intra-B Commerce
12. | The capital of the company is divided into number of parts each of which is
called .
a) Dividend
b) Profit
c) Interest
d) Share
13. | Indicate the type of trade which aims at equitable distribution of goods within a

nation, speedily and at a reasonable cost.

a) Internal trade
b) Wholesale trade
c) Retail trade

d) External trade




14 | Select the correct option that doesn’t fall within the scope of geographical
indication.
a) Handicrafts
b) Food stuff
c) Agricultural Products
d) Bottles
15 | From the following statements, choose the correct option referring to example
of insurable interest.
(1) Trustee holding the property on the behalf of others.
(2) A company insuring the life of brand ambassador.
(3) Father taking insurance policy on the life of his son.
(4) Ms. Harshita taking insurance policy in the name of her friend.
a) 1, 2, 3 are correct but 4 is incorrect.
b) 1 and 2 are incorrect but 3 and 4 are correct.
c) 1isincorrect but 2, 3 and 4 are correct.
d) 1, 4 are correct and 3, 2 are incorrect.
16 | Memorize the service offered by the retailer which helps them to manage their
business with relatively small amount of working capital.
a) Availability of goods.
b) Grant of credit
c) Specialized knowledge
d) Sharing of risk
17 | Identify the product that people are most likely to be uncomfortable buying on
the Internet.
a) Books
b) Movies
c) Furniture
d) Medicines
18 | Read the following statements carefully and choose the correct alternative:

Statement I: Bill of Lading is also a document of title to the goods and as such
is freely transferable by the endorsement and delivery.

Statement Il: Like a Bill of Lading, an Airway Bill is a document wherein an
airline company gives its official receipt of the goods on board its aircraft and
at the same time gives an undertaking to carry them to the port of destination.

a) Both the statements are true.
b) Both the statements are false.
c) Statement | is true, Statement Il is false.
d) Statement Il is true, Statement | is false.




19

It simply earns an income by investing in shares, bonds, bills, or notes in a
foreign country or providing loans to foreign business firms

a) Foreign investment

b) Portfolio investment

c) Foreign Direct Investment
d) Cross licensing

20

___ type of GST is payable on all interstate supply of goods and services.
a) IGST
b) FGST
c) CGST
d) DSGST

21.

(A) The Department of Posts (DoP), trading as India Post, is a government-
operated postal system in India, which is part of the Ministry of
Communications under Government of India. It was formed on 1st October
1854.

a) ldentify the type of public sector enterprise which has been described above
b) Describe any two features of this form of organisation other than the one
which have been mentioned in the given paragraph.

OR

(B) NTPC is carrying on various projects of energy and power. Majority of its
shares are held by the government of India. It was registered under the
previous Companies Act. It enjoys all the characteristics of a company. The
boards of directors are appointed by the government. The Board and
shareholders are responsible for the efficient working of the company. The
company prepares its annual report and submits to the appropriate authorities.
a) Name the type of public sector enterprise referred to in the above para.

b) State any two features of the type of public sector enterprise identified in
part (a).

22.

(A) Differentiate between Life , Fire and Marine Insurance on any three basis

OR
(B) Categories any three types of telecom services

23.

Hari tells Mohan in the presence of Keshav that Keshav is the partner in the
firm of Hari Enterprises. Keshav shows no objection to the statement of Hari.
Mohan gives a loan of [1 50,000 to Hari Enterprises under the impression that
Keshav is a partner in the firm. Later on, Hari enterprise was unable to repay
the loan to Mohan. Therefore, Mohan filed a suit against Keshav to repay the
loan. In return Keshav refused to repay the loan on the ground that he is not a
partner in Hari Enterprises. But court took decision in the favour of Mohan as
Keshav knowingly allowed himself to be represented as a partner in the firm.
a) ldentify and explain the type of partner being highlighted in the above
case.
b) Mention the way-out through which Keshav can get away from the claim
of Mohan.




24.

Healtho Ltd." is a popular health management company offering a wide range
of healthcare products to the customers. Two years back, the company started
a series of online fitness classes and this segment of business has been a big
hit right from its inception. It has helped the company to make huge profits. By
taking into consideration, the requests from many of its regular clients, the
company has now decided to start fitness centres at five strategic locations
within the country. The management of the company has decided to use the
portion of their undistributed earnings to finance the new business venture.

Identify and explain any two merits and one limitation of the source of
business finance that the company intends to use for financing its expansion
plans.

25.

Three friends Arun, Tarun and Varun are engaged in different types of
activities to earn their livelihood. Arun describes his occupation by saying that,
transfer of interest is not possible in case of my occupation and at the same
time it does not require any capital investment." Tarun remarks," in my
occupation also transfer of interest is not possible, but one needs to possess
high degree of specialized knowledge in a particular field." Varun shares that,
in his occupation transfer of interest is possible with some formalities and also
capital investment is essential. In context of the above case:

(a) Identify the different types of economic activities in which Tarun and Varun
are involved.

(b) Give any three points of difference that have not been mentioned in the
above para between the activities in which Tarun and Varun are involved.

26.

(A) Explain the meaning and three advantages of ‘Mail Order House’.
OR
(B) Explain the meaning and three limitations of ‘Chain Stores’

27.

Latha has decided to persue a Startup Venture to offer organic pet food. She
has already done a self-introspection to be assured of her potential in the
concerned field. Furthermore, she has conducted an online research with
participation of pet owners, regarding the extent to which the need for
availability of organic pet food is unsatisfied.

a) Identify the concept through which Latha decided to persue its set up.
b) State the three features of the concept identified.

28.

Identify the following documents of external trade:

a) This receipt is given by the commanding officer of the ship to the
exporter after the cargo of loaded on the ship.

b) A statement of the no. of cases/packs and the details of the goods
contained in these packs.

c) It is a written instrument whereby the person issuing the instrument
directs the other party to pay a specified amount to a certain person /
the bearer of the instrument.

d) Itis also known as a vehicle / gate pass.




29.

The conduct of industry, trade and commerce using the computer networks is
gaining popularity now days. Identify the concept highlighted in the given
statement and also state its three benefits.

30.

(A) The businessmen are responsible for aggravating pollution, so it becomes
the moral duty of businessmen to take some positive steps for controlling this
problem." In the light of this statement, explain the role of businessmen in
environmental protection.

OR
(B) Business assumes various responsibilities towards different interested
groups. Explain such responsibilities towards government and consumers.

31.

(A) Radhika Ltd. has good growth prospects. So it is planning to expand its
business. For this the company needs additional funds. The finance manager
reports that the company’s assets are free to be mortgaged for the purpose of
borrowings. However, the existing owners have to dilute their voting powers.

a) Suggest and explain the source of finance most suitable for Radhika
Ltd.
b) Explain the advantages of the source of finance identified above.
OR

(B) Mayur is running a business enterprise needs financial, technical and
managerial services for the smooth functioning of his business enterprise. He
went to an institution that provides medium and long term finance also aims at
promoting industrial development of the country and conduct market services
for his convenience.

a) Recognize the appropriate source of finance discussed in above.
b) Write five merits of the source identified in part (a)

32.

(A) Mohit started buying goods from Germany. He collected information about
export price and terms of export. He got registered with the DGFT & obtained
an IEC number. Discuss the next four steps he needs to undertake before
buying goods from Germany.

OR
(B) “The Government has passed export quality control and inspection act
1963 for compulsory inspection of certain products by a competent agency as
designated by the government for exporting goods”. Enumerate the four steps
that immediately precedes the step mentioned in above statement

33.

Master Ltd., a foreign company, started its business in an under-developed
country. The size of the business is quite large. The company has plenty of
resources. It employs thousands of people in the under-developed country.
The raw materials used by the company are readily available here. However,
since there was not demand for these raw materials here, the producers were
unable to get the best price for it. Due to this reason, the producers were
discouraged. Some local businessmen used to act arbitrarily earlier, but now
they have corrected themselves. The reason for their becoming better is
competition with the foreign company. Now their arbitrary approach has ended




altogether. Master Ltd. is using completely the latest technology in its various
business activities. As a result, the local people also have got the opportunity
to learn the new technology. Because of using the modern technology and
doing production at a large scale, the company's cost of production is very low.
Because of its huge size and status, the company occupied a dominant
position in the market and took over some domestic firms.

a) Identify and explain the type of business enterprise is referred to in the
above para

b) Also explain any three features of the enterprise identified in (a) by quoting
the lines from the above para.

34.

Axis Ltd. made an application for registration to the registrar of the company
on 3™ March 2024, with an objective of manufacturing jute bags to sell it with
in the country. The registrar issued the document on 8" of March, mentioning
the date of 5" March on it. Later on it was discovered that company had
already entered into a contract with Alia Ltd. On 4™ March, which it couldn’t
complete and Alia Ltd. filed a suit against the company and also questioned on
the existence of Axis Ltd. But the court refused the claim of Alia Ltd.

a) Mention the document of formation of company is highlighted here.

b) ldentify and explain the type of contract in which Axis Ltd. Has entered.

c) Why the claim of Alia Ltd. was refused by the court of law. Explain by
quoting lines from case.
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Marking Scheme/Hints to solutions

[Note: Any other relevant answer, not given here under but given by the candidates, be

suitably awarded.]

Q.No Value points/ Key points Marks Total
allotted  to | marks
each key
point

1. d) Both A & R are true and R is the correct explanation of A. 1 (1)

2. b) Sahyog —Hundi 1 (2)

3. a) Companies Act, 2013, 50 1 (1)

4. c) Large amount of funds can be generated through trade credit 1 (1)

5. c) Insurance 1 (1)

6. c) A—iii, B—i,C—iv,D—ii 1 Q)

7. d) working capital requirements 1 (1)

8. d) Bootstrapping 1 (1)

9. c) Producers cooperative societies 1 (2)

10. a) Debenture 1 (1)

11. b) B2C Commerce 1 (2)

12. d) Share 1 (1)

13. a) Internal trade 1 (1)

14. d) Bottles 1 (2)

15. a) 1, 2, 3 are correct but 4 is incorrect. 1 (1)

16. b) Grant of credit 1 (1)

17. c) Furniture 1 (1)

18. a) Both the statements are true 1 (1)

19. b) Portfolio Investment 1 (1)

20. |a)IGST 1 (1)

21. a. Departmental Undertaking 1 mark for | (3)

b. Features:- identification

The funding of these enterprises come directly from the
Government Treasury and are an annual appropriation from
the budget of the Government. The revenue earned by these
is also paid into the treasury;

(i) They are subject to accounting and audit controls applicable to

+ 1 mark for
each feature




other Government activities;

(iii) The employees of the enterprise are Government servants and
their recruitment and conditions of service are the same as
that of other employees directly under the Government. They
are headed by Indian Administrative Service (IAS) officers
and civil servants who are transferable from one ministry to
another,

(iv) It is generally considered to be a major subdivision of the
Government department and is subject to direct control of the
ministry;

(v) They are accountable to the ministry since their management

is directly under the concerned ministry. ( Any Two)

OR

a. Government Company

b. Features:-

() It is an organisation created under the Companies Act, 2013 or
any other previous Company Law.

(i) The company can file a suit in a court of law against any third
party and be sued;

(i) The company can enter into a contract and can acquire
property in its own name;

(iv) The management of the company is regulated by the
provisions of the Companies Act, like any other public limited
company;

(v) The employees of the company are appointed according to

their own rules and regulations as contained in the Memorandum

and Articles of Association of the company. The Memorandum
and Articles of Association are the main documents of the
company, containing the objects of the company and its rules and
regulations; ( any other suitable point )

1 mark for
identification
+ 1 mark for
each benefit

22.

a)
Basis Life Insurance Fire Insurance | Marine
Insurance
Subject | The subject The subject | The subject
Matter matter of matter is any matter is a
insurance is physical ship, cargo or
human life. property or freight.
assets
Elem Life  Insurance| Fire insurance | Marine
ent has the elements| has only the | insurance
of protection and| element of | has only the
investment or| protection and | element of
both. not the protection
element of

1 mark for
each
difference

3)




investment.
Insurable | Insurable Insurable Insurable
interest interest must interest  on interest must
be present at the subject be present at
the time of matter must the time
affecting  the be present when claim
policy but both at the falls due or
need not be time of at the time of
necessary at effecting loss only.
the time when policy as well
the claim falls as when the
due. claim falls
due

(ANY OTHER RELEVANT DIFFERENCE)

OR

i) Cellular mobile services: These are all types of mobile telecom
services including voice and non-voice messages, data services
and PCO services utilizing any type of network equipment within
their service area. They can also provide direct inter connectivity
with any other type of telecom service provider.

(i) Fixed line services: These are all types of fixed services
including voice and non-voice messages and data services to
establish linkages for long distance traffic. These utilize any type
of network equipment primarily connected through fiber optic
cables laid across the length and breadth of the country. The also
provide inter connectivity with other types of telecom services.

(iii) Cable services: These are linkages and switched services
within a licensed area of operation to operate media services,
which are essentially one-way entertainment related services. The
two-way communication including voice, data and information
services through cable network would emerge significantly in the
future. Offering services through the cable network would be
similar to providing fixed services ; ( any other suitable point)

5 mark

reach
heading +
mark

fo

Yo

fo

rexplanation

23.

a) Partner by holding out: A partner by ‘holding out’ is a person
who though is not a partner in a firm but knowingly allows him/her
to be represented as a partner in a firm. Such a person becomes
liable to outside creditors for repayment of any debts which have
been extended to the firm on the basis of such representation.

1 mark for
identification

+ 1mark
each for
explanatio

n

)




b) In case he is not really a partner and wants to save himself from
such a liability, he should immediately issue a denial, clarifying his
position that he is not a partner in the firm. If he does not do so, he
will be responsible to the third party for any such debts.

24. Retained earnings as a source of funds has the following merits 3)
() Retained earnings is a permanent source of funds available to
an organisation. 1 mark for
(i) It does not involve any explicit cost in the form of interest, | each
dividend or floatation cost. explanation
Retained earnings as a source of funds has the following
limitations:
(i) Excessive Ploughing back may cause dissatisfaction amongst
the shareholders as they would get lower dividends.
( any other suitable point )
25. Y% mark for | (4)

a) Varun — Business, Tarun- Profession

b) The difference between business and profession is as follow:

Basis Business Profession

Mode of Entrepreneur’s Membership of a
establishment decision and other | Professional body
legal formalities, if | and certificate of
necessary practice

Nature of work Provision of goods

and services to the

Rendering of
personalized,

public

expert services

Return

Profit earned

Professional fee

(ANY OTHER RELEVANT DIFFERENCE)

each
identification

1 mark for
each
difference




26.

Mail order houses are the retail outlets that sell their merchandise
through mail. There is generally no direct personal contact
between the buyers and the sellers in this type of trading.

Advantages

(i) Limited capital requirement: Mail order business does not
require heavy expenditure on building and other infrastructural
facilities. Therefore, it can be started with relatively low amount of
capital.

(i) Elimination of middle men: The biggest advantage of mail-
order business from the point of view of consumers is that
unnecessary middlemen between the buyers and sellers are
eliminated. This may result in lot of savings both to the buyers as
well as to the sellers.

(i) Absence of bad debt: Since the mail order houses do not
extend credit facilities to the customers, there are no chances of
any bad debt on account of non-payment of cash by the
customers.

OR

Chain stores or multiple shops are networks of retail shops that
are owned and operated by manufacturers or intermediaries.

Limitations
() Limited selection of goods: Some of the multiple shops deal
only in limited range of products. This is especially the problem
with the chain stores which are owned and operated by
manufacturers, and as such mostly sell the products produced by
the themselves. They do not sell products of other manufacturers.
In that way the consumers get only a limited choice of goods. This
however is not the case with retailer owned chain stores such as
Big Apple or Reliance Retail which sell products of a large number
of manufacturers.
(i) Lack of initiative: The personnel managing the multiple shops
have to obey the instructions received from the head office. This
makes them habitual of looking up to the head office for guidance
on all matters, and takes away the initiative from them to use their
creative skills to satisfy the customers.
(i) Lack of personal touch: Lack of initiative in the employees
sometimes leads to indifference and lack of personal touch in
them.

( Any other suitable point)

1 mark for
meaning + 1
mark for
each
advantage

1 mark for
meaning + 1
mark for
each
limitation

(4)




27.

a) Entrepreneurship is the process of setting up one’'s own
business as distinct from pursuing any other economic activity, be
it employment or practicing some profession.

b) The following are the characteristics of entrepreneurship:

(i) Systematic Activity: Entrepreneurship is not a mysterious gift
or charm and something that happens by chance! It is a
systematic, step-by-step and purposeful activity. It has certain
temperamental, skill and other knowledge and competency
requirements that can be acquired, learnt and developed, both by
formal educational and vocational training as well as by
observation and work experience. Such an understanding of the
process of entrepreneurship is crucial for dispelling the myth that
entrepreneurs are born rather than made.

(i) Lawful and Purposeful Activity: The object of
entrepreneurship is lawful business. It is important to take note of
this as one may try to legitimize unlawful actions as
entrepreneurship on the grounds that just as entrepreneurship
entails risk, so does illicit businesses. Purpose of entrepreneurship
is creation of value for personal profit and social gain.

(ilf) Innovation: From the point of view of the firm, innovation may
be cost saving or revenue-enhancing. If it does both it is more
than welcome. Even if it does none, it is still welcome as
innovation must become a habit!

Entrepreneurship is creative in the sense that it involves creation
of value. By combining the various factors of production,
entrepreneurs produce goods and services that meet the needs
and wants of the society. Every entrepreneurial act results in
income and wealth generation. Entrepreneurship is creative also
in the sense that it involves innovation-introduction of new
products, discovery of new markets and sources of supply of
inputs, technological breakthroughs as well as introduction of
newer organisational forms for doing things better, cheaper, faster
and, in the present context, in a manner that causes the least
harm to the ecology/ environment.

1 mark for
identification
+ 1 mark for
each feature.

(4)

28.

a) Mate receipt

b) Packaging list
c) Bill of exchange
d) Cart Ticket

1 mark for
each point

(4)

29.

E- Business

Benefits:

i) Ease of formation and lower investment requirements
(i) Convenience

(iii) Speed

(iv) Global reach/access

(v) Movement towards a paperless society (any three)

1 mark for
identification
% mark for
each
heading and
% mark for
explanation

(4)




30.

(i) A definite commitment by top management of the enterprise to
create, maintain and develop work culture for environmental
protection and pollution prevention.

(i) Ensuring that commitment to environmental protection is
shared throughout the enterprise by all divisions and employees.
(iii) Developing clear-cut policies and programmes for purchasing
good quality raw materials, employing superior technology, using
scientific techniques of disposal and treatment of wastes and
developing employee skills for the purpose of pollution control.

(iv) Complying with the laws and regulations enacted by the

Government for prevention of pollution.

OR

Responsibility towards the government: An enterprise must
respect the laws of the country and pay taxes regularly and
honestly. It must behave as a good citizen and act according to
the well accepted values of the society.

Responsibility towards the consumers: Supply of right quality
and quantity of goods and services to consumers at reasonable
prices constitutes the responsibility of an enterprise toward its
customers. The enterprise must take proper precaution against
adulteration, poor quality, lack of desired service and courtesy to
customers, misleading and dishonest advertising, and so on.

1 mark for
each point

2 marks for
each point

(4)

31.

a) Equity Shares

Equity shares are the most important source of raising long term
capital by a company. Equity shares represent the ownership of a
company and thus the capital raised by issue of such shares is
known as ownership capital or owner’s funds.

b)The important merits of raising funds through issuing equity

shares are given as below:

() Equity shares are suitable for investors who are willing to
assume risk for higher returns;

(i) Payment of dividend to the equity shareholders is not
compulsory. Therefore, there is no burden on the company in
this respect;

(iii) Equity capital serves as permanent capital as it is to be repaid
only at the time of liquidation of a company. As it stands last
in the list of claims, it provides a cushion for creditors, in the
event of winding up of a company;

(iv) Equity capital provides credit worthiness to the company and
confidence to prospective loan providers;

(v) Funds can be raised through equity issue without creating any

charge on the assets of the company. The assets of a company

% mark for
identification
% mark for
meaning +1
mark for
each merit.

(6)




are, therefore, free to be mortgaged for the purpose of borrowings,
if the need be;

32. 1. Obtaining foreign exchange Y% mark for | (6)
2.Placing order or indent heading +
3.0btaining letter of credit 1% mark for
4.Arranging for finance (with suitable explanation) each

explanation

OR
1. Production or procurement of goods % mark each
2. obtaining pre shipment finance heading and
3. Obtaining export license 1% mark for
4. Assessing the importer’s creditworthiness and securing a explanation
guarantee for payments
(with suitable explanation)
33. Y2 mark for
a) Global enterprise/ Multinational corporation/ transnational | identification
corporations + 1 mark for
explanation

b) + ¥ mark

1. Huge capital resources: “The company has plenty of each for | (6)

resources.” quoting the
line + %

2. Advanced technology: “Master Ltd. is using completely the mark for

latest technology in its various business activities” heading + ¥
mark for
each

3. Expansion of market territory: “the company occupied a explanation

dominant position in the market and took over some domestic

firms”

34. a) Certificate of incorporation 1mark for

Identification

b) Preliminary Contracts:

During the promotion of the company, promoters enter into certain | + 1 mark of | (6)

contracts with third parties on behalf of the company. These are
called preliminary contracts or pre-incorporation contracts. These
are not legally binding on the company.

c) The Certificate of Incorporation is a conclusive evidence of the
regularity of the incorporation of a company. The Certificate of
Incorporation once issued, is a conclusive evidence of the
existence of the company. Even when a company gets registered

identification
+1lmark for
each

explanation+
2 marks for
explanation+
1 mark for
quoting lines




with illegal objects, the birth of the company cannot be questioned.
The only remedy available is to wind it up. Because the Certificate
of Incorporation is so crucial, the Registrar has to go very carefully
before issuing it.

“The registrar issued the document on 8" of March, mentioning
the date of 5" March on it".
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Class: XI
PHYSICAL EDUCATION

Time:; 03 Hours SAMPLE PAPER- 2025 Maximum Marks; 70

General instructions:

e The questions paper consists of 5 sections and 37 questions.

e Section A consists of question 1-18 carrying 1 mark each and is multiple choice questions. All
questions are compulsory.

e Section B consists of questions 19-24 carrying 2 marks each and are very short answer types and
should not exceed 60-90 words. Attempt any 5.

e Section C consists of questions 25-30 carrying 3 marks each and are short answer types and
should not exceed 100-150 words. Attempt any 5.

e Section D consists of questions 31-33 carrying 4 marks each and are case studies. There are
internal choices available.

e Section E consists of questions 34-37 carrying 5 marks each and are long answer types and
should not exceed 200-300 words. Attempt any 3.

Section A
1) In 1948, the Central Government Physical Education Committees were established, also
referred to as:
a) TaraChand Committee ¢) Rajkumari Amritkaur Committee
b) Simon Committee d) NSNIS Committee
2) How many times have the Olympics been postponed since their resuscitation as modern
events?
a) Once-1916 ¢) Thrice- 1916, 1940 & 1944
b) Twice-1940, 1944 d) Never postponed

3) “It encourages us to consider sport as atool for mutual understanding among individuals and
people from all over the world” is an example of which of the following Olympic values?
a) Friendship  b) Respect c) excellence d) Fair play
4) ldentify the image

 _—Fh
=

a) Dand Dhoti b) Sutra Neti c) JalaNeti d) Vaman Dhoti
5) What does the element of Dharna in ashtanga yoga refer t0?

a) Breathing control ¢) control of the senses

b) complete stability of the mind d) union with the supreme soul

6) Which medical professional can help children with a number of oral disorders such as trouble
swallowing, motor skills, speech issues, cognitive-linguistic conditions and language?
a) Physiotherapist C) speech therapist
b) occupational therapist d) special education counselor



7) A disability present at the time of birth is also known as
a) Invisible disability ) congenital disability
b) Locomotor disability d) temporary disability
8) Inorder to prevent external blood loss, it is best to:
a) Apply direct pressure over the wound.
b) Take the patient to hospital
¢) Wash the wound with water.
d) Apply cream on the wound
9) What isthe ability to perform cardio vascular exercises like running, aerobics exercises or
swimming for an extended period of time called?

a) Speed b) Strength ¢) Endurance d) Flexibility
10) A skinfold measurement devices used on the body is called as’

a) Caliper ) sphygmomanometer

b) Waist measuring tape d) none of the above.

11) Rohan isa 15 year old athlete, hiswaist circumference is 80 cm and hip circumference is 100
cm. What is the waist-hip ratio of Rohan?

a 08 b) 0.9 c) 10 d) 1.25
12) Match List — I with List — Il and select the correct answer from the code given below:
List—1 List - 11
(1) Bone 1 Connects muscle to bone
(i) Cartilage 2 Connects bones to each other
(iii)  |Ligament 3 Provide cushioning and prevent friction
(iv)  [Tendon 4 Framework to body
CODES
[ i iii iv
a) 2 3 1 4
b) 4 3 2 1
) 2 3 4 1
d) 4 2 1 3

13) Which of the following is known as windpipe?
a) Pharynx b) Larynx c) Trachea d) Oropharynx
14) Given below are the two statements labeled Assertion (A) and Reason (R):
Assertion (A): Understanding by mechanical principles helps athletes improve technique and
prevent injuries.
Reason (R): Biomechanicsis crucial in analyzing human movement patterns and optimizing
sports performance.
a) Both (A) and (R) aretrue and ( R) isthe correct explanation of (A).
b) Both (A) and (R) aretrue but ( R) is not the correct explanation of (A).
c) Both (A)and (R) arefalse.
d) (A)isfdsebut (R) istrue
15) It is An imaginary horizontal surface which divides the body into upper and lower part is
known as:
a) Digital Plane b) Frontal Plane c)Transverse Planed) Vertical Plane
16) Psychological attribute That refers to the ability to maintain focus motivation and positive
thinking in the face of pressure adversity and uncertainty




a) Reslience b) Mental Toughness c) Team Cohesion  d) Attention
17) The process of the body getting accustomed to a particular training program is known as:

a) Recovery b) Training Load ¢) Adaptation d) Overload
18) Which of the following is NOT a side effect associated with anabolic steroid use in sports?
a) A) Liver damage C) Increased risk of heart disease
b) Enhanced recovery time d) Mood swings
Section B

(Attempt any five questions)

19) Write the purpose of RFID chips?

20) Write abrief explanation of the “pursuit of excellence’.

21) Why is it important to focus on the child, not the disability, in social interactions?

22) Describe how physical activity can influence one's ability to lead effectively.

23) How is body mass index calculated, and what does it indicate about an individual's health?
24) How are smooth muscle muscles different from cardiac muscle?

Section C
(Attempt any five guestions)

25) How have the modern Olympics influenced the development of sports and physical education
globally? Provide examples to support your answer."

26) How important is understanding of joint structure to avoid sports injuries?

27) Differentiate between kinetic and kinematic analysis in the context of sports performance. Give
examplesto illustrate each type of analysis.

28) Compare and contrast the movements occurring around the three cardinal axes in terms of their
biomechanical implications for sports performance.

29) Describe the key developmental milestones and characteristics observed during infancy. How
do these milestones contribute to the overall physical, cognitive, and socio-emotional
development of infants?

30) How can coaches help athletes develop their skills in sports? Give one example of how a coach
might provide feedback to improve technique.

Section D
(Internal Choices Available)

31) XY Z has adiverse student population, including 20 students with different disabilities.
Recognizing the importance of physical activity for al, the school has implemented and
adapted (APE) physical education program. This program is designed to ensure that every
student, regardless of their abilities, has the opportunity to participate in activities that promote
health and social interactions. The program is guided by training professionals who specialize
in adaptive physical education.

From the case study, answer the following questions

a) is the professional who helps improve speech and communication skills.

b) Name the professional responsible for designing an individualized educational plan at
the school.

C) is the type of disability that affects cognitive functions.

d) Write any one disability etiquette.
Or
The APE program is guided by professionals who specializein physical

education.



32) Ombeer Singh is 50 years old recreational athlete who always maintain a high level of
fitness Recently, he decided to undergo a comprehensive health related fitness assessment to
ensure he remains in optimal health and to identify any areas for improvement. Ombeer Singh
completed a Vo2 Max test on the treadmill. His one repetition maximum (1 RM) for the bench
press was 80 kg. He completes 40 push-ups in 1 minute and undergoes flexibility and body
composition test.

a) type of test did Ombeer Singh undergo to measure his cardiovascular fithess?
b) isthe test to measure lower body flexibility.
c) One repetition maximum (1 RM) isatest to measure health related
fitness components.
d) Hisability to perform 40 push-upsin one minute is an indicator of health
related fitness components.
Or
Ombeer Singh's one repetition maximum (1 RM) for the bench pressis kg.

33) Vivekisa25 year old professional marathon runner who has been training intensively
for the upcoming City marathon.. His coach Mr Chauhan designs a personalize training
program for him. During the fifth week started feeling excessively fatigued and notice a drop
in performance despite this he pushed through training session by the end of 6 week he
experience Muscle soreness, irritability and disturb sleep. Coach noticed these signs and
decided to adjust histraining program. Mr Chauhan focused on Active recovery, better diet

and ensure adequate rest.
From the case study, answer the following questions
a) isthe primary cause of Vivek excessive fatigue during 5th week .
b) Mr. Chauhan, Vivek's coach, noticed signs of in Vivek, prompting him to

adjust the training program.
c) Despite feeling fatigued, Vivek pushed through his training sessions, leading to
by the end of the 6th week.
d) is the main purpose of recovery.

Section E
(Attempt any three questions)

34) "In the realm of physical education, the Government of India has implemented several schemes
and committees post-independence aimed at promoting sports and fitness. Explain any five of
them."

35) State the physiological and psychological benefits of practicing yogic kriyas (shat karma). How
do these cleansing techniques contribute to holistic health and well-being? Provide examples of
specific shat karmas and their therapeutic applications in modern lifestyles.”

36) "Discuss the concept of wellness and its dimensions. Explain how each dimension contributes to
achieving holistic well-being. Provide examplesto illustrate the practical application of wellness
strategiesin everyday life."

37) Evaluate the impact of peer pressure on adolescent substance abuse and strategies for prevention
and management.



MARKING SCHEME
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Note: Any other relevant answer, not given here but given by the candidates, should
be awarded accordingly.

ALLOTTE
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MARKS
1 A) TARACHAND COMMITTEE 1 1
2 C) Thrice- 1916, 1940 & 1944 1 1
3 A) Friendship 1 1
4 C) Jala neti 1 1
5 b) complete stability of the mind 1 1
6 b) occupational therapist 1 1
7 c¢) congenital disability 1 1
8 a) Applied direct pressure over the wound 1 1
9 ¢) Endurance 1 1
10 a) calliper 1 1
11 a) 0.8 1 1
12 b) 4-3-2-1 1 1
13 c) Trachea 1 1
14 a) Both(A)and (R) aretrueand ( R) isthe correct 1 1
explanation of (A).
15 c) Transverse plane 1 1
16 b) Mental Toughness 1 1
17 c) Adaptation 1 1
18 b) enhance recovery time 1 1
19 The purpose (_)f RFID _chi_p_s is to engble Wi_reless identification and 2 2
tracking of objects or individuals using radio waves.
The pursuit of excellence involves striving for the highest
standards of achievement or performance in a particular
endeavor, driven by a relentless dedication to continuous
20 improvement and mastery. It encompasses setting ambitious 2 2
goals, maintaining disciplined effort, learning from setbacks,
and consistently pushing boundaries to reach one's full
potential.
It is important to focus on the child, not the disability, in social
interactions because doing so promotes inclusivity, respect, and
dignity. By emphasizing the child's abilities, strengths, and unique
personality rather than defining them by their disability, we foster
21 | a positive environment that encourages self-esteem, social 2 2
integration, and equal opportunities for participation in activities
and relationships. This approach helps build empathy, reduces
stigma, and supports the child in developing a positive self-image
and fulfilling their potential in all aspects of life.
22 Physical activity plays a crucial role in enhancing one's ability 2 2
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to lead effectively through various physiological, psychological,
and behavioral mechanisms:
e Physical Health and Energy Levels:
e Stress Reduction and Mental Clarity:
e Team Building and Communication:
e Role Modeling and Inspiration:
Body Mass Index (BMI) is calculated using the following formula:
BMI= weight (kg) divided by height (m)2
BMI is a numeric value derived from an individual's weight and
height. It provides a rough estimate of body fat and helps
23 L . . . o 1+1 2
categorize individuals into different weight categories:
e Underweight: BMI less than 18.5
e Normal weight: BMI between 18.5 and 24.9
e Overweight: BMI between 25 and 29.9
e Obese: BMI 30 or higher
Smooth muscle and cardiac muscle are two distinct types of
muscle tissues found in the human body, each with unique
structural and functional characteristics:
e Structure: Smooth muscle is non-striated and spindle-
shaped, while cardiac muscle is striated and branched.
24 e Location: Smooth muscle is found in hollow organs and 2 2
vessels, while cardiac muscle is exclusive to the heart.
e Control: Smooth muscle is primarily controlled involuntarily
by the autonomic nervous system, while cardiac muscle is
both involuntarily controlled by the autonomic nervous
system and intrinsically regulated by its own pacemaker.
The Modern Olympics, since their inception in 1896, have
profoundly influenced the development of sports and physical
education on a global scale in several significant ways:
25 1. International Participation and Unity: 1x3 3
2. Sporting Excellence and Innovation:
3. Promotion of Physical Education:
4. Inspiration and Role Models:
Understanding joint structure is crucial for athletes and sports
enthusiasts to effectively prevent sports injuries for several
op | reasons: 1x 3 3

1. Biomechanical Functionality:
2. Identifying Vulnerabilities:
3. Proper Technique and Form:
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4. Injury Rehabilitation:
5. Preventive Conditioning
Aspect Kinetic Analysis Kinematic Analysis
Focus | Examines forces and | Analyzes motion parameters
torques involved in (positions, velocities,
movement. accelerations).
Example | Measuring ground reaction | Tracking joint angles in
forces during sprinting. a tennis serve.
Tools | Force plates, load cells, Motion capture systems,
biomechanical sensors. video analysis software.
27 1x3 3
Information | Quantifies external and | Provides data on
Obtained internal forces (e.qg., movement patterns,
ground reaction forces, | joint angles, and
muscle forces). trajectories.
Purpose | Understands Evaluates movement
mechanical aspects quality, technique
influencing refinement, and skill
performance and optimization.
injury risk.
Applications | Used in injury Enhances sports
prevention, performance through
biomechanical technique analysis, skill
research, and development, and
optimizing training | rehabilitation.
protocols.
Comparison and Contrast:
e Range of Motion:
28 o Sagittal: Primarily involves forward and 1x 3 3

backward movements, maximizing linear
acceleration and deceleration.

o Frontal: Involves lateral movements,
emphasizing stability and lateral agility.
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o Transverse: Focuses on rotational movements,
essential for generating power and controlling
direction.

e Functional Role:

o Sagittal: Supports propulsion and acceleration
in activities requiring straight-ahead motion.

o Frontal: Enhances lateral stability, agility, and
movement control in side-to-side actions.

o Transverse: Facilitates rotational power
generation and precise movement adjustments.

e Sports Examples:

o Sagittal: Sprinting, jumping (e.g., long jump),
and kicking (e.g., soccer).

o Frontal: Side-stepping (e.qg., football), lateral
jumps (e.g., basketball), and skating.

o Transverse: Golf swing, tennis serve, baseball
pitching, and martial arts techniques.

29

Contributions to Overall Development:

e Physical Development: Achieving motor milestones
supports physical growth and coordination, enabling
infants to explore their surroundings and interact with
objects and people.

e Cognitive Development: Sensory exploration and
language acquisition during infancy foster cognitive
skills essential for learning, problem-solving, and
understanding the world.

e Socio-emotional Development: Early attachments
and emotional expressions form the basis for future
relationships and social interactions, influencing
emotional resilience and social competence.

30

Coaches play a crucial role in helping athletes develop their
skills in sports through structured training, personalized
feedback, and psychological support. One effective way a
coach can provide feedback to improve technique is through
video analysis. By recording an athlete's performance during
practice or competition, coaches can review specific
movements, identify areas for improvement, and provide
constructive feedback on technique adjustments. This visual
feedback helps athletes visualize their actions, understand
technical nuances, and make necessary corrections to
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enhance their overall performance in the sport.
31 Speech therapist 1 1
i
(@) p p
31 Specical educator 1 1
(b)
31 . .
©) Intellectual Distability 1 1
1. Ask before your help
2. Keep your tone low
31 3. Never play with their equipment
) (any one or any other appropriate etiquette) 1 1
Or
Adaptive physical education
32 Vo2 Max 1 1
(a)
32 .
Sit and reach test 1 1
(b)
32
©) Muscular Strength 1 1
Muscular Endurance
32
) Or 1 1
80 kg
33
Over Trainin 1 1
(a) ’
33 i
(b) Drop in performance 1 1
(i?’) Muscle soreness, irritability and disturb sleep 1 1
33 .
) Improving performance 1 1
Khelo India Programme: Launched in 2018, Khelo India aims to
revive the sports culture in India at the grassroots level. It focuses
on identifying and nurturing young talent across various sports
disciplines through annual competitions at the school and college
levels.
Fit India Movement: Initiated in 2019 by Prime Minister Narendra
Modi, the Fit India Movement promotes physical fitness and
encourages people of all ages to adopt an active and healthy
34 lifestyle. It includes awareness campaigns, fitness challenges, and 1x5 5

community events.

National Sports Development Fund (NSDF): Established to
support the development of sports in India, NSDF provides
financial assistance to talented athletes, training academies, and
sports federations. It aims to improve sports infrastructure,
coaching facilities, and international sports exposure for athletes.
National Rural Sports Programme (NRSP): Introduced to
promote sports and physical activity in rural areas, NRSP focuses
on organizing sports competitions, establishing sports
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infrastructure, and providing training opportunities to enhance
participation and talent development in rural communities.
Rashtriya Yuva Khel Abhiyan (RYKA): Launched to promote
sports among youth, RYKA aims to develop a sports ecosystem at
the district level. It includes the setting up of sports clubs, training
camps, and organizing sports events to engage young individuals
in physical activities and sports.

35

Physiological Benefits:

1. Detoxification: Many shat karmas involve cleansing
technigues such as dhauti (cleansing of the digestive
tract), which help remove toxins and waste products
from the body. For example, kunjal kriya involves
induced vomiting to cleanse the stomach and upper
digestive system, aiding in detoxification.

2. Improved Digestive Health: Practices like jal neti
(nasal cleansing with saline water) and sutra neti
(nasal cleansing with a thread) help clear nasal
passages and sinuses, improving respiratory health
and enhancing the body's natural defense
mechanisms against infections.

3. Enhanced Vitality: Techniques such as kapalabhati
(skull shining breath) and trataka (gazing meditation)
stimulate the nervous system and increase blood
circulation, promoting vitality and energy levels in the
body.

Psychological Benefits:

1. Stress Reduction: Shat karmas often include
practices like basti (colon cleansing) and nauli kriya
(abdominal churning), which help release tension and
stress stored in the abdominal area. This can lead to a
sense of relaxation and mental clarity.

2. Mental Focus: Practices such as tratak (gazing
meditation) and dhauti kriya (cleansing techniques)
enhance concentration and improve mental focus,
making them beneficial for individuals dealing with
distractions and mental fatigue in modern lifestyles.

Holistic Health and Well-being: Shat karmas contribute to
holistic health by addressing both physical and mental
aspects of well-being. By purifying the body and mind, these
practices create a foundation for overall health, longevity, and

2+3




KEY POINTS/ VALUE POINTS

ALLOTTE
D
MARKS

TOTAL
MARKS

spiritual growth in yoga traditions.

Therapeutic Applications in Modern Lifestyles: In modern
lifestyles, specific shat karmas are increasingly recognized
for their therapeutic benefits:

e Neti kriyas (nasal cleansing) are used to alleviate
sinus congestion and respiratory allergies.

e Basti kriya (colon cleansing) is considered beneficial
for digestive disorders and improving gut health.

e Trataka (gazing meditation) is practiced to enhance
focus and alleviate eye strain from prolonged screen
time.

In conclusion, yogic kriyas or shat karma play a vital role in
promoting holistic health and well-being by combining
physical purification with mental clarity and spiritual
rejuvenation. These practices offer therapeutic benefits that
are increasingly relevant and beneficial in addressing the
challenges of modern lifestyles.

"Discuss the concept of wellness and its dimensions. Explain
how each dimension contributes to achieving holistic well-
being. Provide examples to illustrate the practical application
of wellness strategies in everyday life."

36

1. Concept of Wellness: Define wellness as a holistic
approach to health that encompasses physical,
mental, emotional, social, and spiritual well-being.
Highlight its proactive nature in promoting optimal
health and quality of life.

2. Dimensions of Wellness:

o Physical Wellness: Focus on maintaining a
healthy body through regular exercise,
balanced nutrition, and adequate rest. Example:
Engaging in daily physical activity and following
a nutritious diet to improve cardiovascular
health.

o Mental Wellness: Emphasize mental health
and cognitive function through stress
management, positive thinking, and
mindfulness practices. Example: Practicing
meditation or yoga to reduce anxiety and
enhance mental clarity.

1x5
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o Emotional Wellness: Addressing emotions

effectively, fostering resilience, and developing
healthy coping mechanisms. Example: Seeking
support from friends or counselors during
challenging times to maintain emotional
balance.

Social Wellness: Nurturing meaningful
relationships, fostering a sense of belonging,
and contributing positively to the community.
Example: Volunteering for community service
activities to strengthen social connections and
support networks.

Spiritual Wellness: Exploring personal beliefs,
values, and purpose in life to find meaning and
inner peace. Example: Engaging in spiritual
practices such as prayer, reflection, or nature
walks to enhance spiritual well-being.

3. Contributions to Holistic Well-being: Discuss how
each dimension of wellness interacts with others to
create a balanced and fulfilling life. Emphasize the
interconnectedness and synergy among physical,
mental, emotional, social, and spiritual dimensions.
Practical Application: Provide real-life examples or
scenarios where individuals integrate wellness
strategies into their daily routines to enhance overall
well-being. Highlight the importance of personalized
approaches and proactive health management.

37

Adolescents who succumb to peer pressure and engage in
substance abuse are at higher risk of various negative
consequences, including impaired academic performance,
health problems, legal issues, and strained relationships with
family and peers. The impact can be long-lasting, affecting
their future opportunities and well-being.

Strategies for Prevention and Management:

1. Education and Awareness Programs:
o Schools can implement comprehensive

substance abuse prevention programs that
educate students about the risks and
consequences of drug and alcohol use. These
programs should include factual information,

2+3
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discussions on peer pressure, and strategies for
resisting temptation.
2. Promoting Positive Peer Influence:

o Encouraging positive peer relationships and
creating a supportive school environment can
mitigate negative peer pressure. Schools can
foster peer support groups, mentoring
programs, and leadership opportunities that
promote healthy behaviors and discourage
substance use.

3. Parental Involvement and Communication:

o Parents play a crucial role in preventing
substance abuse by maintaining open
communication with their adolescents.
Establishing clear expectations, setting
boundaries, and discussing the risks of
substance use can empower adolescents to
make informed decisions and resist peer
pressure.

4. Role of Community and Support Services:

o Community organizations, healthcare providers,
and mental health professionals can collaborate
with schools to provide resources and support
for adolescents struggling with substance
abuse. Access to counseling, peer support
groups, and addiction treatment services is
essential for intervention and recovery.

5. Policy and Enforcement:

o Implementing and enforcing school policies that
prohibit substance use on campus and during
school-related activities can deter adolescents
from experimenting with drugs and alcohol.
Consistent enforcement and consequences for
policy violations reinforce the message that
substance abuse is unacceptable.




Marking Scheme 2024-2025

Class :XI
Subject: Computer Science(083)
Section A Marks
1. a. Sum# 1
2. c. Ubuntu 1
3. d. statement 4 1
4. c. UTF-128 1
5. b. Exclusive OR Gate 1
6. d. zottabyte 1
7. c. ('Learn today ', 'Lead’, ' tomorrow') 1
8. | c. Phishing 1
9. d. statistics 1
10. |b.34.0 1
11. d.5 1
12. b. Spyware 1
13. b. Change her social media privacy settings to restrict who can see her posts 1
14. a. Found 1
15. a. Alicense that allows users to view and modify the source code of the software 1
16. 1
b. Including a clear subject line and polite greeting
17. | a. Both Aand R are True and R is the correct explanation for A. 1
18. | c. Ais True but R is False. 1




Section B

19 a. Embedded Operating System 1+1
b. Multi-user Operating System
OR
Rahul's laptop is likely using the Unicode encoding scheme, specifically UTF-8,
UTF-16, or UTF-32. Unicode is designed to support a wide range of characters _1 mark for
from many different languages, including Chinese, Arabic, and Russian. Sakshi’s |dent|fy|:g
Laptop is using older and limited encoding scheme. e(;:z:deicng
Unicode is better than many encoding schemes because it is supported by many scheme
softwares and internet protocols. (any valid reason should be marked 1 mark for
appropriately) correct reason
20 |d={%"1,/b":2,'c":3} %*4=2
n={}
values = d.values()
keys = list(d.keys())
k=0
foriin values:
n[i] = keys[k]
k+=1
print (n)
21 | Syntax errors occur when code violates syntax rule of the programming language 1+1
preventing it from running. Detection occurs during compilation or interpretation.
Logical errors arise when code is syntactically correct but produces incorrect
results due to flaws in algorithm or logic.
OR
{'Ertiga': 8, 'XUV': 6, 'Innova': 8}
{'Ertiga": 8, 'XUV": 6, 'Innova': 8, 'Swift': 5}
22 a. Yes, by sharing her geolocated pictures, Shikha is leaving a digital footprint. DShe Yat¥s
acn manage her digital footprints by using privacy settings on social media,
avoiding sharing personal information online, using a VPN, deleting search history 1

and cookies, and setting up two-factor authentication.
b. Netiquettes are the code of good behavior on the internet. They are guidelines
for courteous communication and interaction online.
Netiquettes Shikha Should Follow on Social Media ( Any one ):
a. Respect Privacy
b. Think before posting
c. Respect others Opinions
d. Be mindful of language and tone (any relevant point must be marked)
OR
In India, the primary legal body that deals with appeals regarding cyber-related issues is
the Cyber Appellate Tribunal (CAT). The CAT operates under the jurisdiction of the
Information Technology Act, 2000, which provides a legal framework for addressing cyber
crimes, frauds, cyber attacks, and cyber bullying




23 1
1
A
B ——¢ 0
2
ol N
OR
a. (2220)10
b. (272.6)g
24.| Possible Outcomes: 2
a. Mango@Cherry@
b. Orange@Mango@Cherry@
Maximum value of t:4
Minimum Value of t:2
25| a.2x2* KB 1+1=2

b. Truth Table for ((A.B)'+(A.B)))'=(A.B)

A |B|AB (A.BY (A.B)+(A.BY ((A.B)+(A.B))
ool o 1 1 0
of1| o 1 1 0
1|0] o 1 1 0
1|1] 1 0 0 1




Section C

26

s= eval(input('Enter a list of integers'))
sum35=0
ctr=0
foriins:
if i%3==0 or i%5==0:

sum35+=i

ctr+=1
print (‘Average is : ', sum35/ctr)

Or

ipaddress=input("Enter an IP address")
parts=ipaddress.split(".")
flag=1
if len(parts)==4:
pass
else:
flag=0

for part in parts:
if part.isnumeric()==False:
flag=0
break
p=int(part)
if p>=0 and p<=255:
pass
else:
flag=0
break
if flag==1:
print("Valid IP Address")
else:
print("Invalid IP Address")

3:
% for creating
list
% +% for
initializing
sum,counter
1 mark for loop
and if statement
% for printing
result

% for input,
% for split,

% for
checking
exact 4 parts
in ip address

1 mark for
checking the
integer
portion
values of ip
address,

% for printing
result




27

N
N
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¥

r:{léﬂfgl P NUM=NUM/10
FY
X=NUM%10
REV=REV*10+X

% for start
stop

% forinput

% for
initializing

% for
conditional
loop

% for
incrementing
and loop
counter

% for printing
output

28 10 1+1+1
50
287

29 | (a)->(i) Phishing (ii) Ransomware (0.5+0.5)

(b) Adware is a type of malware that displays unwanted advertisements on your
computer or device. Adware is commonly activated unknowingly when users are trying to
install legitimate applications that adware is bundled with.

Lagging performance and eventual crashing, Unrequested changes to your browser
homepages,Appearance of new extensions and toolbars,
Web pages not displaying properly,Unwanted software installing etc.

(2)




30

s=int(input("Enter your total annual income™"))
status=input("Are you from agricultural sector y/n")
tax=0
if s<=300000:

tax=0
elif s<=600000:

tax=0.05 *(s-300000)
elif s<=1000000:

tax=300000%*0.5 + 0.1*(s-300000)
elif s<=2000000:

tax= 300000*0.5+ 0.1*400000+ 0.2*(s-1000000)
else:

tax=300000*0.5+ 0.1*400000+ 0.2*1000000+0.3*(s-2000000)
if status=="y":

tax= 0.95*tax
print("total tax=",tax)

1 mark for
inputting
values,

1 mark for

if .. else

% mark for
deducting
5% tax,

% marks for

printing
result
Section D
31 | (a)(i) print(s[:6]) or print(s[:6:]) % x4=2
(i) print(s[:5:2])
(iii)print(s[::-1])
(iv) print(s[5::-1]).lower()
(b) x="Today is my computer exam' % for
forcin x[::2]: initializing
print(c) string, 1 % for
proper loop
32| (a)
(i) import statistics 1+1
1=[1,2,3,1,2,4,5,1,5]
print(stati stics.mode(l))
(i) import string
st="Hello everyone’
print(st.title())
(b) 1+1

(i) t=(2*a) * math.sgrt(l)/g

(i) v2=v1 + ( 3* math.sin(x) * math.cos(x)**2)




Section E

33| a. &&OG&&M&*&* 2
b. sl=input('Enter a string ')
cnt=0
foriinsl: 2
if i.lower()=="a":
cnt +=1
print (cnt)
1
c.. ok
34 a. if ‘India’ not in country: 1+1
country[‘India’]="New Delhi’
b. country.update(c2)
c. del country[‘Bhutan’] 1
d. print ( country.keys()) 1
OR !
a. 20 1
b. [20, 50, 50, 30, 15] 1
¢. None 1
d. ('notebook’, 23)
1

e. {'sample paper': [80], 'stamp': [80]}
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(a) c. Plagiarism.
(b) Hacking
(c) Identity Theft
(d) - under representation of girls
- Nowadays girls can find very few role models in the field of ‘Computer
Science’ whom they can imitate.
OR

(a)1. E- waste can lead to release of toxic and hazardous gasses that has a very
ill effect on our lungs/ nervous system etc
-E-waste is non biodegradable and accumulates in the environment.

2.i) Recycling ii) refurbish and reuse

(b)
No, it is not suggested sharing the PIN number through SMS on the given
contact number because it might be a phishing attempt to steal sensitive
information.
Do not respond to the SMS, verify your account and keep track of your
account.

N R R




Sample Question Paper 2024-2025
Class : XI
Subject: Computer Science(083)
Max Time:3 Hours Maximum Marks:70

General Instructions:

1. This question paper contains five sections, Sections A to E.

2. All questions of a particular section must be attempted in the correct order.
3. SECTION A has 18 Objective Type Questions of 1 mark each.

4. SECTION B has 07 Very Short Answer Type Questions carrying 02 marks each.
5. SECTION C has 05 Short Answer Type Questions carrying 03 marks each.

6. SECTION D has 02 Questions carrying 04 marks each.

7. SECTION E has 03 Questions carrying 05 marks each.

8. All programming questions are to be answered using Python Language only

Section A

1. Which of the following is an invalid identifier in Python?
a. Sum#

b. pie

c. For

d. _school

2. Identify the system software from the software mentioned below :
a. Antivirus

b. Disk defragmenter
c. Ubuntu

d. Spreadsheet

3. Identify the statement with an error in the code given below::
str= “Bharat Udhyam” #statement 1

x= ‘3’ #statement 2
print(str*3) #statement 3
print(str*x) #statement 4

a) statement 1

b) statement 2

c) statement 3

d) statement 4

4, Which of the following is not a valid encoding scheme in computer?
a. ASCl

b. ISCIl

c. UTF-128

d. UTF-8




Which of the following is the correct expansion of XOR gate ?
a. Extra OR gate
b. Exclusive OR gate
c. not of OR gate
d. ONLY OR gate

Which of the following is not a unit of memory in computer system

a. Byte

b. KiloByte
c. Yottabyte
d. Zottabyte

Select the correct output of the code:

tl1= “Learn today Lead tomorrow”

d=tl.partition(‘Lead’)
print(d)
a. 'Learn today ', 'Lead’, ' tomorrow'
b. ['Learn today ', 'Lead’, ' tomorrow']
c. ('Learn today ', 'Lead', ' tomorrow')
d. {'Learn today ', 'Lead’, ' tomorrow'}

Ramesh received an email asking to click a link to complete his registration with
a bank. After clicking the link, he was taken to a site designed to imitate an
official looking website. The web page opened asked to enter his personal and
confidential information.
Identify the type of cyber crime in the above case.

a. Spamming

b. Bullying

c. Phishing

d. Eavesdropping

import mean from
L=[1,2,3,4,5,6,7,8,9,10]
print (mean(L))
Consider the above code and select the appropriate module
a. math
b. statistic
c. mean
d. statistics




10.

Predict the correct output of the code given below:
a=10
b=34
c=2
a-=b
a *=3+c
b +=a*2
b =b//2
print( b )

69.4

34.0

Error

34

oo oo

11.

What will be the output of the following code?
D1={1: “One”,2: “Two”, 3: “C"}

D2={4: “Four”,5: “Five”}

D1.update(D2)

print (max(D1))

a) ‘Five’

b) Error

c) [5: “Five”]

d) 5

12.

ABC corporation has discovered that sensitive customer data has been leaked online.
After a thorough investigation, it was found that a piece of malware had infiltrated
their systems, exploiting a vulnerability in their email software. The malware was able
to exfiltrate data over several months without detection.

Identify which type of Intellectual property right is violated here

What type of malware is most likely responsible for this data breach?

a. Ransomware
b. Spyware
c. Adware
d. Phishing

13.

Farah, a college student and she frequently posts pictures, status updates, and
location check-ins on various social media platforms. One day, she notices that a
stranger has started following her and commenting on her posts. She becomes
concerned about her safety and privacy.

What immediate action can Farah take to protect her digital footprint?

a. Increase her social media activity

b. Change her social media privacy settings to restrict who can see her posts

c. Share more personal information to confuse the stranger

d. Ignore the stranger and continue as usual




14.

Select the option with correct output of the following statement:
sname = ['Nutan’, 'Sonali', 'Sonia','DeV']
if 'Kapil':
print (‘Found')
else:
print ('Not Found')

a. Found

b. Not Found
c. Nutan

d. Error

15.

What is an open source license?

a. A license that allows users to view and modify the source code of the software
b. A license that restricts access to the software source code

c. A license that only allows personal use of the software

d. A license that prohibits commercial use of the software.

16.

When sending an email, which of the following is considered good netiquette?
a. Using all capital letters to emphasize your point
b. Including a clear subject line and polite greeting
c. Ilgnoring email etiquette rules if the recipient is a close friend
d. Sending large attachments without warning the recipient

Q17 and 18 are ASSERTION AND REASONING based questions. Make the correct
choice as

a. Both A and R are True and R is the correct explanation for A.

b. Both A and R are True and R is not the correct explanation for A.

c. Ais True but R is False.

d. Aiis False but R is True.

17.

Assertion(A): Substring and string slices of a string are not the same though both of
them refer to the subparts of the strings

Reason(R) : A substring contains continuous subpart(s) of the string whereas string
slices may or may not contain continuous subpart(s) of a string.

18.

Assertion(A):. The append function does not work with tuples.
Reasoning(R): Tuples support addition using ‘+’ operator and not using append
function.




Section B

19. | Which type of operating system is primarily designed for the following:

a. Managing and controlling the devices such as washing machines and MRI
machines?
b. To support multiple users simultaneously, often found in institutions and
organizations?

OR
Rahul can view and type characters from languages such as Chinese, Arabic, and
Russian on his laptop, while Sakshi cannot. What might be the encoding scheme
used on Rahul’s laptop, and why is it more suitable for multi-language support
compared to the encoding scheme on Sakshi’s laptop?

20. | Consider the following code written by a programming student. The student is a
beginner and has made few errors in the code. You are required to rewrite the
code after correcting it and underline the corrections.
d={7a":1,b":2,'c’:3}
n={}
values = d.values()
keys = list(d.keys[ ])
k=0
foriin values

n(i) = keys[k]
k=+1
print (n)
21. What is the difference between logical and syntax errors in python?

OR
What will be the output of the following code:
Cars={“Ertiga”:7, “i20”:4, “XUV” :6, “Innova”:8}
Cars[“Ertiga”]=8
Cars.pop(“i20”)
print(Cars)
Cars[“Swift”]=5
print(Cars)




22. | Shikha has created her facebook account in which was asked to enter her
basic details. She has not used any advanced privacy setting . She updates her
profile every now and then.

Shikha plans a trip to Himachal Pradesh and uploads her geo located pictures
of the trip.According to her situation answer the following questions:

a. By Sharing her geolocated pictures is Shikha leaving a digital footprint?

What steps can be taken to minimize or manage one's digital footprint?.

b. What are netiquettes? Explain any one netiquette that must be followed by

Shikha on Social media?
OR

With the growth of the Internet, many cases of cyber crimes, frauds, cyber
attacks and cyber bullying are reported. Which legal body in India deals with
appeals regarding cyber -related issues and how?

23. | Draw the logic circuit diagram of the following Boolean expression:
F=(A+B).(A.C’)

OR
Convert the following:
a. (8AC)16= ( ............ )10
b. (10111010.110)5=(vccerverrenenn )8

24,

Observe the following python code and find the possible output(s) from the
possible output(s) from option (a) to (d). Also, write the minimum and maximum
values that can be possibly assigned to variable ‘t’.
import random
display=("Apple", "Orange", "Mango", "Cherry")
s=random.randint(1,3)
t=random.randint(2,4)
foriin range(s,t):
print(display[i], end="@")
a.Mango@Cherry@ b.Mango@Apple@
c.Orange@Mango@Cherry@ d.Orange@Apple@
25. a. Do the following memory conversion

2X2"° GB = KB
b. Prove the following equality using truth table :
((A.B)Y'+(A.B))'=(A.B)




SECTION C

26. Write a program to input 10 integers from the user and print average of all
those integers which are multiples of 3 or 5.
For Example, If the list is:
[9,13,15,18,22,28]
Then the output should be: 14.0
OR
Write a python program that accepts a string containing IP address from user
and then print “Valid IP address” if user inputs a valid IP address otherwise the
program print “Invalid IP address”
NOTE :An IP Address is of the format n1.n2.n3.n4 where all the four numbers
n1,n2,n3,n4 have values ranging from 0 to 255 and each number is separated by
a period (.) character.
For example : 90.160.1.58 is a valid IP address and 265.14.8.9 is an invalid IP
address
27. Draw a flowchart print reverse of a number
28. What will be the output of the Python code given below:
list=[10,21,31,45,50]
s=0
for x in list:
if X%2==0:
S=S+(2*X)
print(x)
elif x%3==0:
S=s+(3*X)
else:
S=S-X
print(s)
29. a. Fill in the blank with the appropriate term

(i) A fake email from a bank asking you to click a link and verify your account
details is an example of

(ii) is a type of malware that locks and encrypts a victim's data,
files, devices or systems, rendering them inaccessible and unusable until the
attacker receives a ransom payment.

b. What is an Adware and what are the issues that you face if your system is
infected with adware?




30

Write a Python code to input Salary of a person from user and ask whether the

person is from agriculture sector or not. The program should calculate the

income tax as per the criteria given below and display income tax. An extra

5% deduction on in total tax is to be given for person with agricultural sector.
Salary Income tax

UPTO 300000 NIL

300001 - 600000 5%

600001-. 1000000 10%

1000001-2000000 20%

Above 2000001 30%

2. Deduct 5% of the total tax if the person is from agriculture sector.

Section D

31.

a. Given a string s="Python is very interesting”
Write a statement to produce the following output:
(i) Python

(ii) pto

(iii) print reverse of the entire string

(iv) print nohtyp

b. Rewrite the following while loop into its equivalent for loop
x="Today is my computer exam”
i=0
while i < len(x):
print(x[i])
i=i+2

¥ x4

32.

a. Write python statements to do the following by using library function and
importing appropriate library module in python:
i. To print mode of the list I=[1,2,3,1,2,4,5,1,5]
ii. To print a string str with the first letter of each word of the string in
uppercase .
b. Write the equivalent python expressions for the following mathematical
expressions
(i) T=2a.vl/g
(i) v2=v1 43 sinx.cos2x

2+2




Section E

33. a. Find the output of the following python code: 2+2+1
(i) str1="Program 2.0"
nl = len(strl)
m=""
foriin range(0, nl):
if (stri[i] >="g' and stri[i] <="p"):
m = m +strl[i].upper()
elif (stri[i].isdigit()):
m=m+"*
else:
m=m+'&'
print(m)
b. WAP to accept a string from the user and count the number of times
character ‘a’ appears in the string irrespective of uppercase or lowercase.
Without using library function count.
c. Find correct output :
x=3
if x>2 or x<5 and x==6:
print("ok")
else:
print("no output")
34, Mishti has to create a program to store the names of countries as keys and their | 2+1+1
capital names as values . Help her to do so by giving a set of commands for the =5

following that she can add to her program. Assume the dictionary name to be
country.
a. toaddacountry ‘India’ with its capital ‘New Delhi’ and add it to the
dictionary if the country is not already entered.
b. To add another dictionary c2 with the similar key:value pairs to the
dictionary country.
c. Toremove the country ‘Bhutan’ from the dictionary.
d. To display names of all countries.

OR
Consider the following commands being run in sequence for the dictionary and
give the output accordingly:

inventory= {‘Pen’:20, ‘Eraser’:50, ‘pencil’: 50, ‘paint brush’:30}

a. print (inventory[‘Pen’])
b. inventory[‘Wax crayons’]=15
print (list(inventory.values()))
c. print (inventory.update({‘notebook’:23})
d. print (inventory.popitem())
e. print (inventory.fromkeys(['sample paper', 'stamp'],(80))




35.

Case Study

Shefali is very comfortable online and she keeps downloading data from
the internet. She has to prepare a documentary on girl child but she
downloaded a 2-minute clip from the internet explaining the gender
discrimination in learning computers in rural areas . Using a video editor,
she writes her name in the author / director of the video clip. She then
emails the modified video clip to her teacher. She noticed that one of her
friends who keeps visiting her house frequently is having all the
presentations created by her without her permission.

1. Identify the cyber crime committed by Shefali in this case from the

following:

(a) Cyber Bullying
(b) Hacking

(c) Plagiarism

(d) Phishing

2. What type of cyber crime she has been a victim of in the above

situation.

3. Her friend told her that someone has created a fake profile of her on
instagram defaming his/her character with objectionable comments and
pictures.

4 Give any two issues that can be incorporated in the video showing
gender and disability issues while teaching computers

N R R

OR
a. It has been evident that with new technological advancement a lot of
new electronic devices with many features are coming. The existing
devices becomes obsolete and result in replacement of many gadgets
and equipment . Due to this a problem of managing the E-waste has
become a great concern
Answer the following questions based on above situation:
1. State any one problem arising due to E-waste.
2. Write any two eco -friendly ways of E-waste disposal.

b. You got the below shown SMS from your bank querying a recent transaction.

“Bank has noticed that your ATM card was recently used at ShoppersZ online
store on June 27,2024 at 2:30 pm for Rs 35,000. If the transaction was not
carried by you, urgently SMS your PIN No. on phone number : 0406271427.”
Answer the following questions based on above situation giving reasons for

your answers:

1. Isit suggested sharing the pin number through SMS on the given contact

no. ? Why or why not?
2. Suggest a suitable step to avoid being a victim in this situation.




